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Suggestion (S) .
Instructions / ¥Ueil

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted Physically in prescribed format of suggestion sheet.

(2) Question wise suggestion to be submitted in the prescribed format of Suggestion Sheet
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key, published herewith on the website. Objections should be sent
referring to the Question, Question No. & options of the Master Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet /response sheet. Objections shall not be
considered, in case, if responses given in the answer sheet /response sheet and submitted
suggestions are differed. For the purpose, the candidate shall attach a copy of his
answersheet/ Response sheet along with his application(s).

(6) Objection for each question shall be made on separate Suggestion sheet. Objection for more
than one question in single Suggestion sheet shall not be considered & treated as cancelled.
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o, 24, L AUS AN BedlBa Al w1 ueini NAAL A Sl q-uda a8 ?

i. »i21 ii. HolY iii. s1ell iv. Sl

(A) $5d i, ii 24 i (B) s8¢ ii, iii 2n iv

(C) $5d i, ii A iv (D) i, ii, iiii 24 iv

ARSI NWAAUL AFSAAL SIRAUR SR ... sealdl.

(A) 213 AR (B) dinell (C) x1&v2d (D) Yo

AU KU ... olled, AU gl gl

(A) u8Iilas (B) 92aue (C) wigiua (D) Qiaa

asles AU AMALIHI .......... A ol 2ulee”’ (uae) weudli d Adanl wlRay
onefl ug sul 8.

(A) A% us el (B) 34€14L (C) u2icsy (D) yral¥a

el ALK WA ERUA ARG 511 ouotd DA WS sa (Al i & ?
i, 519E1El Al AR $cl €3 uR [Adn 2un 2ung

i, cusad AH deal dledlR il w2 ull esidesl um aAdl Ald; A WS MRHL R uA
galsiadl gdl.

iii. sloreidl opt We Y sl alud el 214 cusrad 0008l w2 adl.
(A) $5d i A i (B) $5d i w i (C) $5d i 2 iii (D) i, i ¥ iii

A sl usdl ugdl cudui - 94 5O (@2l azil uaddl sdl ?

i. uasil ii. sl iii. gl

(A) $5d i A i (B) 85 i 2 i
(C) 85 ii A4 i (D) i, ii 2 iii
A RAAHL I ARl 2EUA ... W AHU Yol 1y @l

(A) 2583 [QAsulz (B) A4
(C) Asdpa oflog (D) §HIR3\d

IRl HI2L ML UR WAL Sl Adcdl-l Haasi Aou Raqu 2uReli-u gran add 42l usa oue

AL Bl .......... ud gl .......... L Au vadl.
(A) AldUS, ALY (B) AU, Aldals
(C) udleRl, Arz 42l (D) Ar2 421, udlsii
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Which of the following are included in the sixteen Mahajanapadas as mentioned in the Buddhist
and Jain literature?

i. Ang ii. Magadh iii. Kashi iv. Kaushal
(A) Only i, ii and iii (B) Only ii, iii and iv
(C) Only i, ii and iv (D) i, ii, iiii and iv

The administrator of exchequer in Mauryan time administration was known as

(A) Amatya Sannidhata (8 Toshi

(C) Akshapatal (D) Sutra

Emperor Ashoka was a follower of Buddhist sect.

(A) Mahasanghik _ (C) Pashupat (D) Pauvtav

In the epigraphs of Vakataka state, is mentioned as “Aadiraj of Guptas” (Aadharaj)
and the introduction of Gupta dynasty started with that king.

(A) Chandragupta First (B) Rudradama

_ (D) Pushyamitra

Which of the following statements regarding the judicial work during Gupta Kingdom rule are
correct ?

i. Special attention was given on fine rather than on compensation in criminal offence.

ii. Brahmin was not awarded death penalty irrespective of serious offence; the heaviest
punishment for him was deportation.

iii. For criminal offence, Khastriya was penalised two times more and Brahmin was penalised
four times more than Sudra.

(A) Only i and ii (B) Only i and iii (C) Only ii and iii (D) i, iii and iii

Which of the following foreign powers were existing in India after the fall of Maurya
Kingdom ?
i. Greeks ii. Shakas iii. Kushans

(A) Only i and ii (B) Only i and iii (C) Only ii and iii (D) i, iii and i

The dominion of Gupta emperors in Gujarat continued till the time of

(A) Skandagupta Vikramaditya (B) Samudragupta

(C) Chandragupta Second (D) Kumaragupta

After the fall of Maitrakas of Vallabhi, who ruled most part of Gujarat, due to the attack of the
Arabs of Sindh, the power of of North and of South came into existence in Gujarat.
(A) Satavahanas, Chalukya (B) Chalukya, Satavahanas

— (D) Rashtrakutas, Pratiharas

[ASP-1-M] rrro. |EN
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vaedl (e wnome unHl “eRaigl AL - -uH 20vdL IR WA 2uda WlRn Hg™i
.......... Al [reR 2a3unl [As A wa 6.

i. glas i, Ao1R
(A) 5 i (B) $5d i
(C) i 21 ii bid (D) i 244 ii U4 518 ]

.......... 2 vjouy, [B1812 A 2R [Gu51R 1ele 53] edl.
(A) Addll (B) aix- [R2ou (C) si-ailaa (D) 35

3a81GAA A2 WA suL AU vLa sul sal ?

i AR ii. ulnay iii. WoYR

(A) $5d i A i (B) $5d i u i (C) $5d i 2 i (D) i, i ¥4 iii

MRaAH Bil2a S22 S-flan Su-dl g1a1 Al naH wadnes wikYl 2[Qus Al .......... I B Q23
A3 sAHL 2udl 8dl.

(A) dauar, Yousd (B) s@stil, 31433 S16iR

(C) yru, gl (D) 4S5, M1

1857 -l 51l e(Maur yrnani 2ddl gt susid DA WS s [ i ® ?

i, ASLEATL HSIRN BIZRAA ALASIHULS 6UY, FUASALS, WRLAL HAHALA (B 244 agieu- [Rsiads
A vidAnad uede 53| oAdui AT WA Ue s - adl gdl.

i, 42l (532 A% diei) 1 sL51R YRyHA [Agis sul.
iii. 2Av-grR50 [Qaiui o HiEisl 2usiadl S [Agis vl
(A) $5d i 2 i (B) $5d i w i (C) 85 ii A iii (D) i, ii &AL iii

Al wiaaRia A2 U4 san aosaiHl [Bart adls A 2udl ¢ ?

i, asigl i, uarisia iii. eI

(A) $5d i A i (B) $5d i w i (C) $5d i 2 iii (D) i, i ¥ iii
A3l A3l

i. 4l s s [Ban a. AN AHUIEH AY

ii. Alua uldaa dla b. sucidusz dlas

iii. 355 ApYsAL AN C. URAUR HEBIR el

iv. AoUe S14el d. [z an [ie
(A)i-d,ii-ciii-b,iv-a (B)i-d,ii-c,iii-a,iv-b
(C)i-c,ii-d,iii-b,iv-a (D)i-c,ii-d,iii-aiv-b
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The development of spire format of style is seen in the ancient temple near a toran
known as “Harishchandra ni Chori” at Shamlaji town in Aarvalli district.

i. Dravidian ii. Nagara
() only i ® onlyii
(C) Both i and ii (D) Neither i nor ii

removed the dual government in Bengal, Bihar and Orissa.

(A) Wellesley (B) Warren Hastings

(C) Cornwallis (D) Curzon

Which of the following states were annexed by Dalhousie ?

i. Satara ii. Sambalpur iii. Nagpur

(A) Only i and ii (B) Only i and iii (C) Only ii and iii (D) i, ii and i

The first telegraph services on experimental basis in India was started by British East India
Company between and

(A) Peshaviar, Mumbai (8) Caleuta, Diamond Harbour

(C) Pune, Thane (D) Mumbai, Madras

Which of the following statements are correct regarding the activities during the 1857 revolution
in Gujarat ?

i. The stepbrother of Maharaja of Vadodara, Khanderao, Bapu Gaekwad, Maganlal Vania
of Patan and Nihalchandra Zaveri of Vadodara had planned to depose Khanderao end the
English rule in Gujarat.

ii. Thakore Surajmal of Mantodi (under Idar State Control) revolted.

iii. Revolt took place in the area of Okha-Dwarka under the leadership of Jodha Manek.

(A) Only i and ii (B) Only i and iii (C) Only ii and iii (D) i, ii and i

In which of the following states had T. Madhava Rao tendered his services as Dewan ?

i. Baroda ii. Travancore iii. Indore
(A) Only i and ii (B) Only i and iii ©)onlyiiandii (S

Match the columns.

i. The Depressed Class Mission a. Raja Ram Mohan Roy
ii. Social Services League b. Bal Gangadhar Tilak
iii. Deccan Education Society c¢. Narayan Malhar Joshi
iv. Sambad Kaumudi d. Vitthal Ramji Shinde
(A)i-d,ii-c,iii-b,iv-a (B)i-d,ii-ciii-aiv-b
(C)i-c,ii-d,iii-b,iv-a (D)i-c,ii-d,iii-a,iv-b

[ASP-1-M] rrro. |E
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016. 1872 -u “4 Al2a H3% 152" ouoid DA WS su [Qsu- 2l ¢ ?
i, 20 staerdll 16 a2 audl i @l v saumi 2udl.
ii. g Ul neus 9yl a5 daiHi »udl.

iii. ([Qual Yo 2 Hidsuldu @A Wit AvAHE 2ul.

(A) $5d i 2 (B) $5d i A i
(C) 85 ii A4 i (D) i, ii 2 i
017. GURAHL 213HA g1 A3 sAUML 2ud el Judadl nawd [Bal2a waui sAdl .......... 2 22, 20 i
A4 2 uAL 1792 Hi ... UidHi erma 530,
(A) @ls [Rus, sidumn (B) Rlaun (e €23, B
(C) AR ALY AR, UL (D) &l 3[Ra1, oioum
018. .eveeeeee. Hi vigdl G121 (AN AH sAHL 20dQ YN0 “g51 AN’ AL UH Aelldl €.
(A) Breir (B) vidum
(C) Ut (D) o1l (RuHIR)

019. gl Aigian susid 2A3si A3l

i, vudl [agls a. MRV
ii. vlls 2tigian b. el [Bie12 (e9121 oyR)
iii. Y31 [agls c. 2R
iv. A ¥ da d. sioun
(A)i-d,ii-c,iii-b,iv-a (B)i-d,ii-c,iii-aiv-b
(C)i-c, ii-d,iii-b,iv-a (D)i-c,ii-d,iii-a iv-b
020. “@adl {27 und yRaswi .......... 2 A sl dlogei 2udvil gdl.
(A) »1[Ag gl (B) dlel AosUdA”
(C) AsAvR URE (D) YeuUNAg 61l
021. RAWAAU VAUEA .......... 2 4y SRU” 21 “sinn [A4” - ol ARV GIR1LUAR $UL .
(A) iz uwd (B) disti=u dlas
(C) il Gixiz (D) il
022. slARGMi Al ......... AL 1A ¢S ALl Ul 2usm a3 sul.
(A) Alqeus ciiAe (B) @aniid silRee:
(C) MUY 9i21e (D) AHS SIS
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016. Which of the following statements are correct regarding “The Native Marriage Act” of 1872 ?
i. The marriage of girls under the age of 16 was prohibited.
ii. The system of polygamy was considered as crime.
iii. Widow marriage and intercaste marriage were considered valid.
(A) Only i and ii (B) Only i and iii

(C) Only ii and i (D) i, iii and iii

017. The Ryotwari system initiated in India by Todarmal was given place in British rule by

and he introduced this system in 1792 in province.
(A) Lord Rippon, Bengal (B) William Wilson Hunter, Bihar
(C) sir Thomas Munro, Madras (D) Lord Canning, Bengal
018. The movement against the British by the farmers in is famous as Kuka Movement.
(A) Bihar (B) Bengal

_ (D) Burma (Myanmar)

019. Match the column regarding Tribal agitations.

i. Khasi uprising a. Jharkhand
ii. Khond agitation b. South Bihar (Chhota Nagpur)
iii. Munda uprising c. Orissa
iv. Santhal freedom struggle d. Bengal
(A)i-d,ii-ciii-b,iv-a (B)i-d,ii-c,iii-a,iv-b
(C)i-c,ii-d,iii-b,iv-a (D)i-c,ii-d,iii-a,iv-b
020. _ had graphed a plan of armed revolution in the book named “Bhavani Mandir”.
_ (B) Lala Lajpat Rai
(C) Chandrashekhar Azad (D) Subhas Chandra Bose
021. The thought of “Swashashan” was propoganded by through two newspapers, “New
India” and “Commonweal”.
(A) Gopal Krishna Gokhale (B) Lokmanya Tilak
(C) Annie Besant (D) Gandhiji
022. Gandhiji rented ahouse of _ in Kochrab and started ashram therein.
(A) Chinubhai Baronet _
(C) Ranchhodlal Chhotalal (D) Premabhai Hemabhai

[ASP-1 - M] [PT.O. I
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N

ouRlell AU AEH ... 2 5 dwd ARlA Dl BHE A2 Ul d-l WHM AL AR EHA,

ARA A, Adl, 812 A3 ot AR 2uudl ASua U sul F-udl asdd arellug] dezaud
i 23,

(A) Aifle (B) sfuend yr2ll (C) ARER U4 (D) ug1gasusd
l5ad AcuAs HaH AUAEL 43 [Q-ion cud-l vigoll sami udl 244 oflog acuadl adls
............. Al wigoll scumi 2udl.

(A) AUSRAUA 183 (B) UREIR u2d (C) 2Adsisz us11y (D) [Azacus uea

Al [Qarzien-d uan dss agsiz syeldl usaui-u siani woll Fui nau uyu (0s2) ug

............... Sdl.

(A) s yeell (B) Ysuioid Hedl (C) AcMeUs e (D) GegarR1u 612
1130) ugl-u stedl-u uWlda sla .......... CANARAHYI”, “EIRAH%E 2 O esAL-HYEL AU
LS WAL ¢,

(A) &d-g (B) usdpd (C) 4ls (D) $¢sL
ARRUAL .......... Aefl-u HlEAni 2is MAMI 24, 2p1dl Acl- (st 2.

(A) W2I1R (B) «las

(C) (A) &1 (B) i1 (D) (A) 211 (B) U4l 4185 -l

BRALSL A SAHIAH ... s WA A 1ol 69,

(A) Rardn (B) dtad- (C) A (D) 21ud-
USIUM §d “51m838 UG H ... NEEERI)

(A) 164 A€l Aadlaz
(B) M5
(C) AHAUBEI v @53 534 9jor1d U+l Aeld

(D) HSIMHIR AL MR

Qe Y SR MA, dl H Yo usIr, did us A5l M), [l viy A0R” - si-l Wlsai € ?

(A) 2l A1 (B) Yre1 (C) svll2 (D) 1
AR sladliar R AR eugela-d uldw 2dl cugela-dl uld .......... vid UL 2uddl 9.
(A) Man R (B) 922 (C) s154 (D) [Aza-ddayu
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M.

In reference to Bardoli Satyagraha, appointed a committee of which he himself became
the president and published a report giving exact picture of oppression, malpractices, seizures,
auctions, etc of government by which the reasonableness of the fight was neutrally proven.

(A) Gandhiji (B) Kanhaiyalal Munshi

(C) Sardar Patel (D) Mahadevbhai

Vinoba Bhave was chosen as the first satyagrahi of individual Satyagraha and was
chosen as the second satyagrahi.

(A) Jawahartal Nehru (8) Sardar Pate

(C) Ravishankar Maharaj (D) Vitthalbhai Patel

The first meeting of assembly of Saurashtra met in Hall of Rajkot Jubili Garden in which
was the first president (speaker).

(A) Kanhaiyalal Munshi _

(C) Vallabhbhai Patel (D) Uchharangrai Dhebar

The 11th century Pandit poet of Kashmir, is famous for “Ramayanmanjari”,
“Bharatmanjari” and “Bruhadktha-manjari”.

(A) Kshemendra: (B) Padmagupta (C) Shriharsh (D) Kalhan

A glorious and unique style developed in the style of temples in Orissa.
_ (B) Dravida
(C) Both (A) and (B) (D) Neither (A) nor (B)

type of temples are seen at Asoda and Delmal.
(A) Tritayatana _ (C) Saptayatana (D) Astayatana

There is a description of in Padmanabha authored ‘Kanhadade Prabandha’.
(A) The administration of 16th century.
(B) Krishna worship

(D) The incidents of Mahabharata

“Pahan puje hari mile, tuo mei puju pahar, tate yaha chhakki bhali, pishayo khay sansar” —
whose lines are these ?

(A) Swami Ramananda (B) Surdasa
- (D) Raidasa

A statue of Bahubali like the statue of Gommateshwara Bahubali of Shravanabelagola is also at

(A) Bhubaneswar (B) Guntur

(C) Karkala (D) Thiruvananthapuram

[ASP-1-M] SreN © |
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032. DA~ U4 sun Qe i ?
i ol Rasarg Y 20id ulBd dira-d aglas Adiui 84 9.
ii. Al Riasani curdly elldaf&su-Al udun 84l 6.

iii. ws1dl Rt [Asiumi yaa Rasari wa s 8.

(A) $5d i 21 i (B) $5d i w i (C) $5d i 2 i (D) i, i ¥4 iii
033. FUYR-U HERLY FARE Fo-A WA .......... A A0Ldl “[utaia ure” UHAL A Qv S,
(A) Aeadlaz (B) cnseL (C) »uyde (D) euildan

034. “WR LuuoL A 4 g’ - s sladl dlsa2i e ?
(A) HlRisusd (B) suR1™, (C) wun (D) aca™ Hausi

035. weastad aeudl Alni -1 Ul s B sl 2ucifdanA- ddl 2u st lsazi © ?

)00

“UoL $H, WHR MY AL HIJ

(A) BUMHELA (B) 2i-igHrt (C) uHuER (D) wudaylR
036. 519} S1UUI .......... Yo gl 8,
(A) Y el (B) uondi-l agrnauil
(C) arid B ael (D) tulis (ARt agin
037. “gareudd w3 .......... 8.
(A) w17 (B) H81514 (C) disola (D) varalast
038. “Olld HIR HeldRL, $ld widl 9121, ud Ha Hél BUR, Auil 3312 .......... 4 Gels@ .
(A) sy (B) 61wl (C) @d2fla (D) ¢3¢l cansy
039. evrernen 24 1906 Hi “[AHsn Yasiaul” 4l ualt a3 s34 6l anui 2022 150 Yresiaul 2 edi.
(A) [a-tion eud (B) »de Haell (C) HidleusS 213l (D) yneis: yeusll

040. 1885 - 1920 g3 L, sl Tore(R &AL f2l-u U s1Ql Adwa wel s34 6 ?

i SEUeUsS QinW® i wyd dad was il eilze: 4l [Qeus:

(A) $5d i A i (B) $5d i uA i (C) $5d i 2 iii (D) i, i ¥4 iii
041 v ABUHL s BURid seldd s1RvILg URL ¢d BHE G2 511 dnusi-Aesid e .

(A) GHUA2IR (B) asiell (C) dlwdl (D) 529

m [ASP-1 - M] [Contd.
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032.

033.

034.

035.

036.

037.

038.

0309.

040.

041.

Which of the following statements are correct ?

i. The root source of Rajasthani painting lies in micropainting style of Western India.

ii. The tradition of Indian wallpainting lies in Rajasthani painting.

iii. There is also a contribution of Mughal painting in the development of Pahari painting.

(A) Only i and i (B) Only i and iii ©)onlyiiandii (SN

Jai Singh, the Maharaja of Jaipur, got the book named “Siddhanta Samarat” about
written by Jagganath.

(A) State administration (B) grammar

(©) Ayurveda (D) Astrology
“Mare shyam rang samipe na jaavu” — are the lines of which poet ?

(A) Mirabai (B) Dayaram (C) Shamal (D) Vallabh Mewado

“Ab hum amar bhaye, na marenge” — the lines motivating self-confidence are of which of the
following Jain poets of medieval Gujarati literature ?

(A) Rusabhdas _ (C) Samaysunder (D) Jaywantsuri

is main in Fagu poem.
(A) Description of war (B) Success stories of kings

— (D) Description of religious rituals

“Kunvarbai nu mameru” is :
_ (B) an epic (C) a folk song (D) a poetry novel

“Bole mor mahaturu, Hoye khaati chhaas, pade megh mahi upare, rakho ruda aash” - is an
example of

(A) Chhappa (B) Chabkho

(C) Marriage song (Lagnageet) _

started “Mitramandal Pustakalaya” activity in 1906 and within two years established
around 150 libraries.

(A) Vinoba Bhave (B) Zhaverchand Meghani

_ (D) Mulshankar Mulani

Who among the following gave a noteworthy contribution in the field of old Gujarati theatre ?
i. Dahyabhai Dholshaji ii. Amrut Keshav Naik iii. Barrister Nrusinh Vibhakar

(A) Only i and ii (B) Only i and iii (C) Only ii and iii (D) i, ii and i

In addition to an Art school, there was also “Kalavant Karkhanu” — department of amusement
in state, wherein singers and musicians of high ardh had a place.

(A) Bhavnagar (B) Vadodara (C) Limbdi (D) Kutch

[ASP-1-M] rrro. K
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042.

043.

044.

045.

046.

047.

vl o512 24 stuldas ... 2 yallldg udwRisau da “Ang-u dvllal” e Ye s
@dd Aotdl Yrll2Air 2iva Q6 AR sul .

(A) A WS (B) [druus [3agl (C) UHIESHIR (D) vildleix uRHIR
A3 51 AL

sl sld

a. Hgeus vavll i BRUlY

b. u~icld ued ii. Hler ®idl Himdl

c. SR v2dls:
d. gyl Wl
(A) a - i, b - i, c - i, d - iv
(C)a-ii, b -iii,c-i,d-iv

jii. B2 ol Ylai ¢ onell gl
iv. Ul AlRA

(B) a-iii, b -ii,c-iv,d - i
(D) a - ii, b - iii, c - iv, d - i

ypndHi 2dlyars dls uyeia-l vuu uislas avecisin quadl WAl eidl-n e Assi Al

a. Hual

b. "2

C. dLRLASLEL Gl

d. Ala-t $:4

(A) a - iii, b - iv, c - i, d - i
(C)a-iv, b -iii,c-i,d-ii

i, A sl

ii. gug

iii. widla

iv. 613

(B) a-iii,b-iv,c-ii, d-i
(D) a-iv, b-iii,c-ii,d-i

sl U’ AlsAYEL otd DA WS s (Al i 6 ?

i U AYELAL LS A3 uall ussalrl suoi-L 51281 2nelldi €.

Yy

i, 20 AP 52ALS AlSIHL aqA g2 BuR olld oud [Gew Hida-il 8.

i, 20 AHEIAL U2L AHELY, AWAHGL, UL 6UIRA2 HAUA 8.

(A) $5d i 21 i (B) $5d i u i

(C) $5d i 2 iii (D) i, i ¥4 iii

Q1L Ul s el aAdl Yoy WRLL iU Al % dl UHAL ueaR Gl SRAUME 2d d Yy

waARAl ... PRETORSR

(A) & (B) wied)

qao-l 94 G Hul ......... viid Gorauy ¢9.
(A) 3id (B) M3

(C) ¥Hn (D) s~

(C) adas (D) Grr3L

[ASP-1 - M]
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042. Famous painter and art teacher

had prepared innumerous pictures of beautiful and

lively looking birds for the book, “Saurashtra na Pankhio” by Dharmendrasinji, an ornithologist.

(C) Pramodkumar

043. Match the column :
Author
a. Manubhai Pancholi
b. Pannalal Patel
c. Ishwar Petlikar
d. Chunilal Madiya

(C) a-ii, b-iii, c-i,d - iv

(B) Vinayak Trivedi
(D) Khodias Parmar

Work

i. Runanubandh

ii. Min Maati na Manvi

iii. Zher tuo pidha che jani jani
iv. Waj no Varas

(B) a-iii,b-ii,c-iv,d-i

(D) a-ii, b-iii,c-iv,d-i

044. Matchthe columnin referenece to the “Parsi dialect” having vocabulary of Devipujak community

in Gujarat.

a. Madhvo

b. Maadh

c. Ganeshkaka besadva
d. Chovan karvu

(A) a-iii, b-iv,c-i,d-ii

i. to steal
ii. to eat
iii. police
iv. liquor
(B) a-iii,b-iv,c-ii,d-i
(D) a-iv, b-iii,c-ii, d-i

045. Which of the following statements regarding “Garudi” community of Gujarat are correct ?

i. The people of this community are famous for their skills in catching eagle.

ii. Some people of this community have the profession of seeking alms by playing songs on

“ravanhattha”.

iii. “Naagmanga”, a sub community of this community is believed to be the “barot” of snakes.

(A) Only i and ii

(B) Only i and iii
(D) i, ii and iii

046. The stone in the name of the warrior erected at the very place where he has died due to numerous

wounds is known as

of the deceased.

(A) Thes (B) Khambhi

(C) Surdhan (D) Kanthari

047. The festival fair of “Meghraja ni Chhadi” is celebrated at

(A) Dang (B) Bharuch

(C) Valsad (D) Uttarsanda

[ASP-1-M] rrro. k&1
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049.

050.

051.

052.

053.

054.

.......... 2 HiZluiell ey dlsaier 8 Fui Wl U0 goumi AR SRl wdl A usaaiHi 2ud €9 x4 A
g5 LA wanll FH QRusami 2ud €.

(A) $i3 (B) aulRel (C) dwsy, (D) uAN

Q- U4 s 2200 vall2al a2 - e aiflal - (Bird watching) -t 220U a3 oaefldi € ?
i, 0 ARAAR ii. aln iii. asan

(A) $5d i A i (B) $5d i w i (C) $5d i 2 iii (D) i, i ¥4 i
“UUAL HSA” - “STd uis A7 cuord DA WA sui (el i & ?

i, d Higdl vid 2udal 9.

ii. d S-3i-y2idluq Adlui i 9,

iii. AR HAH 20 H8 AL suoll gdi.

(A) $5d i 2 (B) $5d. i A4 iii (C) $5d ii 21 i (D) i, ii &AL i

520, LPG dau wiidR Gur-l Aefldld A1y gdidr@ (Transfer) .......... A Azdil UHa gl
GLALHRL $AHL 20, 8.

(A) Al T2 (B) a. ofl. 28l (C) ig-ldsi-il (D) -y [d

ol [As1 yasis (Gender Development Index) il 2wt 121 UL su1 YA gt Ad Guaiomi
Aatl «4l ?

(A) #3121 wou R ay (B) Hels §a AU 2uas
(C) Hra [asa yasis (D) $4 % €2 (Gross Fertility Rate)

org-uRuuelly alefl yasis (Multi-dimensional Poverty Index)-l dRldl sl avid dl2-u WSl sul
QA5 uRL GUULoL scUMi 20d €9 ?

(A) ool Guasta (B) 24151l Guaoydl

(C) Hid 4y € (D) G2 [zl Guastal

19911 2Alaif3is AAleni, curani vill &l gfast .......... ydl AlMa seumi 2udl.
i. 219U Gauled e

ii. AQ 249 virllor A4 A28 214 qeme Gualol

i A8 AL FAL YLeHS Al

iv. s L4l [5x4 Bewg andizil [Rulal.

(A) s5d i (B) $5d i A i
(C) 5 i, ii 2 i (D) i, ii, iii ¥A iv

[ASP-1 - M] [Contd.
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048.

049.

050.

051.

052.

053.

054.

is a folk musical instrument made of clay in which three holes are made in a ball of clay
and is baked and it is played like a reed-pipe by blowing air in it.

(A) Dobru _

(C) Tadpu (D) Ramzol

Which of the following locations are the locations famous for bird-watching ?

i. Nal Sarovar ii. Thol iii. Vadla

(A) Only iand ii (B) Only i and iii

(C) Only ii and i (D) i, ii and i

Which of the following statements regarding “Aina Mahal” - “Hall of Mirrors” are correct ?

i. It is situated at Mandvi

ii. It is made in Indo-European style

iii. Ramsinh Malam was the craftsman of this palace.

(A) Only i and ii (B) Only i and iii

(C) Only ii and iii (D) i, iii and iii

The direct transfer of subsidies on kerosene, LPG and fertilizer was recommended by a panel
headed by

(A) C. Rangarajan (B) Y. V. Reddy

(C) Nandan Nilekani (D) Narayana Murthy

In calculating Gender Development Index which of the following indicators is not used directly?

(A) Mean year of schooling (B) Gross National Income per Capita

(C) Human Development Index _

While calculating Multi-dimensional Poverty Index which one of the following indicators is also
used?

(A) Access to Electricity (B) Access to Telephone

(C) Maternal Mortality Rate (D) Access to Higher Education

In the Industrial Policy of 1991, the role of public sector in India is limited to
i. Essential manufactured goods

ii. Exploration and exploitation of oil and mineral resources

iii. Strategic areas like Defence equipment

iv. Technology development and building of manufacturing capabilities

(A) Only i (B) i and ii only

(C) i, iii and iii only (D) i, ii, iii and v

[ASP-1-M] rro. K3
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055.

056.

057.

058.

059.

060.

061.

D2l W4 s A (A2l sl Halel 1009 Yol arami >udl & ?

(A) gR¥UR, ugidlum (B) M, gall

(C) (A) 211 (B) i (D) (A) 211 (B) U4l 418 <l

AglaAd g2 AAld YA .......... A wge

i. Halgd v (Monetized Deficit) ii. - sla vy (Fiscal Deficit)

iii. W8y vuy (Revenue Deficit) iv. wal®s vus (Primary Deficit)

(A) s5d i (B) $5d ii 21 i (C) s5d i (D) $5d i A iv

20111 ardl o1l U1 GURAUL 2ANidR Alell HIE S0 59 © ?

(A) [z (B) 4ot
(C) AU (D) A[asRia we s 21dd
ABARUL UR1R YOIRL MR M ... Sqell a3 524 8.

(A) [Beuiol culsail w2 A5 Yasmdl wd sau-it

(B) @uRdrl ey 244 A8 [Qairui flowed 8l Guasy sai-l

(C) &Rl W2 el a Yrestauidl Guastdl wid sau-il

(D) 21249 @Rl 2Aldaat-l yld s 2 wfler [Qciiui usd DAty Yy wsanl

A1 UL sul vl HS Yl vz ) ?
(A) Wl sl Wl (B) A512) 2at ur cuy-ll ysasl

(C) U1 [Aeud-L M= s1451% W2l WA (D) BuRisd U4 418 -l

Aueul viewpuadl 2ud A .......... .

(A) dalAs o33ad

(B) vitnellu gaunigisl

(C) swRieusl 2A[EsR [Agin (Executive Prerogative)
(D) BuRlisd U4 418 -l8.

21 U4 s 2edami vl AU sau- 04 8 ?

i. 253 UM JRlTR (Cash Reserve Ratio)

ii. qad ui2 (Reverse Repo Rate)

iii. A4u(As naldd dRiR (Statutory Liquidity Ratio)

iv. veal o121 51100l (Open Market Operations)

(A) $5d i A i (B) 5 ii 21 i (C) 5 i, ii 2 i (D) i, ii, iii 21 iv

[ASP-1 - M] [Contd.


sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight


055.

056.

057.

058.

059.

060.

061.

M.

In which of the following sectors the limit of Foreign Investment has been raised to 100%?

(A) Telecommunication, Petroleum

(B) Tourism, Medicine

(D) Neither (A) nor (B)

The Balanced Budgeting means a Budget with Zero

i. Monetized Deficit
iii. Revenue Deficit

(A) ionly

ii. Fiscal Deficit
iv. Primary Deficit

(B) ii and iii only (C) iii only

Which is the biggest reason for migration in India as per Census 2011?

(A) Education
(C) Employment

(D) iand iv only

(D) Under-developed regional economy

Recently, the government launched Sugamya Bharat Abhiyan :

(B) To access digital banking in rural and urban India

(C) For achieving accessibility of Braille books to visually impaired

(D) To provide free toilets in rural areas to supplement Swachh Bharat Abhiyan

Which of the following is not a revenue expenditure?

(B) Interest payment on government debt

(C) Expenditure incurred for normal functioning of government department

(D) None of the above

Presentation of Budget in Parliament is
(A) Statutory requirement

(C) Executive prerogative

(D) None of the above

Which of the following are instruments of controlling liquidity in economy?

i. Cash Reserve Ratio

ii. Reverse Repo Rate

iii. Statutory Liquidity Ratio

iv. Open Market Operations

(A) i and ii only

(B) ii and iii only (©) i, ii and iii only

[ASP-1 - M]

[PT.O.
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062.

063.

064.

065.

066.

067.

A4l A8 Aol 2019 euoid - WAL s [Aanl i & ?
i. 20 Aol AR Al QL Ao 9L HIRRIHE HRUYU 5l HE 6.
ii. (a1 Honau 2 srlsuql Alsa vie-fl 9.

i, 20 Aol 2 W@ 214 alRs s saust 14 9l 18 au-l quagadl isdai-l uda Ayl
UleAlS L AU ALAL €9,

(A) $5d i 211 i (B) $5d ii A i

(C) $5di (D) Bulsd WA 518 dl.

A2l W 5y / s [Qan / [Qsunl ) / i 6 ?

(A) SEBI 2215 215u3-20ui 22+l i+ [Reimte 53 8.

(B) s12as W2 s[Aaq (FMC) S1H4E AsuA-apui Aosazdaii-i Awrd w52 8.

(C) (A) 211 (B) b

(D) (A) 211 (B) U4l 415 -l

RBI - tugl sl au (External Commercial Borrowings) (ECB)-L HIRRUI {61, dHIH A4S

ARERI Hiddl Wi, 1R wAdl sl 3w wmed s Squil x4 .......... Al @y
132 URusadl 148 W2 ECBs «u Guis-l €92 1ol €9,

(A) 5 ad (B) 10 ay
(C) 15 ad (D) BuRsd U4 518 1l

A2l WA 5y / s (a7 [Qaunl weari=ll Slad (s diom suotd 2y / i 19 ?

i. d W=l 2015 i A3 suHi >udl.

ii. d slaed (A5 24 Gailol A8 Rsdl Houdd glL ANAHT YsUnL 2093l

iii. d 300 {lelun yauztia aredld ydl wsel.

iv. d 81200 X 2 X1 - [Qendlz u 2un S-ild s2ql.

(A) i, i, iii 24 iv (B) $5d i wAA i (C) s5d i (D) 85 iii 21 iv

D2 W 56 Alogeil 9o U1 1L 53 AU 2452-2013 860 A3 UL 2udl ?

(A) culast g 53 2ol (B) L 2yl Al
(C) Siclgd i HIIR AL%-l (D) BuRisd U4l 41 1l

Sld vielpua 2019-20 AdAR, HIRAHL i vl Wi Al [Agall A sean uldad-dl
uadfl vl 2udl € ?

(A) 90% (B) 95% (C) 99% (D) 100%

[ASP-1 - M] [Contd.
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062.

063.

064.

065.

066.

067.

Which of the following statements are correct regarding Saraswati Sadhana Yojana 2019?
i. This scheme is for Scheduled Class category and studying in class 9.
ii. Ministry of Education is the nodal agency for the programme

iii. This scheme aims to promote enrollment of girls belonging to the age group of 14 to 18 years
at secondary and senior secondary level

(A) i and iii only (B) ii and iii only

(©)ionly (D) None of the above

Which of the following statements is/are correct?

(B) Forward Markets Commission (FMC) regulates the trading of Agricultural Commaodities in
Commodity exchanges.

(C) Both (A) and (B)
(D) Neither (A) nor (B)
According to RBI External Commercial Borrowing norms, all the eligible borrowers are allowed

to raise ECBs for working capital purposes and general corporate purposes from recognized
lenders with a minimum average maturity period of

(85 years (8 10years

(C) 15 years (D) None of the above

Which of the following statement is/are INCORRECT about Pradhan Mantri Kaushal Vikas
Yojana?

i. It was launched in March 2015

ii. It will be implemented by the ministry of skill development and entrepreneurship.
iii. It will provide training to 300 million youth.

iv. It will focus on the class X and class XI1 students

(A) i, i, iii and iv (B) i and ii only

(Cyiii only (D) iii and iv only

Which of the following schemes has been launched by Government of Gujarat under the Food
Security Act — 2013?

(A) Balika Matru Food scheme —

(C) ‘Antyodaya Anna Bhandar’ Scheme (D) None of the above

As per Union Budget 2019-20, how much percentage of Foreign Direct Investment is to be
permitted for Insurance Intermediaries in India?

(A) 90% (B) 95%

(C) 99% (D) 100%

[ASP-1-M] rro. K
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068.

069.

070.

071.

072.

53 wiAflaL H{auau (Ministry of Food Processing Industries) (MOFPI) i) [8¢dl &3 wiziaflor &-tui
HA A5 2 244 WAL HR2 25 AloriAl HRAA 8. AaRAdHl 56 A%=fl MOFPI L ulog-uii-
uHdlse Wl Alsa vl 89 ?

(A) A HAL S+323lo siuiaq dlHles

(B) rud A0 54 s 513 6lS

(C) s [RaumsHl 53, dorR1d

(D) £ SIURA 215 S=Sluy, y2r31d W Ris $A3)

YA AR GIRL RAEAY (Startup) Ax2Ad USA (initiative) Hedld 2UUHL 2nadl A1 tuold
A0 WA s (s 2wl o ?

i. tauads (Innovator) »is asl W2 Wldw 31 10,000/- [Rals ¢ey
ii. woleels Al w2 3 d Azen s 3. 5 ar Yl usia.

iii. udd (Innovative) UL 12 %32 S1UL HIG AL 217 214 A Busl-L WA U2 31 10 QU
Y-l A,

(A) $5d i i (B) 5. ii A i (C) 55d i A i (D) i, ii 2 i

oz quarlu dleg-u ouotd A W4 sy / sui (@ / [t vilg /viei © ?

i d aionouou-l 2ulds siael {2 Yhord Hid i au Geidli-u [Asta 12 uRadA ulAlibid 53 9.
ii. 6ll2 uloruA 116G Al (Mahalanobis Plan) d<ls Gu-id uuami »uey .

iii. d-ll @guis 4.5 251 Alls AU 2uas Q[FEAL .

(A) $5d i i (B) 54 ii A i

(C) 85 i (D) BuRisd U4l 51 ]

A2l WA 5y / sul [t / [Qanl 02 /i e ?

i, 2as A0 24 siui2 A1 2 Uaa 5 9.

ii. R A2 2 1aflA A2 2 ua 52 69,

iii. Al Yes v AUy 52 A uRAA 5 .

iv. GST 24 Mgl 52 69,

(A) s5d i (B) $5d i wAA i (C) $5d i 21 iv (D) i, ii, iii 21 iv

e WAL su udal 2eld=tul A yasimi aaiimi wRew ¢ ?

i. o 615 11 NSl WAl #5130 A A1l widel.

ii. sl gL @l s oisiul g o s21ad.

iii. U512 gl Aoxd G5 wA Gu dd.

iv. Aol 65 g1 A1 A sA A2 M8 i du

(A) $5d i, ii 244 i (B) $5d ii 21 iv (C) $5d i 21 i (D) i, ii, iii 2 iv

[ASP-1 - M] [Contd.
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068.

0609.

070.

071.

072.

Ministry of Food Processing Industries, New Delhi (MOFPI) has a number of schemes for
capital investment and other subsidies in the food processing sector. Which is the nodal agency
in Gujarat to implement schemes of MOFPI?

(B) Gujarat Agricultural and Farmers Board
(C) Directorate of Agriculture, Gujarat

(D) Food Corporation of India, Gujarat Regional Office

Which of the following statements are correct regarding the assistance offered by Gujarat
Government under the Startup Gujarat Initiative?

i. Rs.10,000 per month to the innovator as sustenance allowance for one year
ii. Upto Rs.5 lakhs assistance to the institution for mentoring services annually

iii. Upto Rs.10 lakhs assistance for cost of raw material/components and other related
equipments required for the innovative process.

(A) i and ii only (B) ii and iii only (C) i and iii only (D) i, iii and iii

Which of the following statements is/are INCORRECT regarding Second Five Year Plan?

i. It reflected a shift towards developing capital goods and heavy industry for long-term economic
benefit.

ii. 2nd pPlan was nicknamed the ‘Mahalanobis Plan’
iii. Targeted annual national income growth of 4.5 percent
(A) i and ii only (B) ii and iii only

(C) iii only (D) None of the above

Which of the following statements is/are correct?

i. Income tax and corporation tax are Direct taxes

ii. Inheritance tax and gift tax are Indirect taxes

iii. Custom duty and entertainment tax are Indirect taxes
iv. GST is a direct tax.

(A)ionly (B) i and ii only

(C)iiand iv only (D) i, ii, iii and iv

Which of the following measures would result in an increase in the money supply in the economy?
i. Purchase of government securities from the public by the Reserve Bank of India

ii. Deposit of currency in commercial banks by the public

iii. Borrowings by the government from Reserve Bank of India

iv. Sale of government securities to the public by the Reserve Bank of India

(A)i,iiandiiionly  (B)iiand ivonly (C)iandiii only (D) i, ii, iiii and iv

[ASP-1-M] rro. Bl
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073.

074.

075.

076.

077.

078.

079.

A2 W4 58 Alorual HRAHL Al sad 2o allse den 2ud €9 ?

-

i Wizzd gl BHi oad vidmi yrualdd (Recurring) ael, Qg wsdl yed-l a4 el 24
RS 2uas dlg-uil nxlae .

ii. 08l Al o nHRuel 2 (B (st wsiel aHlde s sadusil.

iii. 28R elarul8 24 aRvs woRs sad dlel uxlde 52l HD S Yre0 Alos-usil

(A) $5d i A i (B) 5 i i (C) $5d i 21 i (D) i, i ¥ iii

WSS slal-d A ) 2uas oga-L disid 2ulls Al 2uuadl Ao 8. d Guilsdizl 244
ARIOURL bin-l AMAA 52 6. HIS 5L S1AUrA Bdld A UL 56 A4l 2UUAUHL 204 €9 ?

i. 5dle ylawai i, 1A iii. Ll iv. §3 2-usR

(A) $5d i 2 i (B) $5d. i 21 iv (C) $5d i A1 i (D) i, i, iii A1 iv
auRdHl 2ulls Qs yrud o wail 9. o2 [Quas (Quantitative) 2 wvudla (Structural).
A1 Q4L sl oz [Quas Qs wen uu e ?

i. Alvuil (Net) AU Gewlg i atIRl

ii. WaAEls 2nasui auRl

iii. axdlul asuRl

(A) $5d i 1A i (B) $5d ii A1 i

(C) $5d i A i (D) i, ii 1 iii

.......... COP-25 Al agrri=12l]2fl 24e01 A5 AUl FUIR ........ 3 d-ll uHi0E WS A glwieal 9.
(A) Al , U (B) -, Al ©€) Saidl , AN (D) A , Sarddl
Y[AS (UNICEF) il dell, 2U81R 24+ uinel xA8ua (Adolescents, Diet and Nutrition Report)
2019 AJAUR HRAHI .......... yudl winal Garuefl i ©.

(A) 70% (B) 60% (C) 80% (D) 90%

AP ARHL MURrL DA WS s A2 YAzl (UNESCO) A%Hilcs A8 -i2as (Creative Cities
Network) - A4l dil5 [(Aysd scuml 2nean ¢ ?

(A) AHE1UE A Sl (B) HAHELAUE A BUYR
(C) Ho1d 21 €l (D) 4ot 21 Seuoue
[ (ASEAN) .......... 2zs20 (edition) Hi Gurd WERs cuus 2ulls cuoleldl v sda

5L OISR sul 69,
(A) 2541 (B) 30W1 (C) 3541 (D) 37WL

[ASP-1 - M] [Contd.
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075.

076.

077.

078.

079.

Which of the following schemes come under the classification of Small Savings Schemes in
India?

i. Postal deposits comprising savings account, recurring deposits, time deposits of varying
maturities and monthly income schemes

ii. Savings certificates comprising the National Small Savings Certificates and Kisan Vikas Patra

iii. Social security schemes comprising the Public Provident Fund and Senior Citizens Savings
Scheme

(A) i and ii only (B) ii and iii only (C) i and iii only (D) i, ii and i

Micro Finance is a provision of financial services to people of low income groups. This includes
both consumers and the selfemployed. Which of the following services are rendered under
microfinance?

i. Credit Facilities ii. Savings iii. Insurance iv. Funds Transfer
(A) i and iii only (B) iand iv only (C) iii and iii only (D) i, ii, iiii and iv.

Economic development in India has broadly two facets: Quantitative and Structural. Which of
the following are measures of Quantitative Development?

i. Rise in Net National Product
ii. Rise in Per Capita Income
iii. Rise in population

(A) i and iii only (B) ii and iii only (C)iandiionly (D) i, iii and iii

country has withdrawn from hosting COP-25 and country has shown interest
to host the same.

(A) Chile , Spain (B) Spain , Chile

(C) Italy, Greece (D) Greece, Italy

According to UNICEF’s Adolescents, Diet and Nutrition report 2019, percent of Indian
adults suffer nutritional deficiency.

(A) 70% (B) 60%

(C)80% (D) 90%

Which of the following Indian cities have been designated as Members of UNESCO Creative
cities network recently?

(A) Ahmedabad and Cochin (B) Ahmedabad and Jaipur
(©) Mumbai and Indore (5) Mumbai and Hyderabad
In edition of ASEAN India refused to sign on the Regional Comprehensive Economic

Partnership.

(A) 25th (B) 30th - (D) 37th

[ASP-1-M] rrro. B
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080.

081.

082.

083.

084.

auRd-l Aman @zl sriaedl 2+8a «fla A2 (Standing wheelchair) .......... g1t [AsAr1acuni
2dl 89,

(A) 1T Sgueus (B) NIT dasiél (C) T Mgl (D) T w32yR

ALAHL HURA Sl 2l (7th India Skills Report) 2020 sueid {2« WSl suu [l i ¢ ?

i. 24 HSAE AR 2019 Ui 86.21% [zt Aorour WS Ulvu A AL Al 2 duiR 6.

i, M1 Siaes U8ad (India Skills Report) »i UNDP, AICTE 14 AlU ~u asuiaiEdl Wheelbox
(Global Talent-Assessment Company), PeopleStrong i CI1 +{l 2{ysd uda €.

iii. A2l 2[R HYIRING 2lArL $HAL AU a5 20 8.
V. HSIRMZ GULE AR S 501 s oflog i Al 2euq 2uden 8.
(A) i, ii, iii 24 iv (B) $5d ii 21 i (C) $5d i A i (D) $5d i A iv

A=A W4 s (Qaul i o ?

i. audla yrdardlu udawl (Archaeological Survey of India (ASI)) 1 138 2151 ‘Adl o ASA’
(Must See) 21251 d315 200l s1Ei 6.

ii. Slaui (udHL & 38 aes 812y w2 ([Aa ik 2an) 8 ¢ WA 22 uirglds anid ASI 2
LA 536 B Fui RS, SHIRAL 27 95124 AHEAA Y 8,

-\

iii. ASI -l ‘i % A2 (Must See) 20Ul ALl UM 58U HIRALA 2HISL 249 YRldedld 20
AHAA A1 89 BHE UNESCO - [a2 arai-ll el (World Heritage List) « 2000 a+ulae €.

(A) i, ii 244 i (B) $5d. i A i (C) $5d i A i (D) $5d i 2 i

1341 g2t 2R Hdl euord A1 WA s [Qandl = 6 ?

i X114 gl A8 24l sllesini sidoil 24 578 vid aioas sdl.

i. 13 {1 e[ RS udiAL AT Hisle (Mascot) s (Blackbuck) gl

iii. AU, Ml tlidAte e, WAL, AU 244 lleist - §A 89 AR 27 ™AL ¢t L4,

iv. 2 Ul GuRA 28 A5 1ol Q18 wlEid il el8vs1R sul.

(A) s5d i (B) $5d i 21 iv (C) 5d i, ii 24 i (D) i, i, iii A1 iv
W (A5 w8 2019 (Human Development Report-2019) cieid «lA-t U4l sau [dtu-l
1AL 69 ?

i, 20 ASUd WHIGL 189 sl AElHE MR 12941 51 20dd 6,

ii. 201741 130 L $H 4R1Ad MIRA 1 51 BUR 2uda 6.

iii. 20 wglmi edl3A Yot i 2 ud s34 6,

iv. 21 vidad Yool 2005-06 ol 2015-16 YHIHI GuRdni 27.1 503 dlst adlollmidll 6112 sue.

(A) i, ii, iii 21 iv (B) 5 ii, iii 2An iv (C) $5d i, ii 2 iv (D) $5di, ii A i
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080. India’s first Indigenously made standing wheelchair was developed by

(A) NIT Hyderabad (B) T Guwabhati

_ (D) T Kharagpur

081. Which of the following statements are correct regarding the 7t India Skills Report 2020?

i. As per the report about 86.21% students were found employable or ready to take up jobs in
2019.

ii. The India Skills Report is a joint initiative of Wheelbox (Global Talent-Assessment Company),
PeopleStrong and CI1I in collaboration with UNDP, AICTE and AlU.

iii. Maharashtra emerged as the top-ranked state in terms of employability.

iv. Maharshtra is followed by Gujarat and Kerala in second and third ranks respectively.

m (A) i, ii, iii and iv (B) ii and i only (C) i and iii only (D) i and iv only
082

Which of the following statements are correct?

i. Archaeological Survey of India (ASI) has identified 138 numbers of monuments as ‘Must See’
Monuments.

ii. A total of 38 World Heritage Sites are currently present in India. Out of these, ASI has
protected 22 Cultural Sites including monuments/buildings and caves.

iii. The ‘Must See’ list of ASI features first-class Indian monuments and archaeological sites
including those that feature on UNESCO’s World Heritage List.

(A) i, ii and i (B) ii and iii only (C) i and iii only (D) i and ii only

083. Which of the following statements are correct regarding the 13th South Asian Games?
i. X111 South Asian Games were held in Colombo and Kandy in Sri Lanka.
ii. Blackbuck was the official mascot for the 13th South Asian Games.

iii. A total of 6 nations namely India, Bhutan, Bangladesh, Maldives, Nepal, and Sri Lanka
participated in 27 games.

iv. Pakistan boycotted the games due to Indian presence as the Chairman of the Asian Games
(A)iionly (B) iiii and iv only (C)i,iiandiiionly  (D)i, ii, iii and iv
084. Which of the following statements are correct regarding the Human Development Report-2019?
i. As per the report India ranked 129th in the list of 189 countries.

ii. India is up by 1 rank of 130 from 2017.
iii. The list was topped by Sweden again.

iv. According to the report, 27.1 crore people in India were lifted out of poverty from 2005-06 to
2015-16.

(A) i, ii, iii and iv @®)ii iiiandivonly (iR ()i i andiii only
[ASP-1-M] rro. B3



acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


085.

086.

087.

088.

0809.

090.

D WAL 53 / s (e / Qa2 /i 8 ?

(A) WHO 241 UNICEF il Ay s A8 U HgAR £EaL 2ul3s1 anl 20184 2.3 Wldluq sunsiq 200
2l L 2w i ddl Alell ay Avan d [gdla s 84 ©.

(B) 2018 i 2.4 Wldlun sunsia ) 4 240 €id d Aval 8 WilBetn, 20 0l Aal 214 69,
(C) (A) 21 (B) bid

(D) (A) 21 (B) U4l 51 1l

ar 2019 HI2 A8 HALAU GIRL G812 WM 2UdE 2L 8% 51M0EL oranadl uldlu 229-) tuetd 1A
WSl sy [ vig & ?

(A) g [Asicu-n widlay 24 20 A1Elui 2l $1 Huel,

(B) 2% s1100<) eronadl uielu 22200l el oo [gdla $H 2uda 6.

(C) >u welmi Al Mg wielu 22 [adla $H 2uda .

(D) BuRisd U4l 51 ]

MURA A ..o a2l 114l “INDRA 2019” ysd [-Auxil sad (tri-services exercise)
(33012 10-19, 2019 €% s WA Yl 21 2aUEUR vud Al L.

(A) S=sidlra (B) [ (C) siu (D) %l

e x12dla Ml (Online Pornographic Content) A @2LdL HEIALAL AGURR HIS ABANMIA
.......... A 2Ae8dL 860 s Uradl 21 530 69,

(A) 1yl Sl (B) %uRAM 48 (C) 251 Al (D) Y-t Al

541 (343612, 2019 UL A% HAUAAUHL UAA AidAENY A% [2a (International Volunteer Day)
A Yoy (R ......... 8.

(A) amare efaw w2 «idas (Volunteer for an Inclusive Future)

(B) 33udre disi W2 @dAas (Volunteer for the Needy People)

(C) ldldl 32 «Aas (Volunteer for the Victims)

(D) Wléldi-l 2o W2 auAas (Volunteer for the Voice of Victims)

MURA AR 241 WIZAd Wl curdla e ......... vild MR- A AR eRuS AR Aasiaau
(Maritime Heritage Museum) 04Mi A8 512+ [Aely sul .

(A) vxR1adl, 2Hignga (B) goidl, ulamsioun

(C) dlad, du1d (D) wRigly, iR=u

[ASP-1 - M] [Contd.
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085.

086.

087.

088.

089.

090.

(A) According to the joint report of WHO and UNICEF, South Africa has the 2nd highest
number of children who are not vaccinated against measles with 2.3 million in 2018.

Which of the following statements is/are correct?

(B) Pakistan tops the list with 2.4 million unvaccinated children in 2018
(C) Both (A) and (B)

Which of the following statements is INCORRECT regarding best performing Police Stations
across the country for the year 2019 released by the Ministry of Home Affairs?

(A) Andaman Nicobar’s Police station topped the list
(B) Gujarat stood at second rank in the list of best performing police stations

(D) None of the above

11th “INDRA 2019 a joint tri-services exercise between India and was held from
December 10-19, 2019 at Pune and Gwalior.

(A) Indonesia -

(C) France (D) Germany

Rajya Sabha instituted a panel headed by to study the issues related to online
pornographic content.

(A) Smriti Irani (B) Jairam Ramesh

(C) Renuka Chaudhary (D) Sujana Chaudhary

The theme of the “International Volunteer Day” observed on 5th December 2019, is
(B) Volunteer for the Needy people
(C) Volunteer for the Victims

(D) Volunteer for the Voice of Victims

Governments of India and Portugal have decided to cooperate in the setting up of India’s 15t
National Maritime Heritage Museum at the ancient Indian site of

(A) Amaravati, Andhra Pradesh (B) Hubli, West Bengal

_ (D) Paradeep, Odisha

[ASP-1- M] [PT.0.
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091.

092.

093.

094.

095.

Houd e {612 WAl Ao [RuHl usid -1 U5l s [Qa-l i ¢ ?

i. TRAI 2 Aaw &l uié ylaw 3 Ran ylui yRd s34 9.

ii. Acualstell uig »uB2 aar w2 15 [Bau-l uaHu YRlad scui 2ucl 6.

iii. ylAs widlon 518 (UPC) il Hiradl 2106 245 wriandlaidl ¢dl d a2idld 4 Rax-l sami »udl 8.
iv. d 23 21 519412 (I & K) dal 200 i Grryd [Raiuqt axi A5al (A4l qoy usal.

(A) i, ii, iii 24 iv (B) 5 iii 21 i (C) 5 i, ii 2 i (D) $5d i, iii 21 iv
R URSIR 61 A3 SRAURE 20dd R S-wtgy 2.0 cuotd DA U5 su [Qa-d i 6 ?

i v sRisu agy o) quell Dl qun eunsl vin woimit 20 Aamldren 2 9.

i, 212, 22flell 225l asia deu 8 AU Fan 5 el (Gl A0, GlaiRy, -, uilaidlala,
a1y 101, 243, HrlloaS A 2A Ui lu-B A1 28191 20N €9,

i, IMI L 0ls2 el -y 2ulell Wel 2020 23U QAT 2UAUR € % 20 A%AHE 2ud Al 400
[yecuxiiq dyel 2015208l 2uadl Al asuis vud 9.

(A) i, i 24 i (B) 5 ii A1 i

(C) $5d i A i (D) $5d. i 21 i

gleisiu tan erien uye sl dleienan AsusAL (Gotabaya Rajapaksa) .......... A 51U uau .
(A) gledst Yluen 572 (B) dléist 3113l 572

(C) s2-uust fuodls wdl (D) BURisd U4l 41 1l

21Ul SreAand Slal gL e8I wsai 2udan S+§lan swq ud (India Corruption Survey)
2019 tutid N W4l sun [l i 69 ?

i A% Al ay (e A%U dlsHl $H 4D O 5 oul 78% woidlsl i 2l ©.

ii. A2 6UE AHIHUSA 27 ddousu AgsH ol 214 Ao e U 2ud ©.

iii. AASAUA AFAIR 2019 HI HIRAHT GRIARAL € 1096 B2AUL 6.

iv. di 2udL dlsi-l 251l 2018 Hi 58% € adl- 2019 i 51% as .

(A) i, ii, iii 24 iv (B) $5dii, iii 2n iv

(C) $%d i, iii w1 iv (D) $5d i, ii 21 iii

A ML AUl A AU su1 e wAel =y [RoLAiR Al (New Sig Sauer Assault) A9 s &ril
UAH %22 W 5l ?

(A) A2 (B) sl

(C) %4l (D) BuRisd U4l 41 1l
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091.

092.

093.

094.

095.

Which of the following statements are correct regarding the new rules of Mobile Number
Portability?

i. TRAI has prescribed the port facility in the service area within 3 days
ii. 15 days time has been fixed for getting ported out of service area.

iii. The validity of the Unique Porting Code (UPC) has also been reduced to 4 days as against the
fortnight earlier.

iv. It will be applicable to all circles except the areas of Jammu & Kashmir (J&K), Assam and
North East (NE).

(A) i, ii, iii and iv (B) ii and iii only ©)i,iiandiiionly (GGG
Which of the following statements are correct regarding the Mission Indradhanush 2.0 launched
by Government of India?

i. This flagship program aims to immunize children under 2 years of age and preghant women.

ii. This vaccine provides protection from 8 vaccine preventable diseases such as diphtheria,
whooping cough, tetanus, poliomyelitis, tuberculosis, measles, meningitis and Hepatitis B.

iii. The IMI’s vaccination drive, which will be conducted from January to March 2020, aims to
achieve full immunization coverage target in 400 districts spread over 20 states.

(A) i, ii and iii (B) ii and iii only

(C)iandiionly (D) i and iii only

The newly elected President of Sri Lanka Mr. Gotabaya Rajapaksa belongs to political
party.

(A) Sri Lanka Peoples Front. (B) Sri Lanka Democratic Front

(C) Katunayaka Republican Party (D) None of the above

Which of the following statements are correct regarding the India Corruption Survey 2019
released by Transparency International India?

i. Rajasthan ranked as the most corrupt state having 78% citizens indulged in bribery.

ii. Rajasthan was followed by Andhra Pradesh and Telangana in the second and third place
respectively.

iii. As per the report the corruption rate in India fell by 10% in 2019.
iv. The percentage of people who had paid bribes fell from 58% in 2018 to 51% in 2019.

(A) i, ii, iii and iv (B) ii, iii and iv only
(C) i, iii and iv only (D) i, iii and iii only

From which among the following countries, Indian army received the first lot of New Sig Sauer
Assault rifles recently?

(A) Russia (B) France

(C) Germany (D) None of the above

[ASP-1-M] rro. B3
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096.

097.

098.

099.

100.

101.

ALSWIATL AR GIRL ALSUIAT g Ao AUANAUHT AU B d ... 8.

(A) 5150 2{ul w2 diedl 4 il (Do not be greedy for anyone’s wealth)
(B) 282 ultt e diedl « 1l (Do not be greedy for public wealth)
(C) diMs, Mad- - ad %A\, (Greed not to be breed)

(D) di Al - ain <l (No Greed - No Bribe)

NSO Adril “82212y AHI2S QUL (Household Social Consumption) «iL UdaigL : ALY Ay-unii
udael (Rana Arua ud (NSS))-L 7541 AG~3+U *a3d [ suotd Q1A WSl sy /sul [ /
(At 2] /i 8 ?

(A) %A - 2017 - %t 2018 €RUAL MHIRAHL Ald adedl 2 d-uell ay au oAl AERAL €2
77.7% -l

(B) 13, &AM A& €2 73.5% 2 AL [AcIRUL 87.7% gl.
(C) (A) 211 (B) bi
(D) (A) 211 (B) U4l 415 -l

algaul leRsiciEdl ISRO AL PSLV C47 gl2L M&URL $3al CARTOSAT-3 244 34y, 13 Guasidl
opotd, A1 WSl sa (sl i o ?

i. CARTOSAT-3 3l SuRlq Al Udld 2neid yadl [Adlaa 214 Adlor 22aide © 5 9 62 3eyan
SHL #ul 4R 8,

ii. CARTOSAT 2&ll-l 21l 941l BUuAE &dl.

iii. CARTOSAT-3, ydl [ilawal yrudes 222 (US) dl »t-d 13 -l Guusi 18 ya-l yH0 ;Hvisen
(Sun Synchronous Orbit (SSO)) i MBAURL $cUHE 2l

iv. CARTOSAT-3 1,625 [3.21 a%+t 4R1d 8 %+ (Mot 2uym 5 au 8.

(A) $5d i, ii 244 i (B) 5 ii A1 i (C) $5d iii 1 iv (D) i, ii, iii 21 iv
el o 202104 Al vidold crcuedli-l dvaia Wugs dsn A WSl s aeul Al S
gyl 534 69 ?

(A) %21 (B) U811 (C) suu2s (D) dl®a-ug

5% AR IR WS UL W2 HoYR s ¢9 A%l WEIHE DA WA 53 Au umlae 2dq ol ?

(A) dlRa-ug (B) iRz (C) dRud (D) H1Rvi3

§-dleye gl Ssirislsu 2i-s Wl (IEP) 3 digdrHi 2019 Alus 2udsale yasis : 2udsael
21U WU (2019 Global Terrorism Index : Measuring the impact of Terrorism) 61812 W34 €9,
24 Yasis uHel 2idsaedl Alell ay ueulda gai-l welui av 2018 Hi MIRd AAHL 3 2Udd 8d. 2
AWML 2lAAL $H AR B ... Sl

(A) AL (B) xAs &Rzl (C) S5 (D) dlolln

[ASP-1 - M] [Contd.
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096.

097.

098.

099.

100.

101.

The New Motto of Lokpal recently adopted by its chairman is

(B) Do not be greedy for public wealth
(C) Greed not to be breed
(D) No Greed - No Bribe

Which of the following statements is/are correct regarding the NSO survey on “Household Social
Consumption : Education as part of 75th round of National Sample Survey (NSS)*?

(A) Literacy rate in the age group of seven years and above was recorded at 77.7% during July
2017-June 2018 in India

(B) The Literacy rate was 73.5% in rural and 87.7% in urban areas.

(D) Neither (A) nor (B)
Which of the following statements are correct regarding the recent launch of CARTOSAT-3 and

13 other satellites from Sriharikota by ISRO’s PSLV-C477?

i. The CARTOSAT-3 is ISRO’s 3rd generation Advanced Earth Observation and Mapping
Satellite having high-resolution imaging capability.

ii. This was the 9th satellite of CARTOSAT series.

iii. CARTOSAT-3, an Earth Observation Satellite along with 13 other nanosatellites from the
United States (US) was launched into Sun Synchronous Orbit (SSO).

iv. CARTOSAT-3 weighs 1,625 kg with mission life of 5 years.
(A) i, ii and iii only (B) ii and iii only

(C) iii and iv only (D) i, ii, i and iv.

Which of the following states ranked as the best performer under the criteria of number of
beneficiaries under the Pradhan Mantri Jan Arogya Yojana scheme?

_ (B) Maharashtra

(C) Karnataka (D) Tamil Nadu

Which of the following states is not in the list approved by the Central Government for setting
up of Plastic Parks in six states?

(A) Tamil Nadu (B) Odisha

(C) Gujarat (D) Jharkhand

Institute for Economics and Peace (IEP) has recently released “2019 Global Terrorism Index:
Measuring the impact of Terrorism”. As per the Index India was ranked at the 7th place in the list
of countries most affected by terrorism in 2018. The country which topped the list was

(A) Syria (B) Afghanistan

(©) Iraq (D) Lybia

[ASP-1-M] rro. |[Ed
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102.

103.

104.

105.

106.

107.

g8l GuRdul digdul slat agai- - U5l sun siel ¢ ?

i. el SALYS AN

ii. gaanlla wdq s (uiadl 20l gawn)

iii. gl vl as

(A) $5d i i (B) 54 ii A i (C) 55d i A1 i (D) i, ii 2 i
A2 WA s [ uai 69 ?

i. syl (Ul dlstdrdl Aenarin 2012 RdA AR AiHi [Aeud s34l 6.

i, Yl A AHELUE AU 111 Wi 20d 6.

iii. &40 AL V i 2ud 8.

(A) $5d i A i (B) $5d i w i (C) $5d i 2 i (D) i, i ¥4 iii
2011 +l @l il Agedui A WA s [Qaudl i ¢ ?

i. 9 GURAML Al Ay Al 41l AAHE 1241 $H 20d4 8.

ii. a1 (@01 9eiia: 954 6.

iii. 92 15% A4y 2l el 41d 8.

(A) $5d i 2 i (B) 54 ii A i (C) $5d i A iii (D) i, ii A4 i
AURAH 1A U4 sl sRunsisl Grix-yd AlHIALAL aA1E WA € ?

(A) sisaqi sRaisist (B) naou-il eRusisi

(C) siRinisartl eRusisi (D) d2ua-il eRuisist

ezt ulgallzi-g azdl 2s5Bddrl sustd A=A U4 56 A 21108 dd Al © ?

uleauxdl onld azdl xAsBadini Creal

i slsvu — g, aqug, sid

ii. ousld - Yd

iiiuedlae = yYad, asiex

iv. A5 - sy

(A) i, ii, iii 4 iv (B) $5d i, ii 2 iv (C) ssdii, iii xiv (D) $5d i uA i

CTEX IR vid 134 S5 s 8 WElR g 4 smad-auq i 4 sodan 2iis wddedl alfu

s de e (Conference of Parties of the Convention on the Conservation of Migratory
Species of Wild Animals) (CMS COP 13) -l uri-ll s2aug 8.

(A) 1dl [Bed) (B) 5249 (C) 2212 (D) A~u$
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102. Which of the following are the causes for the recent increase of the forest fires in South India?
i. Deliberate burning of forests
ii. Inflammable Pine needles

iii. Seasonal cycles of trees
(A) i and ii only (B) ii and iii only (C) i and iii only (D) i, iii and iii

103. Which of the following statements are correct?
i. Seismologists have divided India into Four zones as per the intensity of earthquake
ii. Surat and Ahmedabad fall under Zone 3

iii. Bhuj falls under Zone 5
(A) i and ii only (B) i and iii only (C) i and iii only (D) i, ii and i

104. Which of the following statements are correct regarding Gujarat as per 2011 census? .
i. Gujarat is the 12th most populated state in India.
ii. Gujarat is having 954 sex ratio
iii. Gujarat has 15% Scheduled Tribe population

(A)i and ii only (®)ii and iii only

(C) i and iii only (D) i, ii, and iii

105. In India, which of the following coasts receives rainfall from North-East Monsoon?
(A) Konkan coast (B) Malabar coast

(©) Coromandel coast (0) Gujarat cosst

106. Which of the following pairs are INCORRECTLY matched regarding districts having
concentration of Tribes?

Tribes Districts of concentration

i. Kokna - Navsari, Valsad, Dang

ii. Gamit - Surat

iii. Patelia - Surat, Vadodara

iv. Rathwa - Chotaudhepur

(A) i, ii, iii and iv (B) i, i and iv only
(©) i, iii and iv only (D) i and iii only

107. India will be hosting the 13th Conference of Parties of the Convention on the Conservation of
Migratory Species of Wild Animals (CMS COP 13) in

(A) New Delhi (B) Kutch

(C) Gandhinagar (D) Chennai

[ASP-1-M] rro. B
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108.

109.

110.

111.

112.

99021 titotd A WS su (Al i ¢ ?

i. w2l 2uetisasly uRRAM Gw sRoiflu o,

ii. AU HTH (AR (31%6) GriR AR &AL Yos B .

iii. £[2aL -l MR aRAiEl Air Al 2490 [RaR 8.

(A) i, i 24 i (B) 54 ii A i (C) $5d i A iii (D) $5d i 2 i

oAl MLolAs qaall suoid 1A WA sun (sl i €9 ?

i. #8591 Y Rd-l Grir Ul uAR Ag Slaudll Apu 2~Aldau ARH waw E§ vusligal 41d 8.
ii. Al 860 %R PUAR 19.66 AUm 852 I HAd .

iii. 9 HAAV WLMAR AL S0 A2 YRel AAU AR (AU Al 1A €9,

(A) $5d i 2 (B) 54 ii A i (C) 85d i A i (D) i, ii 2 i

HIRAHE A ouetd A=A W4 st (Qansl i ¢ ?

i. GuRAnE Gua s(2oiflu uglots1R Fordi-i you [Aedil ulau ae, [Qlalo G2ame e, sHigru-Rsionr
[Guuys 21 aadlu 9.

ii. Guat s(2oitfla w2 Fadi-u You gail dls, e, il v e 9.
iii. ey s(2eiflu AL111R Faal ALY Al A5 UL N .

IS

iv. 1088+l A%l adt Hlld g Aelas [ 33 251 ad &2 [ a& 860 glal ASA ddl evird
3l edl.

(A) $5d i, ii A1 iii (B) $5d.i, ii 21 iv (C) $5dii, iii xiv (D) $5d i 24 i

o A ouotd A=A WS s [Qaunl i ¢ ?

i. Hotr AldlaRR Huaued 51014 SRLSASS 244 ALl well-l eusud ving 8.

ii. Hownq 6l 2igl €9,

iii. 240 28 2 yedlell ams-u Asiui AL sH 2ud 8.

(A) $5d i 2 i (B) $5d. i A i (C) $5d i wA i (D) i, ii &AL i

A2l W 54 A / 51 AL 21000 Ad el © ?

i ug e A : [RusslH 2 [asle

i, uasss SuwA = 330 21 dlRanug

jii. Rrudlean wi : 213e0aa uee 24 Al

iv. Aleal wa : s1gHlR viley 214 Asiw

(A) $5d. i 21 iv (B) $ 5 iii (C) $5d i vA i (D) i, ii, iii 2 iv
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108.

109.

110.

111.

112.

Which of the following statements are correct regarding Gujarat?

i. The climatic condition of the State is tropical.

ii. Maximum area of the State (31%) is Arid Zone in the North Gujarat Region
iii. The minimum area is under the heavy rainfall zone of South Gujarat

(A) i, ii and i (B) ii and iii only

(C) i and iii only (D) i and ii only

Which of the following statements are correct regarding the Geographical features of Gujarat?

i. As the Tropic of Capricorn passes through the Northern border of Gujarat, the state has an
intensely hot or cold climate

ii. Gujarat has about 19.66 lakh hectares of land under forest
iii. Moist Deciduous Forests in Gujarat are seen in Dang and parts of Vyara in Surat division

(A)i andii only (®)i and iii only

(C) i and iii only (D) i, iii and iii

Which of the following statements are correct regarding the Forests in India?

i. Major regions of Tropical Evergreen Forests in India are Western Ghats, Plateau of Shillong,
Andaman Nicobar Islands and Lakshadweep

ii. Major trees in the Tropical Deciduous Forests are Teak, Sal, Mango and Sandal
iii. Tropical Evergreen Forests are also called Monsoon Forest

iv. The National Forest Policy of 1988 proposed 33 percent of the total geographical area should
be under forest/tree cover

(A) i, iii and iii only (B)i, i and iv only

(C) ii, iiiand iv only (D) ii and iii only

Which of the following statements is/are correct regarding planet Mars?
i. Atmosphere of Mars consists of mostly carbon dioxide and some water vapour
ii. Mars has two moons

iii. The planet is the fourth closest to Earth

(A) i and iii only (B) ii and iii only
(C)iand ii only (D) i, iii and iii

Which of the following statements is/are INCORRECTLY matched?

i. Nathula Pass: Sikkim and Tibet

ii. Palakkad Gap Pass: Kerala and Tamil Nadu

iii. Shipki La Pass: Arunachal Pradesh and China

iv. Zoji La Pass: Kashmir Valley and Ladakh

(A) i and iv only (B) iii only (C) i and ii only (D) i, ii, iii and iv

[ASP-1-M] rro. B3



acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


113, [d#mi (i wRaR (Language families) =l ooid 2 WAL 53 [Atiq / sl (Al ) / i e ?
i. S+3i-yAdlun (Indo-European) et uRaur Aldl Higl uRar 8.
ii. o125l (Niger-Congo) ¢t uRaiR oflog su-l 1zl uRawr .

iii. Ri--lasidlum (Sino-Tibetan) st uRaR o s1-l Hizl uRar 6.

(A) $5d i 24 iii (B) $ 5 i (C) 85d i (D) i, ii 2 i
114, yedl-it gauHiAH B Sl uRad 2 yedl- .......... M EEER

(A) ulRaMa (Rotation) (B) uRsHw1 (Revolution)

(C) "lauw (Erosion) (D) M4 (Diastrophism)
115. eRasl el@a ufdl eRusial .......... a3 0 9,

(A) sisa-l sRusist (B) siRimisaq elRusisl

(C) uaulz-i elRusisl (D) BuRisd U4l 518 Al

116. GURAML A1 3d G-uou-iL Al (Summer Monsoon) Maits <l [2eu N1 W4 55 i 6 ?
(A) elaell G ds (B) el@a ulBanall law ud ars

(C) el2a ydell gl@a uln ars (D) a2 ulZane) G ud drs

117, [Q2-iL A1z (Time zone) tioid D12 W4l s [Qan-l i o ?

i 2aUAs A 2 YA (AIR) MY a3 urL vinvuy 9,

ii. A0l Jup (AAUA) v AR AN IR 2is e Sl 89,

iii. 0cla Anuzl S H AN Nuq 244 15° wlEn 3uwia a3 [Gdal 9.

iv. auauzi-dl ueel A AU A el- vl s2a1 W2 dusda Al

(A) 55 ii 244 i (B) i, ii, iii 2 iv (C) $5d i A (D) 85 iii w1 iv
118. &Il (EI-Nino) 241 cuedly Alxii-i el - Ul sy (s / sui Qa0 /i 8 ?

i, CURAHL AA-AlHL Qi duon-L AHRUAL AA1 L 200l $a W2 GuAlIHL A €,

ii. GURAML A4l 251 onoHL Al aA1E-L 2eudl s2a1 e Gualami da €.

iii. CURAHL 214 -l Mmool ALHIRAUAL A1 20U) S GualdHE A 9.

(A) $5d i 2 i (B) $5c i wA i (C) 85di (D) i, ii 2 i

E [ASP-1 - M] [Contd.


sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight

sriram.d
Highlight


113.

114.

115.

116.

117.

118.

Which one of the following statements is/are correct about the language families in the world?
i. Indo-European language family is the largest family
ii. Niger-Congo language family is the second largest family

iii. Sino-Tibetan language family is the third largest family

(A) ii and iii only (B) iii only

(C)ionly (D) i, iii and iii

Seasonal variation in the weather condition of the Earth is the effect of of the Earth?
(8 Rotation (B) Revolution

(C) Erosion (D) Diastrophism

South West Coast of India is known as

(A) Konkan Coast (B) Coromandel Coast

(C) Sahyadri Coast (D) None of the above

Which of the following is the general direction of flow of summer monsoon in India?

(A) From South to North (B) From South West to South East

(C) From South East to South West (D) From South West to North East

Which of the following statements are correct according to the world’s time zones ?

i. Local time is also known as Sun time

ii. All places on the Greenwich Meridian have noon at the same time

iii. The Greenwich time zone extends between Prime Meridian and 15° west longitude
iv. The boundaries of time zones are not adjusted to conform to political boundaries.
(A) ii and iii only (B) i, ii, iii and iv

(C)iandiionly (D) iii and iv only

Which of the following statements is/are correct in the context to EI-Nino and the Indian
Monsoon?

i. EI-Nino is used in India for forecasting long range monsoon rainfall

ii. EI-Nino is used in India for forecasting short range monsoon rainfall

iii. EI-Nino is used in India for forecasting medium range monsoon rainfall
(A) ii and iii only (B) i and ii only

(C)ionly (D) i, iii and iii

[ASP-1 - M] [PT.O.



acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


119. deR1d Aza- wglds Ailas cal@said suod A W4 sy [ sa [@Qan / Q- 0y /
Al ?

(A) Hen 1A gl erdui 2@ vssi da (basement) 355+ U (Deccan trap) .
(B) slas apeunll E[2a1 9or2ud A% 2 54 s % HUsH O,

(C) (A) A1 (B) bid

(D) (A) 21 (B) U4l 51 1l

120. 529+ 20 suotd NAW U sy Qa0 © ?
(A) 5297, 201 415U Bt V 24 dlsidl IX | 2ud €.
(B) 52497 21 4edlSu-L it 1V 244 dlgidl VI 4l 2ud 6.
(C) 5297, @1 8cl5urL AL VI 244 dlstedl 1V i 2ud €9,
(D) BuRisd U4l s ]

121, eRud-l 2uslisasla del@sdaizi suoid D U8 sa [asl i o ?
i. elEar Precnil ool vuslisal Aged € a1 Gri-l &l Y4l uelsdl x4™d 8.
ii. e[ [Precuail Y4 2uoligal g™ € 3R G-l dlsl Mol vusligal 24™a .
iii. oA AU U aAE 33 Al 152 cm -l Halewi e 8.
(A) $5d i 2 iii (B) $5c i A i (C) 5 i 21 i (D) i, i ¥4 iii

122, DA U suL A%un slasil ddl asiRiql €2 2001 9l 2011 eRu- Alell Glag €9 ?
(A) U8R (B) ul2an sioun (C) almaug (D) 2esRud

123, 2uy euoid N U4 53y / sui (A / Qe =) /0l 8 ?
(A) d yedl{l mHaisan Gurd Ad [Big © 5 oui yedl yudll Aldl £2 Slu Y.
(B) 2 2% geuSdl 4¢ll gens aza o1 8.
(C) (A) %11 (B) tin
(D) (A) 211 (B) U4l 41 <l

124, DA U4 s (el i 69 ?
i a8 yd xARumi yrau SHlure (Baidraill) dellu g 0S4l 241 cudlal 9.

-

ii. e[ yd 2Rl gra-dl adll {idl srgudl HdUAISs dellu opa u1d 8.

AN

iii. el3R yd AR el ausdlzai ARHE Sl deu AL waH Yo 22AISS Sdl uZd duil du-l
w19t viot 241691 [ReuHl e9idl o,

(A) $5d i 211 i (B) 5 iii 21 i (C) $5d i A i (D) i, i ¥4 iii
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119.

120.

121.

122.

123.

124,

Which of the following statements is/are correct regarding physiographic characteristics of
Gujarat state?

(B) Physiographically, Gujarat state is a single unit
(C) Both (A) and (B)
(D) Neither (A) nor (B)

Which of the following statements are correct regarding Rann of Kutch?
(B) Rann of Kutch falls in seismic zone 1V and intensity VIII

(C) Rann of Kutch falls in seismic zone VII and intensity 1V

(D) None of the above

Which of the following statements is/are correct regarding climatic characteristics of Gujarat?
i. Southern districts witness moist climate while the northern region dry climate

ii. Southern districts witness dry climate while the northern region moist climate

iii. The average rainfall in Gujarat state varies from 33 to 152 cms

(A) ii and iii only (B) iand ii only
(C)iandiii only (D) i, iii and iii

Which among the following states has the highest decadal growth rate of population during 2001
to 201172

(A) Maharashtra (B) West Bengal

(C) Tamil Nadu (D) Gujarat

Which of the following statements regarding “Aphelion” is/are correct?
(A) Itis the point on the Earth’s orbit when it is farthest from the Sun.
(B) It occurs between 2Nd and 4th July.

(D) Neither (A) nor (B)

Which of the following statements are correct?
i. The main immigrant ethnic group in South East Asia are the Chinese and the Indians
ii. A large majority of the present population of South East Asia belongs to the Mongoloids race.

iii. The earliest known ancestors of the present inhabitants of South East Asia were Australoids
but they have left little trace behind them

(A) i and iii only (B) ii and iii only

(C) i and ii only (D) i, ii and i

[ASP-1-M] rro. B3



acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


125.

126.

127.

128.

129.

ARHUINAL $UL A UBHHUL Yaled 2™ 8 ?

(A) W (B) 44 (C) 45 (D) A3

A2 W4 s Qe i o ?

i. 8l (Brahmos) 24 weaH siell Ing2 YuAllis 5 Muda (ramjet supersonic cruise missile)
8, 5 B Ao, asiRl, SuSws1yr Al R vl uaua as as o.

ii. e8ll™ (Brahmos) -UH URdxl elaryotl gl 44 Al Hizgal 1€l udl wisaiHi 2u .

iii. (uRdla s e0l d-ll sausS »ualwi (Air version)d, ula Su-30 MKI asius [Quiq udl s34 6.
iv. el Puda cudly A 2015 A arell A aHlde sl »uda 9.

(A) i, i, iii 241 iv (B) $5d. i v iv (C) $5d i A1 i (D) $5d i, ii A1 iii
yed)-2 (Prithvi-2) Mauda sueid D W4 sy / sai [Qauq / (a2 /i 6 ?

i. (uRd a9l Ad [Asuda ungy uam yedl-2 ol il Rudad wsn AR v (2rua)
54 9.

i. s a 850 Bl usiz usianuiel A 1500-2000 [Zaiu ¢RuR ag--l audl 44 9.

iii. Pruda nadl uiuear (liquid propulsion) 2dl- 2429+ (twin engine) iRl A0ad €. d 2uyAs
wddld Hrteels ueudl-i (advanced inertial guidance system) Guaiol §3 €9,

(A) i, ii 2 i (B) $5d i A i (C) s5d i (D) 5 i

SSURL 20 MIRd 2aal MR A AHAL HIRL BlAS a1 0@ a0 grar a2-umi Mikd

(A) gy A0l uldasi sal [Aseu ndl mal.
(B) $5d drll UUR2Ld gVl Gualol 524l
(C) Blas 21 A0 A1 GualL-L [Asey nd] msl.

(D) BuRisd U4l 518 Adl.

RURAAL YA Blod Beutet s1u5HAL Ao dvigs ... uR 2aRd 6.
(A) PU-239 1L BUuldL s4di 5122 [B132 {24523 (Fast Breeder Reactor)
(B) U-233 tindui-l Buaidl sl (8132 Saise’d (Breeder reactors)

(C) (A) 211 (B) bid

(D) (A) 211 (B) U4l 415 -l
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125.

126.

127.

128.

129.

Which of the following planets of the Solar system experience Sunrise on the West?

(A) Mars (B) Mercury
- (D) Jupiter

Which of the following statements are correct ?

i. Brahmos is a medium-range ramjet supersonic cruise missile that can be launched from
submarine, ships, aircraft, or land.

ii. The name Brahmos was coined from the Brahmaputra river of India and Russia’s Moskva
River.

iii. Indian Air Force testfired its air version from Su-30 MKI fighter aircraft.

iv. The Brahmos missile has been inducted in service with the Indian Navy since 2015.
(A) i, ii, iii and iv (B) i and iv only

(© i andiii only (©) i andiii only

Which of the following statements is /are correct regarding Prithvi-2 Missile?

i. India has successfully conducted night trial of the indigenously developed nuclear-capable
Prithvi-2 surface-to-surface missile.

ii. The missile has a strike range of 850 kilometres with warheads carrying capacity of
1500-2000 kilograms.

iii. The missile is powered by liquid propulsion twin engines. It uses advanced inertial guidance
system.

(A) i, iii and iii (B) i and iii only
(C)ii only (D) iii only

In the event of a major attack against India, or Indian forces anywhere, by biological or chemical
weapons India will

(B) Use only its conventional forces
(C) Retain the option of use of biological and chemical weapons

(D) None of the above

The third phase of India’s Nuclear Power Generation programme is based on
(A) Fast Breeder Reactor using Pu-239

(C) Both (A) and (B)

(D) Neither (A) nor (B)

[ASP-1-M] rro. I
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130.

131.

132.

133.

134.

135.

UMY {12522 24 Y 6l AL ASIAAL A D 5 ...

(A) uHIR, 2524l 516 AG DuAsaq (svan ulsa) ad el suR 21 elsomi A5 d2sauq
(sivien ulzan) sl 6.

(B) urgy Axiseui AS Auisan (gvien ulza) Ralid siu 6.
(C) urHIg, 2is2ui AS Duasaq (v uEu) Rula sig e,
(D) 13y cll+aul 1S A AaAsaq (svien wlsa) ag el 2R d uHgy duiseui wu 8.

D2 W 5y / sui 2 s[5 :dleqd (artificial sweeteners) AA%+2 d<l3 Gualami A & ?
iAsA Qigsely il Ysly v, iRwdH (aspartame)

(A) i, ii, iii 21 iv (B) $5d i, i 21 iv (C) 85d iv (D) $5d i A iv

D2 W 56 Al / AdAl il Ad Ak € ?

i 2l — Hles s Aodallun (AoAglau g4)

ii. SLELAL S — oL5lo1 ALSL (vl ALsL)

iii. Hl-dl AR — sdls s (50l 3l) (Seellum 2x15083)

(A) $5d i, ii 244 i (B) 5 ii 21 i (C) $5d i 21 i (D) i ¢4 ii

A 5L AAaRUY suoid A1 WS st (el i ¢ ?

i d aissll dons u Alul 2ua2 Avi 9,

i, o A5 PUIEIEAL BAS UL AR UHIRIHE 1A 69,

iii. d QS UL YR SR AL 6,

(A) $5d i 2 i (B) $5d. i A i (C) $5d i wA i (D) i, ii A i

Arl 257Ul onotd AL UL s [annl i ¢ ?

i. d 2198l 249, (atom by atom) giL AL 244 Gusell si-iacn el as-ls €.

i, AiHle: Wu uR @ilas gl slean 8.

iii. Al HleR 1 R Aual@s sl selll seatd .

(A) $5d i 211 i (B) 5 ii A1 i (C) 85 i wA i (D) i, ii A iii

Dl WA 53 / sul (At / Qe / 0 /i 6 ?

i. %9l Al uAH el (cloned) well sidl - s 8¢ ¢d.

ii. Wirtar seli-loil Al uam (3210 2004 Hi gu-AlHE AAA Sl

iii. Wl 2 A2AAARS sel-llor 20 seti-loru ol usiRl 6.

(A) i, i 24 i (B) $5d i w i (C) $5d i A i (D) 85di
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130.

131.

132.

133.

134.

135.

(A) No chain reaction takes place in Nuclear reactor while in the atomic bomb there is a chain
reaction

(C) The chain reaction in Nuclear reactor is not controlled

The difference between a Nuclear reactor and an atomic bomb is that

(D) No chain reaction takes place in atomic bomb while it takes place in nuclear reactor

Which of the following is/are used as ‘Artificial’ sweeteners Agents ?
i. Saccharin ii. Fructose iii. Sucrose iv. Aspartame
(A) i, ii, iii and iv (B) i, iii and iv only

(©) v only ©iandivonly

Which of the following pairs is/are correctly matched?

i. Indigestion — Milk of Magnesia

ii. Ant Bite — Baking Soda

iii. Soil treatment — Quick lime (calcium oxide)

(A, iii and iii (B) ii and iii only

(C) i and iii only (D) i and ii only

Which of the following statements are correct regarding the resistance of a Conductor?
i. It directly depends on the length of Conductor.
ii. Itis inversely variable to the area of the cross-section of Conductor

iii. It depends on the Material of Conductor.
(A) i and iii only (B) ii and iii only (C) i and ii only (D) i, iii and i

Which of the following statements are correct regarding Nano technology?
i. It is a technology for creating materials and devices atom by atom

ii. Physical properties change at the nanometer scale

iii. Chemical property never changes at the nanometer scale

(A) i and iii only (B) ii and iii only

(C) i and ii only (D) i, iii and iii

Which of the following statements is/are correct?
i. World’s first cloned animal was Dolly, the sheep.
ii. The first case of Human cloning was recorded in Germany in 2004

iii. Reproductive and therapeutic cloning are the two types of cloning

(A) i, i and iii (B) i and iii only (C) i and ii only (D) i only

[ASP-1-M] rrro. B
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136.

137.

138.

139.

140.

- W4 56 via-dlg cnaizAdlziaq (Flas eusl [Avsw1) (Ex-Situ bioremediation) ds+ls ¢ ?
i. Blas alisw (Bioaugmentation)

ii. las i (Biopile)

iii. ol vidl (Land farming)

(A) $5d i 2 i (B) $5diii (C) $5d ii A1 i (D) i, ii &AL i
EAAIR Yl uARY (relays) HIZ GuALME ddldl GUASL MR UL (Geostationary orbit)
vicuHi 2A1d 69, Guaus udl HHRISAML U SSAUU FUIR -

i, aHLsen cpusian - [yaila-siqu (Geosynchronous) i,

ii. HRLSEL adiUsR €l

iii. aHRsan el [Ayadqi auaaui sia

iv. HRsan 22,236 (3l Gl uz sl

(A) $5d i, ii 244 i (B) $5d i, iii A1 iv (C) 5 i 21 iv (D) i, ii, iii 21 iv

A A 2 Al ¢H31R W s2a1L W wiell, Hdl 24 e erva 531 asia dai yedl-l awdl »ig:

vio1 GI3 o dal stai wsan (drilling) A ... a3 vNvAm 204 9.
(A) ueaS Aot (Pulverising) (B) [34121 (Dreecking)
(C) silH21 (Chroning) (D) 34121 (Fracking)

Dadeu WA 53 / sui (A / Qe vig [ viei o ?

i. GHEL YL (Noble Gases) HRlAdL dHIM 1A QU (Gas Lasers) Hs»H AU (excimer lasers)
a<ls ueL v €9,

ii. xS AuR A §sa-llori Risaidia amlaw s23 6.

iii. 514412 QAR (Fibre lasers) 2lsd 14612 Suid-l Guaiol rudlsiisoL men a3 53 9.
(A) $5d i (B) $5d ii 2 iii

(C) i, ii - i (D) BuRisd U4 418 1l

D2 WA 5y / sul (At / Q- 02 /i 8 ?
(A) £21 AU WRllME 2AHAL HIS IR 2L AR 5l BRI QY USRS .

(B) AUl AUl sami 82 9 5181 5 A0 33w 24 sanui ALl 141 Sia €9 A Y 52l
(returning) a2t d-{l 28 aRll alene (noise) ASA 2ud €.

(C) (A) 21 (B) bid
(D) (A) 211 (B) U4l 415 -l
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136. Which of the following are the Ex-Situ bioremediation techniques?

i. Bioaugmentation

ii. Biopile

iii. Land farming

(A) i and ii only (B) iii only

(C) i and iii only (D) i, iii and iii
137. Satellites used for telecommunication relays are kept in a geostationary orbit. A satellite is said

to be in such an orbit when

i. The orbit is geosynchronous

ii. The orbit is circular

iii. The orbit lies in the plane of earth’s equator
iv. The orbit is at an altitude of 22,236 kms
(A) i, ii and iii only (B) i, iii and iv only
(C)iiand iv only (D) i, ii, iii and iv
138. Drilling small sized holes which go deep down into the Earth’s surface for injecting water, sand
and chemicals in order to obtain shale gas and oil reserves is known as

(A) Pulverising (B) Dreecking
(C) Chroning _
139. Which of the following statements is/are INCORRECT?
i. All gas lasers containing Noble Gases are also called excimer lasers
ii. Semiconductor lasers incorporate the principles of Led functioning
iii. Fibre lasers make use of Optical Fibre cable as an amplifying medium
(A)ionly (B) ii and iii only

(C) i, ii and iii (D) None of the above

140. Which of the following statements is/are correct?

(A) Radars are much more effective than Sonars in water to detect enemy submarines

(C) Both (A) and (B)
(D) Neither (A) nor (B)

[ASP-1-M] rrro. I
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141.

142.

143.

144,

145.

146.

147.

148.

QuR 5735311 ueld-l sl .......... A 69,
(A) L1 (B) Wall2a (finite)
(C) ¥t-id (infinite) (D) BuRlsd U4l i 1l

FLOPS 4 u3un g e ?
(A) Flying Operations per Second (B) Flow Operations per Second
(C) Floating Point Operations per Second (D) Flat Operations per Second

Ao

AU AY (infection) Wi S2cs [Bruating sisel 2i-Aoudidlsl qams e 52 69 ?
(A) 52¢1s QAR Nl Ba oiseglan 8214 € % wi-dlouaidls 2unvll 214 WLl us 6.

(B) Rt 6is2ud AuA w2599l HI2

(C) i-lonauidls arauAl siuglarad siouddl as 6.

(D) BuRlsd dAxIM

ALY, Fld AL 2l 2ualt - Gl (pitch) .......... Sl 8.

(A) YUl 52l 12d) 120l (B) uMl $qi G0l
(C) YRul $2i v {12l (D) y3ul %24l o
DA WA 5y [ vig 9 ?

(A) a2 218014l anis Bz (as Besa) d-)l 3da dousHl sruell giu 6.
(B) tilR2Ua Artrl UldR s8Rl i 89 1R Bid2lu Axudl del Sid 69,

(C) Audd xll anis [Bosan (as Besur) xA-a sia e,

(D) undd w1300 gL g, Wlalbior wad {ld Gleg sl 6.

AALIRRIHE USLA UAURLL A ..., w8 wu 8.

(A) s16i sisASs (B) 4a-iL sRi (C) [3ellum (D) Wil eumy

welldl siaadl slEaa 2 .......... Al sl A& s 69,
(A) Aun 21 Wi2guu-L AS2 (B) HoAallun 24 Seallum-u ucse

(C) AU A Wolluu-U sl (D) HoAlluu 2 Sealluu-il cuusieiine

wiellsivad A U4 59 sin 28 Sidl Al ?
(A) siMuu24 (cell membrane) (B) @id:sin421 (Endoplasmic reticulum)
(C) sin [Baua (D) BuRisd U4l i 1l

[ASP-1 - M] [Contd.
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141. In super conductivity, the conductivity of a material becomes
(A) Zero (B) Finite (C) Infinite (D) None of the above

142. What is the full form of FLOPS?

(A) Flying operations per second (B) Flow operations per second
GRS () Flat operations per second

143. Why do in some cases, doctors recommend antibiotics during a viral infection?
(A) Some virus contain bacteria like proteins that the antibiotic can identify and kill
(C) Antibiotics can dissolve the cell wall of the viruses

(D) All of the above

144. The pitch of the voice of women is in general

(A) Marginally lower than that of men

(C) Much lower than that of men

(D) The same as that of men

145. Which of the following statements is INCORRECT?

(A) The radius of curvature of a concave mirror is twice its focal length

(C) The radius of curvature of a plane mirror is infinity

(D) The image formed by plane mirror is laterally inverted

146. Diffusion of light in the atmosphere takes place due to

(A) Carbon Dioxide _

(C) Helium (D) Water vapours

147. Permanent hardness of water is due to the presence of

(A) Sulphates of sodium and potassium _

(C) Carbonates of sodium and magnesium (D) Bicarbonates of magnesium and calcium

148. Which of the following cell organelles is absent in animal cell?

(A) Cell membrane (B) Endoplasmic reticulum

_ (D) None of the above

[ASP-1 - M] [PT.O.



acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


149.

150.

151.

152.

153.

154.

155.

D WAL 5y [Qaun e 9 ?

(A) HeselzAl HmL welles ugiel v €,

(B) 23UlAHL gEU AR vl (A1), Sl 8.

(C) dim He9ellaiA carya - :med s (swim bladders) siu 8.

(D) 23uldn HlaR - ol (uni-slu) i 6.

AUl A WA 53 Al uomlazi-l Geulrt cuacu e Aldl ay FunelR © ?
(A) [Quies- (Isolation) (B) ulRad- (Mutation)

(C) mlas wriedll (Natural Selection) (D) ealdu ue-in (Sexual Reproduction)

ofnRel “wale A’ Srwui [8a 53l 8, uig SIS ouoid 2allie Azl 2ud 8 3 34 d [Reld
sl 2umd Al e w69,

(A) dug (B) uezuld

(C) AAAML (D) Al AELAd

RURAML t{HIRRIAL $UL 17269 (S Uil uigdfl-l calsd 18 @ s 8550l Yren wa © ?

(A) 24269¢ 19 (B) x14269¢ 21

(C) 2xq29¢ 25 (D) 2x4269¢ 29

N8R [Barll 2122 - uodls Sveze [al2olan-l [ A Ul su1 eani Gemeul dl ?
(A) 22 [ (B) 3131

(C) Yru§23 222 Hlis A5 (D) 23+

A% [Qaias gL i nad -4 U5 sun sial A0 asa e ?

i, ounHl AHI2S GUoLdiA @dLdl [RUHL 244 $1A Bgal

ii. oumHi gl il nnasll we eiasi

iii. 282 GUABLALL bittd 5 AYAdL A HisA 54

(A) $5d i 2R i (B) $5d i ¢ i

(C) $5d i A1 i (D) $5d i

A2 WS *Rdg, 53 AU 24 YR wld2il 22 disueuni Aledl ay Avumi tlssid »uraal
19 €9 ?

(A) Brrus (B) Brer

(C) Heuuedl (D) e9l101e

[ASP-1 - M] [Contd.
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149.

150.

151.

152.

153.

154.

155.

Which of the following statements is correct?
(A) Fishes eat only animal matter
(B) Heart is three chambered in tadpoles

(C) All fishes have swim bladders

Among the living organisms, which of the following is the most responsible for bringing about
the origin of new species?

(A) Isolation _

(C) Natural selection (D) Sexual reproduction

The Constitution has vested the ‘residuary powers’ with the Centre. But the final authority to
decide whether the matter falls under residuary powers or not rests with

(A) The Parliament (B) The President

(C) The Rajya Sabha (D) The Supreme Court

Which Article of the Constitution of India safeguards one's right to marry the person of one’s
choice?

(A) Article 19 (B) Article 21

(C) Article 25 (D) Article 29

The concept of Public Interest Litigation originated in the following country

(A) Australia (B) Canada

(C) United States of America (D) Sweden

Which of the following tasks can be entrusted to the Gram Panchayat by the State Legislature?
i. Framing of rules and regulations regarding social affairs of a village

ii. Construction of maintenance of water sources in the village

iii. Levying and collection of taxes regarding public utilities

(A) iandii (B) i and iii

(C)iii and iii (D) iii only

Which Indian State has the largest number of seats reserved for the Scheduled Tribes in the
Lok Sabha?

(A) Uttar Pradesh (B) Bihar

(C) Madhya Pradesh (D) Chhattisgarh

[ASP-1-M] rro. I
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156. DA UL 53 / sul (At / [l ) / i 8 ?
i. 2uy sl 2ifdu A (ultimate authority) U2 (IR 43 6.

i, 2UH FAUSRAA 183 IR GIHIRRL AMIHL 9 s 2udal “eluardasll s1a” (objective
resolution) U2 &R Y5 €.

iii. “clisdl” Aoe $5d A AU Al UTd DS 247 2U[AS dlswdlA R 2040 & 9.
(A) $5d i A i (B) $5d i
(C) $5d i 2 i (D) i, ii 1 iii

157. DA WS s asman-t 8su-l 5w AR eRUAL UAHHl ARy e uand-l siaa

(PMO) 9y ¢q ?
(A) USRAUA 183 (B) e t81gR 2urAll
(C) WRIRY 2AS (D) S+€lau a4l

158. oflon adladl yaureu sHaq- el xdaid DA U 56 onoid @didl 8 ?
(A) sHA adlazd ndlHls2e (B) $-d1ari-u- G-
(C) AL AH A3d (D) i Hlldyeal

159. A WA 56 oAoraus Aue-l v sigHAL 27 A%l Anldefl Yl asu e ?
(A) AueHi AU U< (B) waL el Mt 241 vid
(C) (A) 211 (B) i (D) (A) 211 (B) U4l 418 <l
160. 3vs-2A%u ¥oit ouold-dl A~ ARl DAl W 1S mama @ d aud-dl 5« 4R gL
dlsiami 2udl edl ?
(A) 5% UIEL 21 AYsa welHidll 5265 AdanS il A% WElHL aneld
(B) 24429¢ 356, 357 i 365 il dlu
(C) 2uiogt Yt 22 s Az
(D) BuRlisd U4 518 ]

161. uRdly e -l sueid A1 W4 sun (e i ¢ ?
i, IR 2SR [Barremid) (el AueL Hagtin 2udl siu 6.
i, GURAT LIIRRL IR HI AHY £35 A% HI2 HUs[d $3-) Ao 2 9.
iii. 2ig10uat et [ARaloL 21 [AdReL e gi2u waw [QausHl B4 o HoR scuHi 204 69,
(A) $5d i 2 i (B) 54 iii wA i
(C) $5d i 21 i (D) i, ii 1 iii

E [ASP-1 - M] [Contd.
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156.

157.

158.

159.

160.

161.

Which of the following statements is/are correct?
i. The Preamble emphasises the ultimate authority of the people

ii. The Preamble is based on the ‘objectives resolution’ moved by Jawarharlal Nehru in
Constituent Assembly

iii. The word ‘Democratic’ embraces not only political but social and economic democracy as well
(A) i and ii only (B) iii only (C) i and iii only (D) i, ii and i

The Prime Minister’s Secretariat was changed to the Prime Minister’s Office (PMO) by the
Central Government under which of the following Prime Ministers?

(A) Jawaharlal Nehru (B) Lal Bahadur Shastri

(D) Indira Gandhi

The 4th report of 2nd Administrative Reforms Commission relates to which one of the following?
(A) Refurbishing of Personnel Administration
(B) Promoting e-governance

(C) Combating Terrorism

Which one of the following Provisions can be amended by a special majority of the Parliament
and consent of the States?

(B) Citizenship-acquisition and termination

(C) Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following recommendations of the Rajamannar Committee on Centre-State
relation has been accepted by the then Central Government?

(A) Transfer of certain provisions from Union List and Concurrent to State List

(B) Omission of Article 356, 357 and 365

(C) Replacement of Planning Commission with a statutory body

Which of the following statements are correct regarding Indian Public Finance?
i. Disbursement from public accounts of India are subject to the vote of Parliament

ii. The Indian constitution provides for the establishment of a Consolidated Fund of India and
Consolidated Fund for each state

iii. Appropriations and disbursements under the Budget are approved by Parliament like
Money Bill.

(A) i and ii only (B) iii and iii only (C) i and iii only (D) i, iii and iii

[ASP-1-M] rrro. Bl
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162.

163.

164.

165.

166.

167.

ig1orU BUR Auel (AR otord Dl WA sui (-l i e ?

i, 2iglrunt duiR saHi AagHl 516 eylfas Sidl Al

ii. 2053 §3 viid GHRAME 2nadl WA atia-dl Ut Aue WA 9.

iii. egularl cenmer (A 2due wa 52 cagadl st un .

(A) i, ii 2 i (B) 5 ii A1 i (C) 85 i A i (D) i ii
A%puHl [Fear ~ndfladl [Rues (appointment), [RuRsd 2an (posting) 244 t1édl (promotion)
.......... GIRL $AU 69,

(A) ABAULAAL B AL1Ad A1 UAHL

(B) u-ll B A€ Huu Al AFAUE 118 uAHA

(C) Axguld-u G2 Ae1dd 8 uAHel

(D) BuRlisd U4 518 Al

AR st3rll A ATl {3 ouoid ANA WS 53 / sui [ / [l ) /i e ?
(A) dril B22U AL AW AU HEd A UM Sl Al Y2l weul 69,

(B) d %54 strirll A ATl HavliA SUELElA 510541 A1 QiU 1A 2AHE Aul5m a1 e+l
Hlg s ydl wld ©.

(C) (A) A1 (B) bid
(D) (A) 21 (B) U4l 615 1l

auRdL vl e ouoid 1A W sy [ i © ?

(A) a-dl [HRs cuRd v2uld gl 9.

(B) d ual2y vgidd-i =l adls Ruad cas sia 6.

(C) d 5% 17 AU ARSI AAS U, 69,

(D) dnl HIRcArL APAAAHIA dHIH LRAAAHT Yl 855 84,

AL UL SUl Gl GTIRRIMIAL Y 855 Al ?

(A) NgHRAYSA Sl 855 (B) 2021l €55
(OERRIETUERES (D) [zl 55
§UAA9E 20(2) .ovevevene A uldeignl amd 52 69,

(A) Ulcurl (a3 18l el $o wisan
(B) s o il HI2 SlSURL al5d BuR 2sell ay R s1H AR d- Qe suua
(C) (A) i (B) tir

(D) (A) 211 (B) U4l 415 -l
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162. Which one of the following are correct in respect of parliamentary control over the Budget?
i. Parliament has no say in the preparation of the Budget
ii. Parliament has the power to increase expenditure charged on the Consolidated Fund
iii. Parliament has no power to impose a tax without the President’s recommendation
(A) i, ii and i (B) ii and iii only

(C) i and iii only (D) i and ii only

163. Appointment, posting and promotion of District judge in a state are made by
(B) Chief Justice of the high court of the state in consultation with the Governor
(C) President in consultation with the High Court
(D) None of the above

164. Which of the following statements is/are correct regarding National Legal Services Authority?

(A) Its objective is to provide free and competent legal services to the weaker sections of the
society

(B) It issues guidelines to the state legal services authorities to implement the legal programmes
and schemes throughout the country

(D) Neither (A) nor (B)

165. Which of the following statements is INCORRECT regarding the Attorney-General of India?
(A) Appointed by the President of India
(B) Qualified to be appointed a Judge of the Supreme Court

(D) Shall have right to audience in all courts in the territory of India

166. Which of the following is not a Fundamental Right in Indian Constitution?

(A) Right to pollution free air

(C) Right to legal aid
(D) Right to education

167. Article 20(2) incorporates a prohibition against

(A) Testimonial compulsion _

(C) Both (A) and (B) (D) Neither (A) nor (B)

[ASP-1-M] rrro. B
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168.

169.

170.

171.

172.

173.

174.

QA1 U4 56 AL viidl Ad AL ?

(A) neaallse (Sollu siuA) - A$1ULU M2 51udA AR5l 84 €9,

(B) uRmie (H=3tn) : Aladl sgiaani wdal su-l Gudl x1eiad usdlan 2 69,

(C) uldviy (idlollarr) : (R 2Ag1adl g1 AR AxAui A 20adl cuotdimi il - s 34 8.

A o

(D) 28512 Y291 (sall-alel) : M8 ue dsueu Ad uAdl wgal [a3e 8.

uglalmi (3mdu: (Creamy layer) B s w2 DA W4l 55 A@faD Rugs sami
sl gdl ?

(A) %A 20R. i, [Asu ulld (B) ¥l IR, v, Hitlas Alld

(C) %A AHrig~ Al (D) %3 A% AR AMld

=

URArl AATR ANELAA HFAIR AT 51(A) U (F) Ui Bedut sul Yayor, “Aul—Ad Agld” - wal

.......... 8.
(A) MiRal 2Azgla- [aldua (B) g L 24 Al
(C) MRdxl [BraimetRsa (D) alld> ANAN £3R01A BgMHAA YRl

AAE i AU [AAAFHI L850 22802 cuoid N1 WS 53 / sul (At / [Qa-l vig [ viei & ?
(A) 4o vitRRmi &l siS garas sdl 1dl.

(B) 2q4RAd aldil 214 YR gld w2 2uraRiHl Ao saHi 2udl 8.

(C) »uRetaL 2024 YA\ donaini 2ucy 8.

(D) BuRlsd dAxIM

e tissHi ueurll Sea [Bauidl uratoll -l sieirdl Biud o 2l d ueuHl siesq vudl
wddl R s ase ?

(A) 30 [Baril (B) 45 [gaal (C) 60 [2axil (D) 75 [Baxil

e WAL s ApUL “art 3 olard- HIsE L Al uam avid A32ud 530 ¢dl ?
(A) 3%21d (B) 31 (C) suiles (D) s3luu

AU AR vuA gegElil euotd DA U5 5y / sui [ / [l vilg [ viei 8 ?
i. GriwvisHi 2uleonld (ARl adlaz

ii. Hellywi uddla [QzaiRil adlae

iii. AR 21 5269 W2 w21 (A5 ol 2y

(A) s5d i (B) $5cL i ¢ i

(C) $5d i 2 i (D) BuRisd U4l i 1l

[ASP-1 - M] [Contd.
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168.

169.

170.

171.

172.

173.

174.

Which of the following pairs is incorrectly matched?
(A) Habeas Corpus : outlaws illegal detention
(C) Prohibition : forbids overstuffing of jurisdiction by inferior courts

(D) Quo warranto : strikes at illegal usurpation of public office

Which of the following committees was appointed to identify the creamy layer among the
backward classes?

(A) Justice R.N. Mishra Committee (B) Justice R.N. Madholkar Committee

(C) Justice Ram Nandan Committee (D) Justice Rajendar Sachar Committee

According to the Supreme Court of India, the foundation of ‘Composite culture’, as mentioned
in clause (f) of Article 51 A, is

(A) The diverse culture of India
(C) The secular fabric of India

(D) The values evolved during the freedom movement

Which of following is/are INCORRECT regarding reservation of seats in Parliament and State
Legislative Assembly?

(A) The reservation provision was not there in the original constitution
(B) The reservation has been provided for Scheduled Castes and Scheduled Tribes

(D) All of the above

How many days of absence of a member from House meeting without permission makes the
Presiding Officer to declare his/her seat as vacant?

(A) 30 days (B) 45 days _ (D) 75 days
Which of the following states initiated the ‘One Day Governance Model’ for the first time?
_ (B) Kerala (C) Karnataka (D) Haryana

Which of the following statements regarding the special responsibilities entrusted with the
Governor is/are INCORRECT?

i. Administration of Tribal areas in Uttarakhand
ii. Administration of Hill areas in Manipur
iii. Establishment of separate development boards for Saurashtra and Kutch

(A)ionly (B) i and ii only

(C) ii and iii only (D) None of the above

[ASP-1-M] rrro. |3
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175.

176.

177.

178.

179.

180.

181.

2l W) sta sienl At 42uag el ?

(A) 2el5im AR 215 S-Sl

(B) SR~ 0yd2dl 3qaun-2 20008 25 S
(€) s1flAlan M- 218 Sl

(D) BuRlisd U4 518 ]

A2 Aellni 2uoudl ue sy ea ?

ABE2, BCF3, CDG5, DEH?7, EFI1L, ..........

(A) FGJ13 (B) FGJ15

(C) FGH13 (D) Gu- U4l 51 ]

uaH 10 wglds Avaizii gl Rl ..........
(A) 3025 (B) 4096
(C) 5125 (D) Guu U4l 5i 1l

([Rg2n : uar 178-179) 1Al [QoLdiAL S112YdS AU S 2 URHALHL FAUGL B,

s oLl udauni, @aldsuni 55% Wy aul, AU 647 WA qA, 56% Auldanni wa au,
24% @aldsun w1 vA@ul, 35% A 214 uuldannl, 277 aldsu 244 arwlasnni, 244 5%
Bi5ul [Quani 4.

AHIH AR [ANAIHE W sid Xl estaudl sed) ?
(A)3 (B) 4
(C)6 (D) Bua-L U4l 515 )

ol adlui [QenellAi) Avan 200 Sia, dl Wit Paldsunui sear wa au 8l ?

(A) 10 (B) 20

(C) 30 (D) Bua-L U4l 51 Al

s vl s [Aeues gl cuatall 23 a4y ad . s 2 Al ol qvan d o [Qeuers gl
GUOLAUHE 21d dl 9 AN a8 69, dl d [Aeuarsd yeu seg val ?

(A) 31 (B) 35

(C) 37 (D) Gua-iL U4l 516 Al

25 91520 AR5 AS HlUL 58], ‘A HIRL ELEIAL VSHIA Al YA 6.7 dl d 91520 Hl-L 018 sUl vl
q1d ¢ ?
(A) *ud (B) s1s1

(€) Ras (D) Gua-iL U4l 515 Al

[ASP-1 - M] [Contd.
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175.

176.

177.

178.

179.

180.

181.

Which one of the following does not have executive powers?
(A) Telecom Authority of India
(B) Insurance Regulatory and Development Authority of India

(C) Competition Commission of India

What is the next term in following series?

ABE2, BCF3, CDG5, DEH7, EFI11,

(A FGII3 (B) FGJ15

(C) FGH13 (D) None of the above
Sum of cubes of first 10 natural numbers is

(@302 (8) 40%6

(C) 5125 (D) None of the above

(Directions : Questions 178-179) : Read the following details carefully and answer the questions.

In a board exam, 55% passed in biology, 64% passed in English, 56% passed in social studies,
24% in biology & English, 35% in English and social studies, 27% in biology and social studies,
and 5% in none.

Percentage of passes in all the three subjects is?
(A)3 (B) 4
(©6 (D) None of the above

If number of students in the class is 200, how many passed in only biology?

(A) 10 (®)20

(C) 30 (D) None of the above

A number when divided by a divisor leaves a remainder of 23. When twice the original number
is divided by the same divisor, the remainder is 9. What is the value of the divisor?

(A) 31 (B) 35

- (D) None of the above

Pointing to a boy, Meena says, ‘He is the son of my grandfather’s only child.” How is that boy
related to Meena?

_ (B) Uncle

(C) Cousin (D) None of the above

[ASP-1 - M] [PT.O.
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182.

183.

184.

185.

186.

187.

188.

189.

15 oy 2udl, 1777 - [ sul iR ¢l ?
(A) AHAR (B) tyacuR (C) gsaR (D) alRar

o Y

15 9L 51010 A% 40 WH 81, dl d % S10-1L See Ao a3 (5.0, a9l ?
(A) 925 (B) 1125
(C) 1200 (D) Guxu U4l 518 1l

25 52Ul 34 1:25000000 €. d 52U UR 6L A8 4 A 2R 8. dull a2 ardlds vidR s2¢ 82l ?
(A) 100 (34 (B) 1000 [3+l
(C) 10000 (31 (D) Bua-L U4l 516 Al

-

YAy 10 2A[ARU%TU HuaAll HEARY Sedl a9l ?
(A) 11 (B) 11.5
(C) 12 (D) Bua-L U4l 516 Al

Y

A s A s AssAU Bud-u 75% Fedl Het uR dadl 10% viie dl iy, dl d Aissy Bud u2
dyaidl 24l sl 1l ?

(A) 12% (B) 15%
(C) 17.5% (D) Bu-u U4l 5iS )

25 sim215221 50 [BauHi x5 [Baua st-uaaidl €. d 112 d 50 Wil 215 6. A3, 25 [Bau sue 1A 40%

-\

S YRl AL 6, dl 2L 51 10 [Bau add yel s2a1 sedr ari? Wil il ?

(A) 20 (B) 25

(C) 30 (D) Bua-L U4l 515 Al

s WA Baal e (inverted cone) 251 6. d-ll G 8 AHL 1 d-l Bu-u viear cuall B

5 Al 6. d welell 2la Yol Mg 6. R dHi 0.5 (e Alu-i dlow (spherical lead shots)
WAL 2 1R Al ot wiell oigi sl ou 8. dl 52 Alzu- olon Awsani i gl ?

(A) 50 (B) 75
(C) 100 (D) Gua-L U4l 516 Al
A2 WA 5y [Qeun 0 efl ?

(A) Ul 2 15 AHIARGUY A5 UL €9,

(B) AHIARGUY, A5 2 HLs AHAGL AGDSIRL UL 6,
(C) ARA Hs UHOUY AGHSIA UL B,

(D) AHaAdOHL ddld vell steviel sl 6.
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182.

183.

184.

185.

186.

187.

188.

189.

The day of the week on 15t January, 1777 was?

(A) Monday (B) Wednesday

(C) Friday (D) Saturday

If the weight of 15 sheets of paper is 40 grams, how many sheets of the same paper would weigh
3 kilograms?

(A) 925 (B) 1125

(C) 1200 (D) None of the above

The scale of a map is given as 1:25000000. Two cities are 4 cms apart on the map. The actual
distance between them is

(8) 100 ks (@ 1000kms

(C) 10000 kms (D) None of the above

What is Median of first ten prime numbers?
(A) 11 (B) 11.5
(©)12 (D) None of the above

What profit percent is made by selling an article at a certain price if by selling at 75% of that
price there may be a loss of 10%67?

(A) 12% (B) 15%
(©)17.5% (D) None of the above:

Acontractor hasto build awall in 50 days. He employs 50 men for the same. However, after 25 days
the work is only 40% complete. How many more men need to be employed to complete the work
10 days before time?

(A) 20 (8)25

(C) 30 (D) None of the above

A vessel is in the form of an inverted cone. Its height is 8 cm and the radius of its top which is
open is 5 cm. It is filled with water up to the rim. When spherical lead shots, each of radius 0.5
cm, are dropped into the vessel, one fourth of the water flows out. How many number of lead
shots dropped in the vessel?

(A) 50 (B) 75

(C) 100 (D) None of the above

Which of the following statements is not true?

(B) A parallelogram is also a trapezium

(C) Asquare is also a rhombus

(D) The inscribed angle in a semi circle is right angle.

[ASP-1-M] rrro. |23
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*H

190.

191.

192.

193.

N

((R2a : 2t 190-192) : DAL 2ues1yRs A3 ALl s1Yds 10U 5 21 d U 20aEld
ui-l G2 2.

TS6UK7%*4JO@23LPI98A#YNS5W&

A2 W 5y sieu 931ell 1730 2eu 92

(A)P (B) 9

(C)8 (D) Bua-L U4l 516 )

Guz-+l siellui 2ial s2a1 youaRl (alphabets) 9, § B4l dd S161 21s HUUAR (alphabet) 2 dRd FHEL
s Aval (number) giu ?

(A)0 B)1

(C)2 (D) Gu-L U4l i85 -l

o felluidl st 68l »isl (even digits) L8l eami »ud dl A W sul wes ‘@ -l wuell ds
uixHl ¢l ?
(A)9 (B)P

(C)A (D) Bua-L U4l 515 Al

Vs ML WA 31. 480, uRull Avaddl s 3[R, uin 3R 214 e 3R a4Ll Ai2i-L agzu ©. dl
d-l wA g4 sedl aaell Hiel 2l ?
(A) 75 (B) 90

(C) 96 (D) Bua-L U4l 516 Al

(A2 : ua 194-198) : 12 puUe UL, AZdL $, @, %, & al # A saldan w1 WHl Gualdmi
daqru e

‘A$ B’ 2ied A 2 B sl il wet A2l 3 Hi2l uat Al
‘A@ B’ %i2d A % B sl Hizl uRl Al 3 uuil ue -l
‘A% B’ 212d A % B $2dl il U@t A2l 3 uuil ue )
‘A& B’ 2@ A 3 B $dl -l -l

‘A# B’ vi2d A %1 B sl Hial el

2L €35 UaAHi, 2uda [ 0y el d Qandl D2 suden o arel 124 1134 5y / s
ABduRl 202 / 208 d AL dHIRL st 24 d 2uul.

(A) %A HIA ARRL | 01 9,

(B) A HiA 1L 1] 01 8.

(C) %A diReL | aa 11 01 9.

(D) %A el | 3 11 U4 siSuet = -,

[ASP-1 - M] [Contd.
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190.

191.

192.

193.

(Directions : Questions 190-192) : Read the following alphanumeric symbol series carefully and
answer the question based on it.

TS6UK7%*4JO@23LPI98A#YNS5W&

Which of the following is 17th from the left end?

(A)P ®)9

©)8 (D) None of the above

How many alphabets in above series have alphabet to its immediate left and number to its
immediate right?

(A)0 B)1

- (D) None of the above

If all the even digits are skipped from the series then which of the following elements is fifth to
the right of ‘@’?

(A)9 (B)P

- (D) None of the above

A man has Rs. 480 in the equal amount of one rupee notes, five rupee notes and ten rupee notes.
What is the total number of notes that he has?

(A) 75 ()90

(C) 96 (D) None of the above

(Directions : 194-198) : In the following questions, the symbols $, @, %, & and # are used with
the following meanings as illustrated below:

‘A '$ B’ means A is neither greater nor smaller than B
‘A @ B’ means A is neither greater than nor equal to B
‘A % B’ means A is neither smaller than nor equal to B
‘A & B’ means A is not smaller than B

‘A# B’ means A is not greater than B

In each of the following questions, assuming the given statements to be true, find out which of
the two conclusions | and 11 given below them is/are definitely true. Give answer

(A) if only conclusion 1 is true.
(B) if only conclusion 11 is true.
(C) if either conclusion I or 11 is true.

(D) if neither conclusion | nor 11 is true.

[ASP-1-M] TreN 61 |
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194.

195.

196.

197.

198.

199.

200.

[Qul : W&P,P%G, G@I, 1#N C
aiel ¢ (1) N9%W

(1) N#W
[Qwdl : U@D,DSE,E%Y,Y&W D
aell : (hU@Y

(1) W %D
[Qual : Z%NN#K,K$M,M @R C
arel ¢ (HM$N

(1) M% N
[QuAdl : V&D,D%T, K$T, K#F B
aell ¢ ()V%F

(1) V% K
@l @ S$Q,Q@B,B &K, K#W B
aell  : ()W%B

(1)S@B
A siellui 2uouHl ue sy 2uasl ?
3,7,23,95, (?)
(A) 439 (B) 459
(C) 479 (D) Bua-L U4l 515 Al

AR YLAL S A8 S SAUHL U 69, 2AIHL 2491 218 ‘4° 2 drl Aeuaru 52l ?
(A) 91/216 (B) 113/216
(C) 2/3 (D) Bua-L U4l 516 Al

[ASP-1 - M]
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194. Statements . W&P,P%G, G@I, 1 #N
Conclusions : (1) N9%oW
(M N#W
195. Statements : U@D,D$E,E%Y,Y&W
Conclusions : (HhU@Y .
(1MW %D
196. Statements i Z%NN#K, K$SM,M@R
Conclusions : (I)M$N .
(1) M% N
197. Statements : V&D,D%T,K$T K#F
Conclusions : () V% F .
(1) V% K
198. Statements : S$Q,Q@B,B &K, K#W
Conclusions : ()W%B .
(Ims@sB
199. What will come next in the following series?
3,7,23,95,(?)
(A) 439 (B) 459
- (D) None of the above
200. Three dice are rolled together. What is the probability of getting at least one ‘4’?
(A) 91/216 (B) 113/216
(C) 23 (D) None of the above

[ASP-1-M] rro. I
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ASP-11
PROVISIONAL ANSWER KEY

Name of The Post Accounts Officer, Gujarat Accounts Service Class-2
Advertisement No 27/2019-20
Preliminary Test Held On  05/01/2020
Que. No. 001-200 (Concerned Subject)
Publish Date 08-01-2020
Last Date to Send 17-01-2020

Suggestion (S) .
Instructions / ¥Ueil

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted Physically in prescribed format of suggestion sheet.

(2) Question wise suggestion to be submitted in the prescribed format of Suggestion Sheet
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key, published herewith on the website. Objections should be sent
referring to the Question, Question No. & options of the Master Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet /response sheet. Objections shall not be
considered, in case, if responses given in the answer sheet /response sheet and submitted
suggestions are differed. For the purpose, the candidate shall attach a copy of his
answersheet/ Response sheet along with his application(s).

(6) Objection for each question shall be made on separate Suggestion sheet. Objection for more
than one question in single Suggestion sheet shall not be considered & treated as cancelled.

G edlR «flAs(l Yol Uldel scleil dBel] Avid], el ditl-Uel i 539 23Ld] tla
Qqi2l <&l
(1) GRedIR ditl-Yeil [Hud s #1Ad ditl-yUel Ussefl % salell 2.

(2) GRELAR UHUHIQ ditll-yUell % 5cll A 152 U WA €A [Add ditll-YUel UASell oistlol] %
GuldL 52l

(3) GRLdR UldlA uletHi HAG UsIYRASIHI OUIAE USISHIS Yo ditll-YUetl 3 ot Scll dHIH ditll-
YUl LS U URted 96 Yldoeld iR S| (IR UBUA)oll Ul SHiS Yoyl el d eeiHi
% Sl

(4) HIRe UYL Hi [FER sl w1 (dseu [Rd sl ditl-Yst el AdiHi w414 o1&l

(5) GRLAR B Uslell (A5 U dit] 2% 536 & W [AS@Y 10 B w16 YUAd B A sl GAed R Uld el
GrlRd&lHi A0 €ld] ASA. GAedR YUAd dled wal Grlaelell wdled (@3 &2l dl Ged R %Y
53¢ didl-yUst oAU AdIQ) A&l L &g HI2, GRLAR Uldls{l 1)) 18 Uldlefl adldElsil
W s ol 56s] (01518 50 Le] &2

(6) WS UB HI2 WS % ditll-YUel UsAs dlUd, WS % ditl-yAst UAsHi A sell aulR usils(l 941d 53¢
&2l dl A 2{ell ditl-Yst] el Adt1Q) A&l



001.

002.

003.

004.

005.

(G2t v 3 yogd (el v . A1 W5 53 [ / sai [t (g2 waar 21e- 20

$369 7

(1) 835 AR, SUUIR UBLE A €35 UUUR, ArlIR UL 8,

(1) [ sumtalanl Rigia .

(1) wst A nllse a1 (Sl uHlsa 8.

(A) 12 (1) (B) st (1) 244 (11)

@), =iy (D) Gu W4 Aisu 4.

(Gl wusald 249 s wrusala dgsiad Aecini 2 U4 sy Qi / sul [l 9 /

i 69 ?

(1) (g0 nruealaui [Qfay dairial gdl 5 daaHiy, wleiy [ qlust amami »ud 6, sl
25Ul A AssHN R 1S dai-isiA A0 JAvAmi 2uadl -9l

(1) (@ nrwuealani s12f 023 duiR 529 wsu 8l uig 2sUHl nrElAHE 512 023 AuIR 529
ASA 69,

@ o () w3y 8. (B) Ha (1) 3 8.

(C) (1) 24 (1) tin i 69, (D) (1) 21 (11) biAuigd) A5 4l
AR v As3HAML 1AL USL sUL 51 00 8 ?

@2 a2rag vug, ol Assg vug 2 Ao tlsg vud

(B) aw 6isd, vid, oflog A58, vitd 21 Alof aziad v

(C) MaM s34, vind, ollog aziad vt 244 -lof el v,

(D) BuR Q4 isuw -l

Y =

ol RasHn 2 sisvididl cudl 204 wasys uHeRl-l suslH usdl dsiadd i, d sid cudlzi-l dnqsl
$cl AR $AUML 24 €9, AL UL sUl dsiad-L siRe e ?

(1) GlsHi HRA 2 wHL $34 AS (1) ois alFa
(111) 613w 534 QY (1V) A5 21241 8l 15110 AR
(A) (1) 2 (1) (B) (1) &4 (111) @ . a2 av) ©) ), (1) 21 (1v)

e WA 53 [Qtun / sul [l sl 13 Al Ae el =) /0l 8 ?

(1) 513 AAY dur sl uan dd wan’ ueld ©, 20 Addi uds vudrl suslal Lu-ui
AH 20d ¢,

(1) 513 AAY duR sau-ll 6l Ad cuslai-dl usald’ 9, 20 Aani sl cuflail Luqni qami
2uadl 4.

(A) A (1) (B) WA (11)
(C) (1) &4 (11) i @) 2 (1) viduia 2sup Al
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001.

002.

003.

004.

005.

Dual aspect is a basic concept of accounting. Which of the following represent(s) the meaning of
dual aspect concept?

() Every receiver is also a giver and every giver is also a receiver
(11) Double entry book keeping principle

(111) Balance Sheet equation or Accounting equation

(A) Only (1) (B) Only (1) and (11)
@ o). anandny (D) None

Which of the following is/are true with regard to the distinction between double entry system
and single entry system of accounting?

() Under double entry system, various subsidiary books like sales book, purchases book etc.
are maintained whereas under single entry system no subsidiary books except cash book is
maintained.

(1) Under double entry system preparation of trial balance is not possible. But under single
entry system preparation of trial balance is possible.

. Only (1) is true (B) Only (1) is true
(C) Both (1) and (1) are true (D) Neither (1) nor (1) is true

Which of the following order is correct in a three columnar Cash Book?

. The first column is for discount, the second column is for cash and the third column is for
bank

(B) The first column is for bank, the second column is for cash and the third column is for
discount

(C) The first column is for cash, the second column is for discount and the third column is for
bank

(D) None of the above
A bank reconciliation statement is prepared with a view to settling the differences between

the cash book entries and the passbook entries. Which of the following are the causes of such
differences?

(I) Cheques deposited into the bank and credited

(1) Bank charges

(1) Interest credited by the bank

(1V) Dishonour of cheques or bills

(A) (Dand (I (B) (1) and (I11)
. (1, (1) and (1V) (D) (1), (1) and (1V)

Which of the following statement(s) with regard to preparation of trial balance is/are correct?

(I) The first method of preparing trial balance is the ‘totals’ method in which balances of ledger
accounts are taken.

(II) The second method of preparing trial balance is the ‘balances’ method in which the trial
balances are not taken.

(A) Only (1) (B) Only (1)
(C) Both (I)and (1) .Neither (D) nor (11)

[ASP-2 - M] rrro. |EN
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006.

007.

008.

009.

010.

H4 2t w8yl vdiqi oiBa D2l-u [Qan [l

(1) dm HSYAL VAL 247 251 AWR A S1-s2 A QS FURE 2Ud 8 247 dHi H ) waiil
i, BUASL ULSL ARAUHL A umi 204 €9,

(1) sl Masd-l aaRl, el didg e, sl [Rasda daeHl vie 214 20add Rasd-l
w2 - HEYAL v a5 Hd YAl v a9,

(A) = (1) Y 9. (B) Mot (1) 3 69,

@ () 21 (1) viA R B, (D) (1) 44 (11) sifuidll 2isuL i -4
cuRllerl- (ot 2Aeif8a Al [Qan-l (sl

(1) swllerd RuR 3l vud Adl 48 cid R gL 2 8 siaal §d-l Guis »ud R G wu 8.
(1) slleiRu agriami Guis, il ur gy, sMeir, UdUR 2im 51 5 vI2HE ML QLA G- AA8IRL

AL 204 69,
(A) WA (1) Y 9. (B) Mot (1) 3 €9,
@ () 2 (1) A i B. (D) (1) 2 (11) siAnisdl 25wl i -8l

g Aelledl Udlni ay 3l w3Ruid, duafa [Awiddl A ziaar 2 gl aoasd 1
ARllERL 2i5 Aual adR Alsaiia cuellel Udli uda e Al 2l 6. A1 WS sul [ sul 53R
cll (ellerz-u udaEll eulleidl udlui Ggmad 6.

.

(1) e cwleRn ol slaetdla g5l wa 9, 3i2d 3 adlleidl Ul Rasdui [Ru-l 252 214
el Ul asimi [l 218512

(1) cwlleidl Ul vitnel sieaua €.
(A) A (1) (B) W (I1)
@) 1 (1) vin (D) (1) &t (1) tiuied 2Asust

A WAL sy (A / sul [l A qwolleRi udal 214 aellerl [Ralt 5 yey-u dviaui 00y /

Al ?

(1) e cuollerR - U AHA At Ll ARl saHi 204 8, R dlleid Ralt 5 yal uwa
oLl uHLaL aRLdl sl »ud 8.

(1) i uHHL g2 el Mller girl ot HlleRiA Ysad Al and 158l sl © 5 o
cLofltR1A Uldint (S0 51l et sul 69, 1R Qe WLl Ba2L A1y 8l (urllelRl iRl
Rgr staw 91dlA oS A cuelleRina gsaig and: 158l sa-l 8.

(A) WAt (1) @)

(C) (1) 21 (11) i (D) (1) 2 (11) siAnigd) 25 1l

uRdAHl Guatami dadl [alay [uefl a2l 211 stdadlzain Aagl sirtaadl o3Rutd uqni uvild

@Rl 4l S-edlee s WS 2siG-2-2 2iis S-a 516221 22182 6ilS (ASB - [Rauel vl

)l 221 530, [Rau0dl 4l v (ASB)H 2au-L R a4 ?

(A) 2101 94, 1977 @210 20, 1977

(C) 214l yensS, 1977 (D) 214 qdwiR, 1977

[ASP-2 — M] [Contd.
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006.

007.

008.

0009.

010.

(I) Allrevenue expenditures and receipts are taken to trading and profit and loss account and all
the capital expenditures and receipts are taken to balance sheet.

Consider the following statements related to Capital and Revenue Account.

(II) Depreciation of fixed assets, interest on loans for business, loss from sale of fixed assets and
obsolescence cost are recorded as revenue expenditure in Revenue Account.

(A) Only (1) is correct (B) Only (1) is correct
. Both (I) and (I1) are correct (D) Neither (1) nor (I1) is correct

Consider the following with regard to partnership account.

(I) Partner’s fixed capital account is credited only when fresh capital is introduced or debited
when capital is withdrawn.

(II) Partner’s current account records all transactions related to drawings, interest on capital,
commission, salary and share of profit or loss.

(A) Only (1) is correct (B) Only (1) is correct
. Both (I) and (11) are correct (D) Neither (1) nor (I1) is correct

With a view to obtaining additional capital, managerial expertise or some other facility, the
partners of a firm may agree to admit one or more persons to the partnership. Which of the
following changes occur(s) when a new partner enters a firm?

(I) The new partner acquires two legal rights viz., right to share the assets of the firm and
right to share its profits

(1) The constitution of the partnership changes
(A) Only (D) (B) Only (1)
@ Both (1) and (11) (D) Neither (1) nor (I1)

Which of the following statement(s) is/are true with respect to admission and retirement or

death of a new partner?

(I) Gaining ratio is calculated at the time of admission of a new partner whereas sacrificing
ratio is calculated at the time of retirement or death of a partner.

(II) The purpose of sacrificing ratio is to determine the compensation to be paid by the newcomer
to the old partners who have sacrificed their share of profit whereas the purpose of gaining
ratio is to determine the compensation payable by continuing partners to the retiring or
outgoing partner.

(A) Only (1) @oniy ()
(C) Both (1) and (1) (D) Neither (I) nor (1)

With a view to formulating Accounting Standards to harmonize varied accounting policies the
Institute of Chartered Accountants of India has set up the Accounting Standards Board (ASB).
When was it established?

(A) 21st May, 1977 @225 April, 1977
(C) 21stJuly, 1977 (D) 21st November, 1977

[ASP-2 - M] rrro. |E
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011.

012.

013.

014.

015.

016.

sull 1Rl, 2013 Yot As3UAS UAS o1l o Su-dlail 12 duR 529 %34 8, R 5 —

(1) cal5aod su-l (1) «u-ll sudl (1) [Alsy syl (1V) 4iél $u-l
(A) Wt (1) 249 (1) 20 69, (B) |1zt (11) 44 (1) 0141 9.
@ (1), (1) 2 (1) 0 8. (D) Wat (1V) 3 8.

(Szuell iw yoyor Aau-2 Ruidlor ([QAeudlly 18-l 29gad) L 2Aoilda -1 A sy Q- / s
(-l 2 /i e ?

(1) 2u [Su0fl Qiwi-l Gea Gelldt Ay (23S 23)-l Awsudla wlRdl-i 218 na-u Risaia M
sl 89 5 % [Aldy us-l Uetel A Al Gewl2d 53, [Aldy clonlas [raRui s1mofldl 52 €.
(1) Gewor A (-2 n) 21 Bzl yueollysd w3Ruidd wan 524 AL,

~ A

(1) 2A 21 % wufla A8aaui Rig su-dl-u 2B wnudla uaast 20 2140 Audla ust sid dl,
(Qeualla MR dl 2 sBid wsnsla uaas- 2ua? o 0 A1 69,

(A) Wt (1) 249 (1) 20 69, (B) |1zt (11) 44 (1) 141 9.
@ (1) 217 (111 0 8. (D) ¥isuel i 4l
1518-301 22173 6IlS (ASB)lL 2undlsaL Yortd GusIuEL (Lease) sul Gudlu [uefl qizel (Ind AS) wi

qufare ¢9 ?

(A) Ind AS-7 (B) Ind AS-11 (C) Ind AS-16 @:ndAs-19
25182101 221738 6llS (ASB) ~iL 2undlsm Hoyor Astami usAAldl’ (Investments in Associates) $4L
cudlu [Rauell Qe (Ind AS) Hi axlae ¢ ?

@ As-28 (B) Ind AS-20 (C) Ind AS-12 (D) Guz U A5y dl

auRdly [Bauell 92wl (Ind AS) - 2 e o sl S=d-2dl (2215) @y & [ 5 —
(A) cliasiH sl BeMag, ALgstH 5 AL Al $A/A AHAA 53 69,

(B) -uiiflu -l

(C) axell-u unall shiuglai 5 50 dgia Aoilta Blas ul

@Gucisa arun

su-l w21 2013, 0l deisan (1) Yoot siSunt Susll uldinl st & 2riudia Yol Muis il 302 s8R

wisal {2 Ydlga 53 s ), R 5 —
(A) 2ulZ 5 G121 AT 20 Sl
(B) tils+l erennniia 202 Su-dl-l mu-a Aeuml s1a uaR s30 Al 20UA S,

(C) [Rud v 5 aeund sarll asasll 5 B Y 5 e sauni s 1 244 Sid dl.
@Gucisa aun

[ASP-2 — M] [Contd.
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011.

012.

013.

014.

015.

016.

As per the Companies Act, 2013, Cash Flow Statement (Accounting Standard-3) is required to
be prepared by every company except:

() aone-person company (1) asmall company

(111) a dormant company (1V) a large company

(A) Only (1) and (1) are true (B) Only (1) and (I11) are true
. Only (), (1) and (111) are true (D) Only (1V) is true

Which of the following is/are true in case of Accounting Standard i.e., Segment Reporting?

(I) The objective of this standard is to establish principles for reporting financial information,
about the different types for products and services an enterprise produces and the different
geographical areas in which it operates.

(1) An enterprise should comply with the requirements of this standard selectively.

(IIT) If a single financial report contains both consolidated financial statements and the separate
financial statements of the parent, segment information needs to be presented only on the
basis of the consolidated financial statements.

(A) Only (1) and (I1) are true (B) Only (1) and (I11) are true
. Only (I) and (111) are true (D) None is true

As per specification of Accounting Standard Board which Indian Accounting Standards
(Ind AS) incorporates ‘Lease’?

(A) IndAS-7 (B) Ind AS-11
(C) IndAS-16 @'nd As-19

As per the specification of Accounting Standard Board which Indian Accounting Standards
(Ind AS) incorporates ‘Investments in Associates’?

@ 1ndas-2s (B) Ind AS-20
(C) IndAS-12 (D) None of the above

The Indian Accounting Standard (Ind AS)-2 applies to all inventories, except:

(A) Work in progress arising under construction contracts including directly related service
contracts

(B) Financial instruments

(C) Biological assets related to agricultural activity and agricultural produce at the point of
harvest

. All of the above

As per Companies Act 2013, no company shall capitalize its profits or reserves for the purpose
of issuing fully paid-up bonus shares under sub-section (1), unless:

(A) itisauthorized by its articles

(B) it has, on the recommendation of the board, been authorized in the general meeting of the
company

(C) it has not defaulted in payment of interest or principal in respect of fixed deposits or debt
securities issued by it

. All of the above

[ASP-2 — M] [PT.O.
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017.

018.

019.

020.

021.

022.

023.
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M.

017. A company, empowered by its articles, can forfeit the shares of its shareholder when:
() “ashareholder fails to pay calls

(II) a shareholder has not paid any call on the day fixed for payment thereof and fails to pay it
even after his attention is drawn to it.

(A) Only (1) is true (B) Only (1) is true
. Both (1) and (I1) are true (D) Neither (1) nor (1) is true

018. As per the latest SEBI guidelines, underwriting of shares and debentures is:
(A) mandatory
@ rot mandatory
(C) mandatory based on circumstances
(D) not mandatory for own employees of the company

019. Which of the following statement(s) is/are true?

(I) Asper Section 2(43) of the Companies Act, 2013, “Free Reserves’ mean such reserves which,
as per the latest audited balance sheet of a company, are available for distribution as
dividend.

(11) A company cannot buyback its shares from any person through a negotiated deal whether
on or off the stock exchange

(A) Only (1) is true (B) Only (1) is true
. Both (1) and (I1) are true (D) Neither (1) nor (1) is true

020. State which statement(s) given below is/are false.
(I) Interestincome in case of a finance company is treated as a part of revenue from operation

(II) The aggregate amount of the balance of ‘Reserve and Surplus’is to be shown after adjusting
negative balance of surplus/loss, if any

(A) Only (1) is false (B) Only (1) is false
. Both (1) and (I1) are false (D) Neither (1) nor (1) is false
021. The change in the monetary expression of the financial data contained in the financial statements
is called .
. Foreign currency translation (B) Foreign Inflation
(C) Foreign Transactions (D) Foreign transmission

022. “The Indian monetary system has not succeeded in attaining its major social objectives
satisfactorily mainly due to unduly large credit of the banking system to the government”.
Which of the following committees came up with this observation?

(A) Narasimham Committee (B) Rangarajan Committee
. Sukhamoy Chakravarty Committee (D) Bimal Jalan Committee

023. “Auditing is a systematic examination of books and records of business or other organization in
order to ascertain or verify and to report upon the facts regarding its financial operations and
the result thereof.” Who defined auditing in this manner?

(A) M. L. Shandilya .Prof. Montgomery
(C©) F.R.M. De Paula (D) Taylor and Perry

[ASP-2 - M] SreN © |
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024.
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024.

025.

026.

027.

028.

029.

030.

031.

032.

Which of the following is/are feature(s) of auditing?
() Itis not analytical but critical and investigative
(II) Audit includes only financial information, not non-financial information

(1) 1t involves evaluation of the relevance, reliability and adequacy of evidence in support of
verifiable information

(1V) The auditor should be competent and independent
(A) (I)and (1) (B) (1) and (111) .(III) and (1V) (D) (I) and (1V)

Section of the Companies Act 2013 requires the auditor of the company to state if in
his opinion the financial statements present “true and fair view” of the state of the company’s
affairs at the end of its financial year, and of the profit and loss for its financial year.

(A) 140 (B) 141 (C) 142 @143

Which of the following is not a basic principle of audit?
(A) Integrity (B) Objectivity  (C) Confidentiality (@) Profitability

Which of the following is/are an advantage/advantages of audit?

(1) It protects the interest of stakeholders in the enterprise

(1) Itis a moral check on the employees from committing embezzlements

(1) It is a tool to create terror in the employees

(A) Only (1) (B) Only (1) .Only(l)and (1) (D) Only (1)

“The audit evidence available to the auditor is persuasive rather than conclusive in nature.”
Which of the following best explains this statement?

(A) Itis an advantage of audit .It is a limitation of audit
(C) Itisa part of audit (D) None of the above
CAATs stands for:

(A) Cornwall Air Ambulance Trust

(B) Children Air Ambulance Trust

(C) Centre for Alternatives to Animal Testing
. Computer Assisted Audit Techniques

Permanent audit file contains:
(A) Copies of management letters (B) Audit programme
(C) Analysis of transaction and balances .Analysis of significant ratios and trends

Objective of an audit is to formulate an overall opinion on:

(A) Cost Statement .Financial Statement

(C) Books of Accounts (D) None of the these

The most comprehensive type of audit is the system audit that examines suitability and
effectiveness of the system as a whole.

(A) Quantity @ity

(C) Preliminary (D) Sequential

[ASP-2 - M] rrro. K
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033.

034.

035.

036.

037.

038.
039.

040.
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033. Consider the following.
() Statutory Audit (1) Annual Audit
(1) Tax Audit (1V) Final Audit

Select the right pair out of the pairs presented below based on the interrelationship between the
above audit types.

(A) (1)and (1) ®) (1) and (111) @) and (1) (D) (1) and (1V)

034. Which of the following may be the limitations of internal control?

(I) Deficiencies in organizational structure

(1) Size of organization

(111) Abuse of power

(1V) Obsolescence

(A) (Dand (I (B) (1) and (1V) (C) (1), (1) and (111) .AII of the above
035. Which of the following is not a need of internal audit?

(A) Enhanced compliance requirements .Conventional business models

(C) Increasingly competitive environment (D) Increased size and complexity of business

036. A voucher could become missing due to:
(I) Wrong or careless filing of document
(1) Unintentional non-awareness of statutory requirements
(111 Intention to hide the misappropriation by a person
(A) Only (1) and (1) (B) Only (1) and (111)
(C) Only (1) and (1) .AII of the above

037. Read the following and say which is/are correct.
(D) Internal audit is an independent appraisal activity
(1) Internal check and internal audit are one and the same
(111 Internal auditor has a big role to play in preventing fraud
(1V) Audit committee is only luxury to the company

(A) Only (1) and (1) (B) Only (1) and (111)
@ onty (1) and (1) (D) Only (111) and (1V)
038. In an audit system, check list contains the instruction to be followed by the
(A) Internal Auditor (B) External Auditor
. Audit Assistants (D) Employees of the organization

039. First auditor of the company is appointed by the BOD within
(A) 15 days .30 days (C) 45 days (D) 60 days

040. While conducting audit of financial statement auditor needs to comply with
(A) Cost audit standards (B) Secretarial standards
. Auditing standards (D) None of the above

[ASP-2 - M] rrro. k&1
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041.
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043.

044.

045.
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041. Consider the following statements with regard to audit report and state which is/are false.
(I SA 700 stands for “Forming an opinion and reporting on Financial Statement™’
(II) Audit report reflects the work done by the employees
(1) An audit report is addressed to the authority appointing the auditor

(IV) The auditor gives a clean report when he does not have any significant reservation in respect
of matters contained in the financial statements

(A) Only () and (1) .Only ) (C) Only (1) (D) Only (1) and (1V)

042. Which of the following is/are true?
() Final dividend is declared in the general meeting
(1) Statutory auditor is appointed by the shareholders in the general meeting
(1) Internal auditor can be removed by the Board

(IV) If the debentures are issued as collateral security to the banks or creditors then auditor
needs to ensure that such issue is approved by debenture trustee

(A) Only (1) (B) Only (I) and (I1)
. Only (), (1) and (111) (D) All of the above

043. Consider the following statements in relation to cost accounting:

(I) Cost Accounting may be defined as accounting for costs which begins with recording of
income and expenditure and ends with the preparation of statistical data

(II) Cost Accounting may be defined as accounting for costs which begins with the preparation
of statistical data and ends with recording of income and expenditure

Choose the right answer given below:
@ oniy () is right (B) Only (11) is right
(C) Both (1) and (1) are right (D) Both (I) and (11) are wrong

044. Which of the following may not be an objective of cost accounting?

(A) To ascertain the costs under different situations using different techniques and systems
of costing

(B) To determine the selling prices under different circumstances
(C) Todetermine and control efficiency by setting standards for materials, labour and overheads

. To determine the methods of recruitment of employees in the company

045. Which of the following is not correct?
(A) Fixed cost is the cost that does not change with the change in the volume of production
(B) Variable costisthe cost of elements which tends to vary directly with the volume of production
(C) Variable cost may be direct and indirect in nature

. Semi-variable costs include only variable cost and not fixed cost

[ASP-2 - M] rro. K3
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M.

046. If fixed deposits in the bank are proposed to be withdrawn for financing a project, the
cost would be the loss of interest on the deposits.

(A) Replacement Cost (B) Differential Cost

. Opportunity Cost (D) Marginal Cost
047. The depreciated book value of an old asset is an example of

(A) Abnormal Cost (B) Replacement Cost

(C) Differential Cost .Sunk Cost

048. Given below are the different methods of costing and the establishments in which they are used.
Find out the incorrect one.

(A) Batch Costing — General Engineering Factories
(B) Process Costing — Chemical Factories
(C) Joint Costing — Petroleum Industry

m . Operation Costing — Gas and Electricity
049. Which of the following is/are not true in case of FIFO method?
(I) In case of falling prices, this method gives better results
(I1) Closing stock represents the market price

(IIT) In case of falling prices profits tend to rise due to lower material cost
(IV) The cost of material used reflects the current market price

(A) Only (1) and (I1) are not true (B) Only (1) and (111) are not true
. Only (1) and (1V) are not true (D) Only (1V) is not true

050. Issue Price = Total Cost of Materials in stock + Total Quantity of Materials in stock. Which of
the following costing methods is represented by this equation?

(A) Moving Weighted Average Price Method
. Weighted Average Price Method

(C) Moving Simple Average Price Method
(D) Standard Price Method

051. Which of the following is/are a feature(s) of marginal costing?
(I) Division of total cost into fixed and variable by picking out portion of semi-variable costs also
(II) Valuation of stocks such as finished goods, work-in-progress is valued at variable cost only

(IIT) The fixed costs are written off soon after they are incurred and do not find place in product
cost or inventories

(A) Only (1) (B) Only (I1) (C)Only ()and (11) @Al
052. As per break-even analysis, which of the following is the formula of shut down units?
Shut down costs — Fixed cost Fixed Cost — Shut down costs
(A) Contribution per unit Contribution per unit
Shut down costs — Contribution per unit Contribution per Unit — Fixed Cost
©) i (D) Shut d t
Fixed Cost ut down cos
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053.

054.

055.

056.

057.

058.

2 20U sl (S0l weald 219 e dlu el usld azel dgtad dil 247 53008 © d 158l s20

(A) sl ([Baell usald 2 su-flanRn gl daldad 8 o Awadla [Rauedl yeald 21 HAo-l
o33l Yoyt A& 8.

@-izuafu Rauell wealdg yoyd sl el asaui usiy, Auasla uRd- Hoas 8, sur
AR Sl (S0l uealdui cuagiz-l iy, sus waisl uaslid usia 9.

(C) sl [Rauell utaldai sadui w69, iR Auasly [Raell ueald aiu-l .
(D) il (16l ueald-l Guaidisdl sust 9, o AAasla [Buell ualaq Guuldsdl x4idRs .

A1 U4 unqe [Asduardl qenl 56 © ?

() 1wl [Ru2 244 alddui [Qeuwad siu 9.

(1) GeulZa 2isul 21 dAA AsHL AL 81U 9,

(1) AHd2 2UAM 5d 215 o st uRRald sald 6.

(A) (1) 244 (11) (B) (11) 24 (111)

[ JOXERTUD (D) Buz U4 A5y «dl,

AR 5120221 RlR SU-lll il wsusla 2eurea YAs 8. As1-2al ARinR At Ad 56 S ?
() daRlEZHdaui atiRl gL

(1) SIMERL, WAuHIA 24 Wl sl Guaiol gl AlHid usdHi a2ist s3AA.

(111) 2491 A51-221-L QRUTR Y21l Ueta-l A1 YR L 5(7sd 53,

@) () (B) (11) 244 (111)

(C) (1), (11) 24 (111) (D) BuR U4l visum 1l

D2 W 56 Al ouol yarardl ueald ol ?

(A) A1 or20Hi ARl (B) At [Zuani auii

(C) [RuR u3d uardld @102 rig A Gradm 22 uR nd) vllA

A 200a Wl Luui A 214 il [Aseu wrie 531,

(1) st-ozanl 2udv 2 [Qfdy 20 ugfaot vl 211 2ias-l 451yl 2142 29 52 9.

(1) st-oreail 2udnui % [Bigl sl v, dam uud 92 6 d auqelbg 9.

(1) Belagall Gua-dl duaRviA Aciudl-l unl’ 58 6.

(A) |t (1) 3 69, (B) = (1) 13 €9, C)ua (s, (@era o wai 8.

Al 2004 WA ucudt usdr utald 24 qHagll usa usala-l sul dasiad wiei ¢ ?

(A) M8 U3dR Ut[dHi da19L o2l tigdldl Asl e 89, o1 AHAL usa uealdui dau o
50l Beulgrt 2l HLEALL 5L LB 8,

(B) Ueu& U3dR Ut[dHi 2UmR 22150 HeUisHi RUR usd-l aHid adl 9, R adsll usd
uedui a6,

(C) Neust usdr utald augeltigai daue ool ol 1M oi-id 6, R wdell usd utald 2u
ouoldHl Hee3u -l

@2 usaR weald a8, wu Amde sar i WA B,
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058.

Read the following distinctions between financial accounting and management accounting and
say which one is wrong.

(A) Financial Accounting is governed by company law whereas Management Accounting is
governed by needs of managers

. The basic functions of Financial Accounting are decision support, provision of management
information whereas that of Management Accounting are transaction recording, publication
of external financial statements

(C) Financial Accounting is publicly available while Management Accounting is confidential

(D) Users of Financial Accounting are external whereas users of Management Accounting are
internal

Which of the following are assumptions of break-even analysis?

(I) All costs should be segregated into fixed and variable

(1) Production units and sales units are equal

(111) A break-even chart can depict the position of only one product

(A) (1)and (1) ®) (iyand (111) @), (1) and (111) (D) None

Better P.V. Ratio is an indicator of sound financial health of a company. Which are the ways to
increase P.V. Ratio?

(I) Through increasein selling price
(II) Through reducing marginal cost by efficient utilization of men, material and machines
(111) Through concentrating on the sale of products with relatively low P.V. Ratio

@ ()and ) (B) (I)yand (111) (C) (1), (1) and (111) (D) None

Which of the following is not a method to improve margin of safety?
(A) Increase in sales volume

(B) Increase in selling price

(C) Lowering fixed cost

. Keeping the break-even point at the highest level

Consider the following and choose the right option given thereafter.

(I) Profit Volume Chart indicates the impact of cost and revenue on profit at various levels of
activity

(I) In PV chart, the point where the profit line intersects the sales line is the break-even point.

(IIT) Sales line beyond the point of intersection is called ‘margin of safety’

(A) Only (1) is correct (B) Only (1) is correct

(C) Only (1) is correct .AII are correct

Which of the below mentioned distinctions between direct costing and absorption costing is wrong?

(A) In case of direct costing profits vary with changes in sales volume whereas in case of
absorption costing profits vary with production volume rather than with sales volume

(B) Inventory value excludes fixed cost in case of direct costing but includes in case of absorption
costing

(C) Direct costing facilitates calculation of break-even sales volume while absorption costing
cannot help in this regard

. Direct costing is complicated whereas absorption costing is easy.

[ASP-2 - M] rro. K
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060.

061.

062.

063.

064.

uRad+ala igpuardl 2a- wvRk 2dd ugltqu Aecini [Aldy 2 2da Qe 8. uRadqdla
viglopuail Al DA WS 54 / sui (At / [ 0 /i 8 ?

(1) swRs oiglau-ogean el AeMul siu 6.

(1) uRad~alla vigterust cuer eid 8, R Yo vigtrust i-udl asi .

(A) (1) 2 (11) iR 00 9. @ () 0y 3.

(C) WA (11) Wy . (D) (1) 2 (11) i i .

2igloruat duR sal uthld 5 Fui viewrust duiR sd1 €35 uHd ol o uglizilg Yd:qeuis au 8,

(A) uRadnalle vigeruat @ vicrua
(C) 2Ul&21 vig1pua (D) 5110021 vigirua

D21 U4 sul wmer usd weala-i Gaa el ?

(A) 51102 21 Sre&Mdll Yeais 2 20uARs 2R Y1 s,
(B) urul-l 22 244 [Qa -l [Qeduel girl uid »igfd s2dl.
(C) 2iE12UA AUIR SAUHL USIUZY UG,

@ 22uot-Da 5ol yeuisui ugiagu ag.

44 Bradlar oppia 21 [RUR casaion cisinn 21 S deies- eidiog ume 8. A 04 53y
Bradlor oeiini-u Aol 4l ?

(A) d S50 izl st Aoous-l sen yad ©.

(B) d UdlA i3 2uu 9 3 % $5dlé] ur+l dwir-l sruafld) 53 69,

(C) a Areuni [ o eisinui 52512 Al Ssdlél A1 HOAAL ACIHE AL 53512 YAA D).
@ 22 cwrsausu cigin-u oyl Ns-u - wHide udl el

A2l W 5y / sai ydunvu-u waulasoid G- Aecini 02 / 021 6 ?
(1) gadl ugdz i Gruasd-l AlssAU 58U Y 5 AL {9 Add SIA 89, UTd RULUE A4AL € AL 8,

(1) S5adl Yd-l usd 2 Gruasdidl AlssA 81 Ay 5 UL gl Add a4 fd ad 9, uiq
ARGE dlst €3 Al €.

(A) |t (1) 3 69, (B) A (1) 012 €9.
@:in (1) 24 (1) wai 8. (D) (1) 27 (1) 6iA 0 ).

AH Ud AUIR (risk-return trade-off) AtilAd {12 [Qtunl 2uqui al.

(1) waiflu Raerd geles i) dul ur S a2 wn .

(1) uRidly Qa3 i ARSI AU B and-l 62 842 9.

A 2udeunidl 0l [Aseu urie 53U,

@ () e 8. (B) Ha (1) 3 .

(C) tir (1) 24 (1) i 8. (D) (1) 2 (11) i <),
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A flexible budget is designed to change in relation to the level of activity actually attained. Which
of the following is/are correct with regard to a flexible budget?

() Itis sometimes referred to as a multi-volume budget

(1) Flexing a budget takes place when the original budget cannot be made
(A) Both (1) and (1) are correct .Only () is correct

(C) Only (1) is correct (D) Neither (I) nor (1) is correct

A method of budgeting whereby all activities are re-evaluated each time a budget is formulated
is called

(A) Flexible Budgeting .Zero Budgeting
(C) Rolling Budgeting (D) Performance Budgeting

Which of the following may not be an objective of standard costing?

(A) To provide a formal basis for assessing performance and efficiency
(B) To control costs by establishing standards and analysis of variances
(C) To assist in setting budgets

. To assist in performance appraisal of accountants

Capital gearing ratio is the proportion of fixed interest bearing funds to Equity shareholders
funds. Which of the following is not related with capital gearing ratio?

(A) Itindicates the degree of vulnerability of earnings available for equity shareholders
(B) It signals the firm which is operating on trading on equity

(C) TItindicates the changes in benefits accruing to equity shareholders by changing the levels
of fixed interest bearing funds in the organization

. The fixed interest bearing funds in the ratio do not include preference shares

Which of the following is/are correct with regard to the traditional approach of capital structure?

(I)  The cost of debt capital remains more or less constant up to a certain degree of leverage but
rises thereafter at an increasing rate.

(I1) The cost of equity capital remains more or less constant or rises only gradually up to a
certain degree of leverage and rises sharply thereafter.

(A) Only (1) is correct (B) Only (1) is correct
. Both (1) and (I1) are correct (D) Neither (I) nor (1) is correct

Consider the following with regard to the propositions of the risk-return trade-off.
(I) Financial leverage has no effect on the wealth of shareholders

(I Rate of return expected by shareholders decreases with financial leverage
Choose the right option given below.

. Only (1) is correct (B) Only (1) is correct

(C) Both (1) and (I1) are correct (D) Neither (1) nor (I1) is correct

[ASP-2 - M] rro. Bl
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070.

196141 MsUAA 1A AU ACAAHI, AU STUUA Sulail uldig YlHny, wAvz 5d) Ad

UM 53 6 A uRa 54, NA W 53 / 52l 20 AUCURA AR/ ARRU E ?

(1) WA Uit AHidlRs Guo 3 Fui Avll 5 sHIBN 247 BARIGUE ASIUUS UR HHIR AL,
udE 53 9.

(1) elau-l 2004 A5 st 24 @laadl 20004 Assuas Blas-s ysaell-u ol qaud
YU 52 8.

(1) 44l Wi azuil3d ysasll iR 2 R ssl 52 8, oul wd Aeatul Yl 2 x1idRs

BuIoL GIRL AYA A B,
(A) (1) 2L (1) (B) (11) %A (111)
@ ). (1) 2 () (D) Guz WA wisum «dl.

A5 UR AndR (ROI) 2t il [aaRer-l S5d14 uR and: (ROE) -l 2 2u@lds Ad 20 Yoot
VY SIE :

ROE = [ROI + (ROI - r)D/E](1-t)

AHlSQAHL T S Y S ?

(A) %l €3 (B) a0ld-il €2 @z usaz (D) Gux U4 215y ).
e WS A1 L Sl dg 245 urde s,

(A) PAT = 206U 81 (Profit After Tax) @, - ciasng Rlass (Past Dividend)

(C) E, = 51l s3uell (Equity Earnings) (D) EPS = iz €16 sull (Earnings Per Share)

A= [Qaul 2uqni Al

(1) sul-l 8 usaz 212 adHi Y- AsRAS1R1AL AUEA ANdRLER 8. B adHin [Rasdi dadla
AU 2 AdHIA SR HHendg Udlbio 8.

(1) il YA udd H2d Y- A51A51RAAL AU [Bd AL 8 €9 5 % Ad) Al iaan As1eL susdl

GIRL Sl HRUM 20d €,
il [Asey uaie s2U.
(A) WA (1) g 9. (B) Mot (1) 3 €9,
@) 27 (1) vid i 8. (D) (1) 27 (1) 6iA 20 ).
a1 WA 5y Udle ust uRewn € 5 % tuRd w3219 Yl udd AR 5 el ?
(A) A% €7 R (B) t1omR Awu MHlun
(C) 53+l €2 @:. v A

D2t WAL A5 HWE S UoiBd s 1 2l ?

(A) A5 HUESL a21dd HUESL 24 [Biraazidd ugsing [Aeumd ad us .
(B) vy adHir YU 2 a21dd HIUES 6.

@125 anaz-l g2 A Birazida wugs 8.

(D) [Buoll anaz-il €2 A [Biqzida Wugs .
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In a pioneering study published in 1961, Gordon Donaldson examined how companies actually
establish their capital structure. Which of the following is/are the finding(s) of this study?

(I) Firms prefer to rely on internal accruals, that is, on retained earnings and depreciated cash flow.

(II) Expected future investment opportunities and expected future cash flows influence target
dividend payout ratios.

(I11) Firms set the target payout ratios at such a level that capital expenditures, under normal
circumstances, are covered by internal accruals.

(A) (I)and (1) (B) (1) and (111)

@ o). anandan (D) None

The influence of ROI and financial leverage on ROE is mathematically represented as follows:
ROE = [ROI + (ROI - r)D/E](1-1)

What does ‘r’ stand for in the equation?

(A) Rate of interest (B) Rate of return

. Cost of debt (D) None of the above

Choose the incorrect one out of the following:

(A) PAT = Profit After Tax @, = Past Dividend

(C) E¢=Equity Earnings (D) EPS = Earnings Per Share

Consider the following:

() Company cost of capital is the rate of return expected by the existing capital providers. It
reflects the business risk of existing assets and the capital structure currently employed.

(1) Project cost of capital is the rate of return expected by capital providers for a new project
or investment the company proposes to undertake.

Choose the right option given below.
(A) Only (1) is correct (B) Only (1) is correct
. Both (1) and (I1) are correct (D) Neither (1) nor (I1) is correct

Which of the following is not a factor outside the firm's control influencing the weighted average
cost of capital?

(A) Level of interest rates (B) Market risk premium
(C) Tax rates .Capital structure policy

Which of the following is not correct with regard to investment criteria?

(A) Investment criteria may be divided into discounting criteria and non-discounting criteria
(B) Net present value is a discounting criterion

. Internal rate of return is a non-discounting criterion

(D) Accounting rate of return is a non-discounting criterion

[ASP-2 - M] rrro. B
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072.

073.

074.

075.

{21 [Qandl Lunni Al

(1) URcd 2UU AHA 2 AU WE[RHS 53 2Aas (RASIV)A QYA s 41U 8,

(11) YR PUY AHUAL HIUES HaABL, UL URed VUYL AHY A% WG Ay Sx9llu €.

(1) YRd UYL AHA HIYE S BUULL 537U Ul rH1-d Ad HeriH dLs1a Ud UYL AHA U 53 8,
L [QAseu uie s3.

(A) Wt (1) 249 (1) 0 69, (B) H1a (1) 5 (1) 141 9.

@i > i 8. (D) Wt (1) 3y 9.

UL sraefle AL or3Rurdn Avueiy uRewl 2442 52 6. 21 el DA [l Luqui Al

(1) U sele 3D r3Rudq danri usiR i ol Al

(1) 4l Al Al 5100 Sl e arud Ad Gl wwami sl ya-l o 3Ruidn uami
aue2 8 89,

il [Asey uaie 0.
(A) Ha (1) 03 9. @ (1) wy 8.
(C) (1) 2= (1) bie 040 8. (D) (1) 2 (11) i i .

P4 clic2? AR+ YUisd Widd UrelAd 53 B 3 F WA R[As=s AUA A gie-u yeuis- wirs & d
M2CigA s 53 8. DA WA 56 wieu 4 HRE WA YRAoLd ) ?

(A) Ul 2 o1t o S5l giRL Aven YL ada-l 2813 2R 81 9.

(B) sl [Aely i [Blas-s-u (el u 2uRd 8.

(C) ASLRL UR ANAR-L € Add 69,

@A vuya waillRa 8.

cndla Rod 65 yuria asadl M mamid 2uaR surdla A sz nalsasa we
dvareiy warai Al udd $3) edl. 2u Ageini DA Wl dl Luqui @l

(1) cuRdla [3518-2 214 51511 816+ 1988 ui 21l 53\,

(1) oyl 199041 AWl €4 et 531,

(1) @ 1988-894i Rl 4124 At-L Fal 5 182 [Ba 2033) [Bieat, AruRi-i UMl A4 AHidels
cuRlE L] UYL EIUA, SAUML el

il [aseu uaie 2.
(A) AL (1) 3 8. (B) WAL (1) 1%, 69, @ 8. (D) vl o i 8.

A2 WA 54wl oromr g sl el ?

@ cicronnud iadia Zsoun-u AsieiA wai yuwsa afdsdla sl
(B) S[5a8l nacu 244§ 5N A eu caquu s vl 3l y wsdl,
(C) AaR A HUR Al usd aaisdl.

(D) il -l 3l Heuis uaH s:d,
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() The payback period is the length of time required to recover the initial cash outlay on the
project.

071. Consider the following:

(I1) According to the payback criterion, the shorter the payback period, the more desirable the
project.

(1) Firms using payback criterion generally specify the maximum acceptable payback period.
Choose the correct option:
(A) Only (1) and (1) are correct (B) Only (I1) and (I11) are correct
. All are correct (D) Only (1) is correct

072. The working capital needs of a firm are influenced by numerous factors. Consider the following
statements in this light.
(I) The working capital requirements of a firm have nothing to do with the nature of its business

(II) Firms which have marked seasonality in their operations usually have highly fluctuating
working capital requirements.

Choose the right option:
(A) Only (1) is true @oniy (1) is true
(C) Both (1) and (1) are true (D) Neither (1) nor (1) is true

073. James Walter has proposed a model of share valuation which supports the view that the dividend
policy of the firm has a bearing on share valuation. Which of the following is not an assumption
of this model?

(A) The firm is an all-equity financed entity

(B) The investment decision is dependent on the dividend decision
(C) The rate of return on investments is constant

. The firm has a finite life

074. Based on the recommendations of the Sukhamoy Chakravarty Committee, the Reserve Bank
of India initiated a number of measures to empower the Indian money market. Consider the
following in this connection.

(I) The Discount and Finance House of India was set up in 1988.
(I1) Commercial paper was introduced in January 1990

(IIT) Money market instruments such as the 182-day treasury bill, certificate of deposit, and
inter-bank participation certificate were introduced in 1988-89

Choose the right answer:
(A) Only (1) is true (B) Only (1) is true . Only (I11) is true (D) All are true

075. Which of the following is not a function of capital market?
. Mobilising long-term savings to finance short-term investments
(B) Providing risk capital in the form of equity or quasi-equity to entrepreneurs
(C) Lowering the cost of transactions and information

(D) Enabling quick valuation of financial instruments

[ASP-2 - M] rro. B3
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077.

078.

079.

080.

081.

A1 Q4L si cudlu 9w el (Secondary Market)-i ¢iiot Al ?

(A) WeRs A01m2 (B) 8y AR

(C) 2Hiar Hl 51622 HaA=2y 25 S+ @cu2u Rod ols

MURAML 2312 YRl dAuiR-ll A32Ad 2000 Hi 2 Srerr2 dui- Aoil8d D2 Wl aixl 244 =
UGt B,

(1) $+2372 AUl A3 5 HI2 ASASIR S Al Y3l Wil ecnan el Aagll siadl ud ©.
(1) a5 2lAUS Al W W@esid 20U 8 ug d-iL vl gasigdl ddl 4l

(1) 2312 duir W2 senaq Qi tisvig 5 RHzvig vilanad s 6.

(1V) 2B 2000 Hi 612141 d2 dl 214 79 uediA S22 dui-l urardll dad) gdl.

(A) WA (1) g 9. (B) Mot (1) 3 €9,

(C) = (1) 3 . @1~ (1) Rraw v o i 9.

NSE +{l 221l 412 1992 i A4S &dl. -1 U4 sul NSE -l Gaat -l ?

(A) §5d12), gai- A8l 21 s1dells e ArdlU sau dwr-l ylas 2l sa-l 9.

@il 22 izl A veaa w2

(C) 22Ul 6181 % GHIPNHE, 18 % ASIASIRAA ALY AAIR A2as AHLL 4iREL Hofl 28 d-l vuasl sdl.
(D) [aong, (SAs2i-ls) dwz utald g1t cwrel], sifau 217 WEREs 801912 35 ASRASIRAA YR Uil
Aol (SEBI) 21 2004 Al g 280l a32id 53 ¢dl. dl wleRist yorer DaA-u W4 55 you
gl adl ?

(A) slulR22 scudl 5 FH-l Alvvil Yeurdl [SHd 29T AL 3L 3 $2A3 SIA d UldLdl A SIA WD+
SIS’ YA wd a3 O,

(B) SR 151 U WIS SALA Uldll R8s oisuidl Glefl-il aision vac And 6ls gL
W=y NBFCHIAL Gedlil aisinn-il Guaiol 531 a3 69,

@:cvad sa 2g wiarn Aven e 10 ol ay ig - A,
(D) £ AHZEIR SIA d AU €9 1L ARl 25U A8 71 WLAlHE 2ARAFAAL 1L 212 dll viag]l 2uudl ud 9,

‘vgel’ uealds 2 RAl&1L Aequ-2’ ogeus 2, 2001 Al dly 9. cudla 0102 HI2 241 A -Adl 1l
QAL Azan-2’ A Al UAH %Y 53R A01AR $Y 8 ?

(A) NSE (B) BSE

(C) HLUELALE 215 AAA @ocel

) SlA uauldr yl wisal, o2 Gauest %3 8 5 Pl Add [l eua y wd 8. v
Bewrg i Ae el AA-umidd il [Aseu uie 520

(A) o1 Bemg st vilel ¢ 35 6 24 Al § daL eud.

@204, uralduR 21 20y R Bewesil ude OTCEL gt s2aumi 2udl ¢dl.

(C) W5 AWMUL, Bl AR BUESAHT USN €1 69,

(D) MURAHL AR Bewle sl W13 A €.
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Which of the following is not a part of the Indian secondary market?

(A) Regional Stock Exchanges

(B) National Stock Exchange

(C) The Over the Counter Exchange of India

. Reserve Bank of India

Internet trading in India made its debut in April 2000. Read the following related to internet
trading and choose the right answer given below.

(I) To start Internet trading, an investor has to register himself with a broker offering online
services

(I1) The broker only gives the online service platform but does not take the responsibility of
risk management of the client

(111) Opening a bank account and a demat account with the broker is compulsory for internet
trading

(1V) In April 2000, the market was bullish and as many as 79 members took permission for
internet trading

(A) Only (1) is true (B) Only (1) is true
(C) Only (1) is true .AII are true except (11)

The NSE was incorporated in November 1992. Which of the following is not an objective of NSE?
(A) To establish nationwide trading facility for equities, debt instruments and hybrids
. To replace Bombay Stock Exchange

(C) To ensure all investors all over the country equal access through an appropriate
communication network

(D) To provide a fair, efficient and transparent securities market to investors through an
electronic trading system

SEBI introduced margin trading with effect from 2004. Select one of the following which is not
a salient feature of this new guideline.

(A) Corporate brokers with a networth of at least Rs. 3 crore are allowed to provide margin
financing to clients.

(B) A broker may use his own funds or borrow from banks or the RBI-recognised NBFCs for
financing their clients.

. Total indebtedness of a broker shall not exceed 10 times his networth.

(D) A broker is expected to be prudent and should ensure that no concentration takes place in
any single client

Rolling settlement system replaced the badla system from July 2, 2001. This concept is not new
to the Indian stock market. Which exchange was the first to introduce rolling settlement?

(A) NSE (B) BSE
(C) Ahmedabad Stock Exchange @ocel

To provide liquidity to the illiquid scrips, market makers are required to continuously provide
two-way guotes. Choose the correct one of the following related to market makers.

(A) A market maker puts up buy quote and not a sell quote

. In India, systematic and organized form of market making was initiated by the OTCEI
(C) At the regional stock exchanges, brokers are successful in market making

(D) In India, market making has a great future

[ASP-2 - M] [PT.0.
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082.

083.

084.

085.

086.

MIRdlY AR01%AR-L ALRHL 1990 AL adHi HTa dza A [A2el iedlu Ass1l (FlIs)) cudla
Ao Ml euolletdl 8. 2 Aeeini DA [l Larui @l

(1) Flis A 2312 1992 ui ¢uRdld H 4l sionini el i woll gdl.

(1) Flls A 222 1993 ol ul3u A515121 6141 Sl

(1) FlIs 3 % ¥4 53, Urart §3 i 22l ¢giolli-l 511004 endlu 3l sionini 530 260 6.
(1V) Flls 4 518 2003 Hi d2o-] €13 20l 3 g 12512 Uidiril RuSdzeu-z siisun siuani w4 adl.
Guarumidl 59 / st [t / R dl ] /i ¢ ?

(A) |2 (1) 24 (1) 00 8. (B) =L (11) 2 (1) 0 69,

(C) =t (1), (1) A (1) i 8. @1 o i 8.

GST $s18-0a-l Miwudl bi1g A2& A3 23 AldAo 281 (B 2017 (The CGST Bill), $+213123 9432 23
uldAfl 2a [Bret 2017 (The IGST Bill), y[Rust 29280 3430 vixs AldA» (B 2017 (The UGST Bill),
930 13 A4 281 (%A and) [Bia 2017 (The Compensation Bill) IR $AUHE 2L .

(1) 9l W=, 2017 -l A% ALSAIHL
(1) 104l AA[Ba, 2017 - A AFAUUHL
A2A-umidl 0l [Aseu urie 531,
(A) Wt (1) g 9. (B) M (1) 013 8. @:in vizis. (D) i i 8.

GST $16-la-w 2oilaa Nad-u Wl 53 / sau [Aan / [Qaunl 2 / i 6 ?

(1) cudly sigRRil 2ulZsa 279A yoror, tiRd-L guldA GST s1G-0lasl 21 sa Hi2Hl A[SR O,
(1) euRd AuldA GST s16-Alaxll -1 154 034 2016 « Ay 43,

(A) | (1) 3 69, (B) A (1) 012 €9.

@) 27 (1) vid i 8. (D) (1) 247 (1) 6iA 0 ).

GST SUeIMl 2UA a1l Ageu 1A suotdl Luui dl.
(1) ‘darHl v san 2(17) 200 9.
(11) WA AL Al 24l i Yl wisainl Aeeul “idoy” |l caval sam 2(31) 20 69,
(1) “Saszil[s aldiopu 2iu2”’Hl vl sau 2(52) 204 8.
(1V) “ana”«l vl sau 2(45) 204 69,
AA-umigdl o [Qseu urie 520,
(A) Wt (1) g 9. @ (1) 21 () i 8.
(C) |zt (1) 24 (1V) 0l 69, (D) WA (IV) 0 9.
CGST Act, 2017 L sau 7(1) Yoo, DA WS 3 W’ (Y1 wda)ui wfawe 9 ?
(A) dHUIH USIRL YR UISUHE UAA HIA AL AL 2L bir
(B) Q%L e UM UL $RUHL 2nad) Aay, § 2 dardl woiasdl 3 sidui - 2ud.
(C) Risya 1 i Al uaizil e 21do R 2l 2udd Auldil.
@52e 1w suida ugfii 3 Fui wa Yl wsdl s dayd wsd 34 g,

[ASP-2 — M] [Contd.
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082.

083.

084.

08s.

086.

An important feature of the 1990s so far as the Indian stock market is concerned, was the
participation of Flls in the stock market. Consider the following in this regard.

() FlIs were allowed to participate in the Indian capital market in September 1992.
(1) FlIs have become active investors since August 1993.

(111) FlIs such as mutual funds, pension funds and country funds are operating in the Indian
capital market

(1V) Fllscaused the bull runof 2003 which enabled the governmentto carry out its disinvestment

programme.
Which of the above information is/are true?
(A) Only (1) and (1) are true (B) Only (1) and (I11) are true

(C) Only (1), (11) and (111) are true @~ are true

After GST Council approved the Central Goods and Services Tax Bill 2017 (The CGST Bill),
the Integrated Goods and Services Tax Bill 2017 (The IGST Bill), the Union Territory Goods
and Services Tax Bill 2017 (The UTGST Bill), the Goods and Services Tax (Compensation to the
States) Bill 2017 (The Compensation Bill), these Bills were passed by:

() The Lok Sabha on 9th March, 2017

(I1) The Rajya Sabha on 10th April, 2017

Choose the right option from below:

(A) Only (1) is true (B) Only (1) is true
. Both are false (D) Both are true

Which of the following is/are true with regard to GST Council in India?

(I)  As per Article 279A of the Constitution of India, the President of India is empowered to
constitute Goods and Services Tax Council.

(I1) The President of India constituted the GST Council on 15" September 2016.
(A) Only (1) is true (B) Only (1) is true
. Both (1) and (I1) are true (D) Neither (1) nor (1) is true

Consider the following with regard to the definitions provided under the GST Law:
(I) Section 2(17) provides definition of “business”

(II) Section 2(31) provides definition of “consideration” in relation to the supply of goods or
services or both

(IIT) Section 2(52) defines Electronic Commerce Operator

(IV) Section 2(45) provides definition of “goods”

Choose the right option given below:

(A) Only (1) is right .Only (1) and (1) are right
(C) Only (1) and (1V) are right (D) Only (1V) is right

As per Section 7(1) of CGST Act. 2017, which of the following is not included in supply?

(A) All forms of supply of goods or service or both

(B) Import of services for a consideration whether or not in the course of furtherance of business
(C) The activities specified in Schedule-I made or agreed to be made without a consideration
. The activities to be treated as supply of goods or supply of services as referred to in Schedule-I

[ASP-2 - M] rro. B3
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087.

088.

0809.

090.

091.

092.

A Sl [, <C7 2 vl [B51m1 21820l st 2SRz e ) asda 8 5 % sinad-
(a1 A AR s 220l (g5 g1 ANAQ . 9 20 A’ 8 ? oA SU dl GST AsAU HIS 518 HAUAEIR €9 ?

A2A- WA sl / sui oL [ ol 210 ?

(1) SV, sl 9. d Adl 31 a1 w2 el 2 aar aquaHdl wdasdl e .

(1) R “C> GST Asadl W2 FABIEIR .

@ () e 8. (B) Ha (1) 3 .

(C) (1) 24 (11) i 203 69, (D) bid viiai ¢9.

(. <A’ 1 Al 25ni e dHl 132 Altdl 8. AlA-l Rwgllail ail 211 urens il [Asey

ude 42U,

(1) U Ysd (Composite) Awu, -l

(11) Yo AU AL Ul 5371 €2 AHA UYsd (Composite) tisdn QLo ussl.

(A) Ha (1) 29 9. @ (1) ey 8.

(C) (1) 2= (1) bir 14l 8. (D) tinl i .

CGST 52 2017 L sau 22 -1 uls (3) Yoot NA WSl sy o “lAan 520 -

aiglui ) ?

(A) 13004 U (B) ey (C) 204 @R

A WA 53 / s (Al Red sidefloru e eimi wribis calsann Suui GST - [Ruml yosor i € ?

(1) 514 GSTR-1 5 % A i Aci-il il A W2 gl {8t 104 [2ad 3 udal e ud .

(11) 514 GSTR-2 3 % Aid[Rs Avcna 112 uesl-i uld-urit 1041 [Ba bue uig 1541 [Bau uda mra
ui e,

(1) $14 GSTR-3 5 % ueSl-iL ul3-ii-il 1541 [Ba bue uig 2041 [Bau udan (raLud 9.

(A) WA (1) g 9. (B) M=t (1) 24+ (11) i 69,

(C) st (1) 3y B, @1 s i B,

A5 3 e @2 299291 UldU AU w151 G121 28 S AS B, A —

(1) 28 Alsd @2AAH) S § s1ue1-l o1 2.

(1) 2Ysd 229228 Alsd A 215 HS-uni 52 fe- s15a L $2.

@ (1) 0y . (B) Ha (1) 3 .

(C) (1) 2= (1) bie 0140 8. (D) (1) 241 (1) i wi2i 89,

CGST 152 2017 -l sa¥ 35(1) Yool 35 2228 lSdul Wil [SA100 Anaa ud & 3 Bui —

(1) Had Gewen xaa Hyssadlo

(11) A 24291 Adl A8 oin-l 20as 211 Anas-l aend 2091

(1) @l 218

(1V) Sy 2a 3dle-u dldd il

(A) |2 (1) 24 (1) 0 8. (B) 1= (1) 244 (1V) 20 69,

(C) =t (1), (1) A (1) i 8. @1 o i 8.

[ASP-2 — M] [Contd.
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087.

088.

0809.

090.

091.

092.

Mr. C of Chennai paid fees for online coaching obtained from a teacher located in USA for
coaching of Accountancy course for his son. Is it supply? If so who is liable to pay GST?

Which of the following answer(s) is/are correct?

() Yes, itissupply. Even if receipt of this service is not for business or furtherance of business
(1) Mr. Cis liable to pay GST

. Only (1) is correct (B) Only (1) is correct

(C) Both (1) and (1) are correct (D) Both are incorrect

Mr. A booked a Rajdhani train ticket which includes meal. Read the following comments in this
regard and select the right option given thereafter.

(1) Itis not a composite supply

(I1) Rate of tax applicable to the principal supply will be charged to the whole composite bundle
(A) Only (1) is correct .Only (I1) is correct

(C) Both (1) and (1) are correct (D) Both are incorrect

As per explanation (3) of Section 22 of CGST Act 2017 which of the following States is not in the
list of “Special Category States”?

(A) Arunachal Pradesh (B) Manipur

(C) Assam .Odisha

‘Which of the following is/are correct with respect to return filing for a casual person under GST rule?

(I) FORM GSTR-1 for outward supplies of goods or services to be filed on or before the tenth
day of the following month

(II) FORM GSTR-2 for inward supplies to be filed after tenth but before the fifteenth day of the
following month

(IIT) FORM GSTR-3 to be filed after fifteenth day but before the twentieth day of the following

month
(A) Only (1) is correct (B) Only (1) and (I1) are correct
(C) Only (1) is correct .AII are correct

GST registration of a person or business can be cancelled by a proper GST officer if:
(1) the registered person has violated any of GST provisions or laws

(IT) a composition registered person has not filed tax returns for one month

. Only (1) is correct (B) Only (1) is correct

(C) Both (1) and (1) are correct (D) Neither (I) nor (1) is correct

As per Section 35(1) of the CGST Act 2017, every registered person is required to maintain a
true and correct account of:

(I) production or manufacture of goods

(1) inward and outward supply of goods or services, or both

(1) stock of goods

(IV) input tax credit availed

(A) Only (1) and (1) are correct (B) Only (111) and (1V) are correct
(C) Only (), (1) and (I11) are correct .AII are correct

[ASP-2 - M] rro. |[Ed
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093.

094.

095.

096.

097.

098.

099.

100.

DA U4 53 / sui Qe / Qe @202 w1321 Ageiui 012 / 0020 6 ?
(1) CGST 152 2017 0l s&u 2(13) i DAA ARz carnlid s3¢ 8.
(1) S 2451622 YL 5122 2451622 G121 % DB 232 A A3 O,
(1) iUt s2a20 Al AU 24132 53 s .

@ () ey 8. (B) Ht (1) 2R (1) i 8.
(C) (1), (11) 2L (111) 02ai €. (D) Wzt (1) 24 (1) 0 69,

A1 U4 @A suciui 56 sl [QAH sau-d amuda w9,

(A) sau 17(1) @ 1710 (C) 54 170(2) (D) $a 171(3)
AL S d [Bra-dl o i eeini DA UE s34 0y O ?

(A) S a [t 16l 2iBia, 20179 24idR AU A 12 $:A%Uid 69,

@ < B 1) 2R, 2018¥0 HidR AU Ad W2 s B.

(C) S A [Brat 16l i, 201990 idR A% AxuA H2 sA%Yud 9.

(D) © a [t 16l ogensS, 2018901 iR Apu Awend e s2A%uid 8.

AL AR gEL USRAL Ai[32 SlU S, d s S ?

(A) %A 3L 2 53l QIR A €l dl 241032, v 2132 214 o 2iR2

(B) % 3L 3 s13ell At AL la dl AUiRe2, Ay AilZ2 247 v 01B2

@5 3. 2 sl arn? At iu dl 232, waa 2Rz 214 v 2iR2
(D) %A 3L 2 5313l AR AL $id dl A2, v A2 214 YulsRua w12

R wadl wear aui-l 2uas susiellue 9 51290 3 2us16ll aui- uefl-n av-l 2 sl Alssu H4AlE
6. QA WA 2 vucnsui sul [Asey a4l ?

(A) agaazimidl [Brfradl cudlaudl suas

(B) stul A2 dion Hu W2 uRd 918l %8 A Ulsa-l 2uas

(C) 2s1ou01 12 A H3nHl 2uas

@14 -l 2uas

1A5ARAAL EU ... glRL 55l iy 69,

(A) 215931 SIUEL @-s waifa sue
(C) uRuisla v (D) ~usl Hauay

Rl BuasdA- saelll san 14 Yoror, alsa-dl 56 2uas [ 2nas A AU 2iasHi aHda w0 9 ?
(1) wauR (1) usi Rasadl 2uas
(1) & 5 aquasdl 2uas GYENEE

(A) Wt (1) 214 (11) (B) Hua (11) 244 (111)

(C) W (1), (1) A4 (1V) [ EERETIEEETOR
A su2-1 (Tax incidence) .......... UR IR AN I,

(A) a-l 2uas @ 800 s wR
(C) all walRsdL v (D) $RdRU-U € UR

[ASP-2 — M] [Contd.
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093.

094.

095.

096.

097.

098.

099.

100.

Which of the following statements is/are correct with respect to audit under GST?

(I) “Audit” under GST has been defined in section 2(13) of the CGST Act 2017

(1) Audit under GST can be done only by a Chartered Accountant or Cost Accountant
(111) No Tax Authority can do audit under GST

. Only (1) is correct (B) Only (1) and (I1) are correct
(C) (D, (1) and (1) are correct (D) Only (I1) and (111) are correct
Which of the following sections of GST incorporates law on anti-profiteering?
(A) Section 17(1) @scction 171(1)

(C) Section 170(2) (C) Section 171(3)

Which of the following is correct with regard to applicability of e-way bill provisions under GST?
(A) E-way bill is compulsory on inter-State supply effective from April 1, 2017

. E-way bill is compulsory on inter-State supply effective from April 1, 2018

(C) E-way bill is compulsory on inter-State supply effective from April 1, 2019

(D) E-way bill is compulsory on inter-State supply effective from July 1, 2018

GST has three different types of audit. What are they?

(A) Audit if turnover exceeds Rs.2 crore, special audit and confidential audit
(B) Audit if turnover exceeds Rs.3 crore, normal audit and special audit
. Audit if turnover exceeds Rs.2 crore, normal audit and special audit

(D) Audit if turnover exceeds Rs.2 crore, special audit and superficial audit

The rule that the income of the previous year is assessable as the income of the immediately
following assessment year has certain exceptions. Which of the following is not such exception?

(A) Income of non-resident Indian from shipping

(B) Income of persons leaving India either permanently or for a long period of time
(C) Income of bodies formed for short duration

. Income of continued business

Income Tax Rates are fixed by
(A) Income Tax Act .The Annual Finance Act
(C) The Finance Commission (D) Ministry of Finance

As per section 14 of the Income Tax Act of India, which income(s) of a person is/are included in
his gross total income?

() Salaries (1) Income from house property
(111) Incomes from business or profession (1) Capital gains

(A) Only (1) and (1) (B) Only (I1) and (111)

(C) Only (1), (11) and (1V) @ A1l are included

Tax incidence on an assessee depends on

(A) hisincome .his residential status

(C) his citizenship (D) tax rate

[ASP-2 - M] rro. B
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101.

102.

103.

104.

105.

106.

107.

5 GuRarl AW B d NAU UL 58 A / Al 20l Adpni 0d & ?
(1) wevdr ayl eARuir GudHL 182 [2ad 2adl af AHU S19R 8dl d 2.

(1) wesen aul R 60 [Bau waa ay A 214wl arel 2106+ 1R 9y e(RuiA 365 2l
QY AHU HIRAHL 8192 Sl d 2.

(A) =t (1) #3328, (B) WA (11) #3318,
@) 21 (1) vid 930 B. (D) 6iql %33\ el
A=A [Qordl i @l

(1) 2 2Uas $H5d iU dl, 25l ARAAL Avid d-ll AHAA $AUH] 208l 1]
(1) 2uasdl 254 526 54 54 ay 81 us.

(1) A1 Ll SULedl $U12L 2iasHigl o 2uuami 2ud 9.

(1V) 2uasll 254 5L suLdl i) Sidl ASAL.

A 20 [Aseul WA =l [Ase uie s

@ () 2 (111 i B, (B) Hust (1) 4L (1) i 9.

(C) Wt (1) 244 (1V) 20 69, (D) 1t o 1 69,

25 o lsd 5 B suat 2nas 31 3.50 Al addl 9l d sam .......... S0 t92 Hudl 3.
(A) 54 88-A (B) 44 80-A @: 87 (D) 54 80-D

A U 5y / s (At / (el 2 / i 6.

(1) 834 su-ll 30% L &2 $ula 89,

(1) -3¢ $u-l 45% -1 €3 sULA €9,

(1) R[as~3 agasll 2596 L €2 s 69,

@ () e 8. (B) Huat (1) 2 €9. (C) A ()W 8. (D) isum 02 =,
Al 2asdn wRLl 58 sanul 2uasdl addl w2 [Buell usald 24 [Rauell Qiel 2iuami
2194 69 ?

(A) 544 125 (B) $4¥ 135 @145 (D) 544 155

$UL5L 2Asel RLAT] AHA SUL HAUHE $UL2L 2195 HIZ 1AL gL [Bauell utald 2u-iaqini 2uda
9 d Aoi[a el ?

(A) HIA WIUR (B) H1=A 51 [Rasd-l 2uas

(C) 1A Y -8l @ uouz, Hsirt Pasad 2uas 2134 44 st

ITR-1 d (&t [3umi vy usd 1l 3 % .........

(1) GURA 41812 20dd [Rasdl (SduR sisuui widla [Rd amlde 4 in) 4ruadl siu.
(11) R 61812 SISURL viLdlHi AL sal ATl HRLadl S,

(1) BURd G18IR SISURL USR] 20as5HL A A SiA,

(V) siSuat su-l-i [33522 i,

(A) {2 (1) 24 (1) @uaAnaa iy @ an A av) () He ()

[ASP-2 — M] [Contd.
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101.

102.

103.

104.

105.

106.

107.

Which of the following is/are required to find out whether an individual is “resident” in India?
(I) To find out whether he is in India in the previous year for a period of 182 days or more

(I) To find out whether he is in India for a period of 60 days or more during the previous year
and 365 days or more during 4 years immediately preceding the previous year

(A) Only (1) is required (B) Only (1) is required
. Both (1) and (I1) are required (D) Both are not required

Consider the following:

(1) If an income is exempt from tax, it is not included in the computation of income
(1) Exemption may exceed the amount of income

(111) Deduction is generally given from income chargeable to tax

(1V) Deduction has to be less than the amount of income

Choose the right option given below:

. Only (I) and (111) are true (B) Only (1) and (I11) are true

(C) Only (111 and (1V) are true (D) All are true

A resident individual whose taxable income does not exceed Rs.3.50 lakh can claim a rebate
under

(A) Section 88-A (B) Section 80-A (@section 87-A (D) Section 80-D

Which of the following is/are true?

() Adomestic company is taxable at the rate of 30 per cent

(1) A non-domestic company is taxable at the rate of 45 per cent

(111) Dividend distribution is taxable at the rate of 25 per cent

. Only (1) is true (B) Only (1) is true (C) Only (I istrue (D) None is true
Which section of the Income Tax Act of India provides the method of accounting and accounting
standards for computing income?

(A) Section 125 (B) Section 135 .Section 145 (D) Section 155

In case of income chargeable under which heads method of accounting adopted by the assessee
is not relevant in calculating taxable income?

(A) Only salaries

(B) Only income from house property

(C) Only capital gains

. Salaries, income from house property and capital gains

ITR-1 is not applicable in the case of a person who —

(I) has assets (not including financial interest in any entity) located outside India
(11 has signing authority in any account located outside India

(111) does not have income from any source outside India

(1V) is adirector of any company

(A) Only (1) and (1) (B) Only (1) and (111)

@ oniy (i and (1v) (D) Only (111

[ASP-2 - M] rro. B3
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108.

100.

110.

111.

112.

113.

114.

D2l Wl 54 gsanq 2ua vl 4 w51, A 45U UAS AHAU SHL SAAUHL L 20 S1u ?
(A) WA Haudla gsq (uzildl 2aa 5 21-0)

(B) WA il q52un
(C) WA HSIELS Ad MRS 5 sl naliql wal
@Gurisa

[Re- (uas) Wi Mau vled 53/ suLulons [ wReusl €I as ?

(1) 544 234A AR AR €3 U1y MU 2

(1) $au 234F 214012 AR [AdBid aan vgadl 51 amus a9,

(1) %A 520ty uas [Rud didlv uel MMl 20d di S2ais gsun 2ua v asta 9.
(1V) A uns [Rud didlu uel Mami 214 dl, %El-%gel saHl 860 suld Buaoy 283 (.

(A) (1) R oran o (B) (11) [Rcnu- o1t o

(C) (1) 44 (1V) Rucwarit o1t % @1~

5GH ... QU1 BUIR ALSSYU Al AUdlHA AR S a8 YAURA UAS 9 53 5.

(A) 54 138(5) @ 1395 (C) 4% 140(5) (D) sa4¥ 142(5)

a5 GRLL saH 142 21201 142A 60 AL U4 53 2151280 udandl duwiud 2uasl dg el ?
(A) AAAA D2 HaL HE WA 2udl (A 210U6 L MY Slu) [RA1ed 9 5241, Eelidq HIG UL
Ul 2uudl.

(B) dwt 35l 2 AAAA s 2uudl.

@102 2tia A Sl dan [B2ueld 2uasdrn [Aeuomi oun st w2 B yar sd.

(D) yeuis A5 2uuc.

ogrt 1, 2017 l ARy $AUHL 2UAA 5AH 194-1B ~UL Aeul A1 WA 54 [Qeun / [Qeunl 2 / i ¢ ?

(1) Siual s [ [R+g 2ilAcsd g2or (B-u [Ra0ll AlustL sa 44 AB (a)/(b) 860 Ail32 scumat -
Ul S1U) 5 % e Bl 5 UG HIE ASAA FAUKEIR 1A d 52 SUL S HIE FAGER 8.

(1) A1 210064l A1 354l €14l slu ug d-i gl 20uGel YsuAd A U514 A sl 90 2518l
2191 1A, dl UL d Ysaarunst 2.

@ () (B) = (11) (C) (1) 24 (11) 6id (D) (1) 244 (11) i ]

A 2uasd R [Rud didlv $d1L HIE 29 SAHT 20 AHAU A % SRAUHL 20 dl, $REL A ...

QR 69,

(A) 544 233A 860 1Y @ 2324 850w

(C) 44 235A 60 %y (D) 44 235B &6t oy

-

200uGel Ygaar-u daumi adl 3sN ae-i e DA WSl sy awdyusa ?

(1) 210uGel ARl Ysaaurat AL A d AU YsadiHi [ o1 dl del i 2saauisL Asl.

(1) 2AAA 210064 ARl sl €lul Sl ug, A= git 210064 s drl, 2us1280 534 AL 526190
251201 U9 81, dl ULl d YsacuuLsL A3l.

(A) W2 (1) (B) *u= (11) @) 1 (1) vin (D) (1) @A (11) i <)

[ASP-2 — M] [Contd.
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108.

109.

110.

111.

112.

113.

114.

Which of the following losses cannot be carried forward if the return of loss is not submitted in time?
(A) Only business loss (speculative or otherwise)

(B) Only capital loss

(C) Only loss from the activity of owning and maintaining race horses

. All of the above

What is/are the consequence(s) of late submission of returns?

(I) The assessee will be liable for penal interest under section 234A

(II) The assessee shall be liable for late filing fee under section 234F

(11D If return of loss is submitted after the due date, a few losses cannot be carried forward
(IV) If return is submitted after the due date, deduction under different sections will not be

available
(A) All except (I) (B) All except (1)
(C) All except (111) and (1V) @~
When certain conditions are satisfied, a person may furnish a revised return of income under
(A) Section 138(5) @scction 139(5)
(C) Section 140(5) (D) Section 142(5)

Which of the following is not covered under inquiry before assessment under section 142 or 142A
of the Income Tax Act?

(A) Giving notice to the assessee to submit return (if not submitted earlier), produce accounts,
documents, etc.

(B) Making inquiry and giving opportunity to assessee
. Giving direction to submit unaudited books of account to Income Tax Department
(D) Providing valuation officer

Which of the following is/are not true with regard to Section 194-IB that was effective
June 1, 2017?

(I)  Any individual/HUF [whose books of account are not required to be audited under section
44AB(a)/(b)] responsible for paying to a resident rent of land or building is liable to deduct tax

(1) Tax is deductible under this section if the quantum of rent is more than Rs.40,000

. Only (1) is true (B) Only (1) is true

(C) Both (1) and (1) are true (D) Both are not true

If the return of income is furnished after the due date or is not furnished, then the assessee is
liabletopay _

(A) interest under Section 233A .interest under Section 234A

(C) interest under Section 235A (D) interest under Section 235B

Which of the following is/are liable in the event of default in payment of advance tax?
() Interest is payable if an assessee who is liable to pay advance tax has failed to pay such tax

(1) Itis also payable if an assessee has paid advance tax but the amount of advance tax paid by
him is less than 90 per cent of assessed tax

(A) Only () (B) Only (1) .Both (D and (I1) (D) Neither (1) nor (11)
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115.

116.

117.

118.

119.

120.

121.

SUldsdld TDSHAL RS 3 uR @ug-l sl sau ......... S60 5L 2udl 9.
@: 244A(1B) (B) 544 234A(2B)

(C) s44244A(B) (D) 4% 244B(1A)

.......... S60 U Aciel (B0ui S[Feu Meua 5431 el 1926912 vl A 8.
(A) 544 233A, 234A 21 235A @ 2347, 234B 214 234C
(C) 4% 236A, 237B i 238C (D) 544 236A, 237A i1 234C

el-el AAWAUA 22 9el-ogel d cvalRa s3 9. A 2uda sl 214 dudl
-l Gl A sl 8. dnidll sy / sul A3 [ Assi Al O ?

(1) 1d2uat 2 dulad [Asuq € — Hsia

(1) A 2 Allds seurid [QAsuq 8 — Al

(1) 2d2uzat 3 uRieolld [Asun 8 — 434 Rua

(A) Wt (1) (B) Hia (11) (C) Wt (1) @-\sua
2 2RA AU 2 S8 AeMHHL DA UL 53 / s (A / Qa0 /i 8 ?

(1) 2d2URAT, AU HIA Y 69,

(1) 2t [Qoun 214 sou oiq 69,

(1) AAWRA HISL HUE 6.

(1IV) et 3 s [Qsuq 6.

(A) (1) 244 (11) (B) (11) 24 (111) (C) (1) 24 (111) @) v
A2 [QaudiA 2unni al.

(1) usani Hadl a2l 21 8 3 B+u w2 ysaell sdl usdl -l 249 2uldls argil ysasll sal aor
sl astdl .

(1) usd MOl agil 21 2l argil a2l Mg sl .

(A) WA (1) Y 8. (B) HuAA (1) 1% €.

@:in () 2 () i 8. (D) (1) 24 (11) 6iA vil2i &,

a0y 2 azgdl S2691 ddinandl anda eaid €. gleagei v e A W4 54/ s Q- / [Qanl
12 / 1 69,

(1) a2 qaadl axg uau Guailidal 4riadl sidl A,

(1) ql2ayR1 24 il wulu .

(111) Al 21 2dln 24 yulaad) 8.

(IV) et 2531 s[HAML 3uidR d a3y dfeoad Gersam 8.

@) 2 () (B) (11) 241 (1V) (C) 1t % (D) visuaL Al
(33 q1Rat 52a1 12 argyl A1 U4 56 qal@sdal Sidl o330 el ?
(A) d a2 q1adl Sidl A, (B) d e9dauvfl gidl ASA.

(C) d Al wat 2 daut Sidl As2. (@A umEll Guasy gid) ASi.
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115.

116.

117.

118.

119.

120.

121.

Interest on refund of TDS to deductor is the provision under

@ section 244A(1B) (B) Section 234A(2B)

(C) Section 244A(B) (D) Section 244B(1A)

The Central Board of Direct Taxes has power to make relaxation in cases covered by
(A) Sections 233A, 234A and 235A .Sections 234A, 234B and 234C

(C) Sections 236A, 237B and 238C (D) Sections 236A, 237A and 234C

Different economists have defined Economics in different ways. Presented below are combinations
of economists and gist of definitions. Say which combination(s) is/are correct.

() Economics as science of wealth — Marshall

(1) Economics as science of material welfare — Robbins

(111 Economics as science of choice — Adam Smith

(A) Only () (B) Only (1) (C) Only (1) .None

Which of the following is/are correct with regard to nature and scope of economics?
() Economics is only micro in nature

(1) Economics is both a science and an art

(111) Economics is only normative

(IV) Economics is a social science

(A) (1)and (1) (B) (1) and (I11) (C) (1) and (111) @) and (1v)

Consider the following statements.

() Free goods are those which are not paid for and economic goods cannot be consumed
without payment

(I1) The distinction between free goods and economic goods is not permanent.

(A) Only (1) is true (B) Only (I) is true

. Both (1) and (II) are true (D) Both (I) and (1) are false

Utility is the want satisfying ability of a commodity. Which of the following is/are not correct
with regard to the concept of ‘utility’?

() Commodities having utility must possess usefulness

(1) Utility is not synonymous with pleasure

(111) Utility and satisfaction are synonymous

(IV) Transforming a log of wood into furniture is an example of form utility

. () and (1) (B) (I and (1V) (C)All (D) None

Which of the following qualifications is not essential for a commodity to carry value?
(A) It must possess utility (B) It must be scarce
(C) It must be transferable or marketable .It must be easily available

[ASP-2 - M] rro. B3



acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


122.

123.

124,

125.

126.

127.

D2 (Al A al.

(1) widLasHi a2d aawl 2 [Bud a2ist gL Hidlg [Qedw yad ©.

(11) HidLasHi alg adRl 2 [3Hd atiRL gL Hidlg Asiaq yad 8.

(1) HidL a5 BUR dRs ¥d 2 HiGHT QrIRL Yad & i Hidasy DA drg g d Hiowi a2l 3ud ©.
Dalumiddl 2l [Aseu uaie s2.

(A) W (1) g 9. (B) Mot (1) 3 €9,

(C) Wt (1) 2t (1) 20l 9. @i o i 8.

A YA sul v [Ruudl 29 Al ?

(A) Bist axgil (B) [5ud [agil culd 24dzuil
@G- (D) g2y s azd

A Alid glogrinil [Run s2dls wRRnzi 28R 8, duidl s2dls DA Yo 8. duidl 56 2l ©
d Rudl.

(1) BUGISL dSH2AA 8. (1) gleagR 2 sFMsaL ud 8.

(1) S2A924 244 Ag2Al 2Adpu 4. (1V) a2l Bud sigenan ozl 28 .
(A) {2 (1) 24 (1) (B) =t (11) &4 (111)

@ ()21 v (D) o4l %

Q21 U4 56 Berlldl as-l cua@isdl ) ?

(A) Gerflndl as AsIReHS 2l sald 69,

(B) Gerdl-dl as HRaAIA dR$ ol8Hw iu 6.

@ Gerxllia as 2s0lloan B2 s B,

(D) G2t Gerdlrdl as 3 g[Road GaudR eald € 21 dd % [A34Hi uRL i 6.

A2 WA sy T 20633 Hdai WHRRARAAL [Radul 2uia fuid gRoe [Qsdusudis sl
AUl gld ¢ ?

Px MUy MUx MUy
(A) MUx Py @ ~ ~
MUx MUy MUx Py
©) By Py O) “px ~ Muy

Hiorfl yerauaidl e @ Al [Qandl Rumi dl 2 d uedl o [Aseu uaig s:u.

(1) wio-l 2iyel yeu Aadid Glew Alan uidL v as giL salami 2ud 9.

(1) Hiadl 2iyel YA 2130 0181 HidL v as gIRL sAldacuHi 204 69,

(1) ol AoilBd Y ke 412 dR$ vldl AMAA HidL a5 gIRL slacumi 2ud 8.
(1V) wioil 26if8a yeu RusdnA A ds sl Avid Hidl as gL slac™i 214 69,
(A) Wt (1) 249 (1) 03 69, (B) |1zt (11) 4 (1) 141 9.
@ (1) 24 (1v) i 8. (D) st (1) o A1 8.
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122. Consider the following statements.

()  Adownward movement along the demand curve implies a cut in price leading to extension
of demand

(1) Anupward movement along the demand curve implies a rise in price leading to contraction
in demand

(IIT) An upward shift of demand curve signifies increase in demand and a downward shift in the
demand curve means decrease in demand

Select the right option given below:

(A) Only (1) is true (B) Only (I) is true
(C) Only (1) and (I1) are true .AII are true
123. Which of the following is not an exception of Law of Demand?
(A) Giffen Goods (B) Future expectations about price
. Price (D) Conspicuous goods

124. The law of equi-marginal utility is based on certain assumptions some of which are mentioned
below. Say which of them is/are correct.

() The consumer is rational

(1) Utility is ordinal

(111) The wants and goods are not substitutable

(1V) Prices of goods are unchanged

(A) Only (1) and (1) (B) Only (1) and (111)
@ oniy (1) and (1v) (D) All

125. Which of the following is not a property of Indifference Curve?

(A) Indifference curve is negatively sloped

(B) Indifference curve is convex towards origin

. Two Indifference curves can intersect each other

(D) Higher Indifference curves represent higher levels of utility and vice-versa

126. Which of the following explains proportionality rule of Dr. Alfred Marshall in marginal utility
analysis of consumer’s equilibrium?

_Px _ MUy MUx MUy
(A) MUx Py @ ~x T Py
MUx MUy MUXx Py
© "By ~hy © “px ~muy

127. Consider the following with regard to price elasticity of demand and choose the right option
given thereafter.

(1) Perfect price elasticity of demand is represented by a vertical straight line demand curve
(1) Perfect price inelasticity of demand is represented by a horizontal straight line demand curve
(IITI) Relative price elasticity of demand is represented by a downward sloping flat demand curve
(IV) Relative price inelasticity of demand is represented by a downward sloping stiff demand curve
(A) Only (1) and (1) are correct (B) Only (1) and (111) are correct

. Only (1) and (1V) are correct (D) Only (1) is correct
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128.

129.

130.

131.

132.

133.

D21 WA 53 Yo g sl i © ?
284 [Bigall Gur-il HidL asl Gurl ¢

Y

24 [Brgall sl 1ot as-l -l ¢uot

(A) [Big aaa =

HioL asg Gury uieilas [Big
HioL asg Al 2icilas g

(B) [6ig, iz =

A

204 [eagl Dol wivt asl QA4 ¢uor

N

(ig, adadl = ———— — \
@ci 2 [Bigell Gutl |ioL as-l GuHl (L

2 [Bigell Al HidL asl Guadl (oL
204 [Pigall Gual HidtasHl {1l (oL

(D) [big, gy =

2l W 5y “HioL opeaHi’ 3512 ead €9 ?
@2 vl Buani 52512 — AzRa uRow
(B) a0 Azl Buani 32512 — A2lRa uRewn
(C) Gueisei-ll 2uasui 52512 — A2Ra ulRen
(D) Gueisei-ll uieollmi 52512 — A2Ra ulke1n

HioL asfl DA drs-l ald eadd © —

(A) Braui atiiq 51200 widmi Asia — d2Ra uRe
@ ani a8 108 wivi [Aare — AzRa ARew
(C) HivMi ARl

(D) uidHi w218l

qanslu [Rela asdr iz eRuiq wisg yalduid vie o %3 8. A WA sy / sui [@Qan / [@Qanl
dd e uHANd 8.

(1) Gewer nAi- WIS d Ydad 8.

(1) A[M[EA 8UUAL HidLL YalHIAA SRR 61A €9,
(1) a5 Sa-23 2iga W2 d ¥3A .

(V) aienonou-dl ale Al s we d 9390 9.

(A) == (1) 24 (1) (B) =t (11) &4 (111)

(C) 1t (1) 2 (1V) @Guzu v

D2l W sul 248 Gr yalgHid uealdal Hugs 1l ?

(A) A5 (B) t[RaRudL

@G (D) »ulds

D2l Wl 54 yaldHir d weun 20l 8 3 ¢asin-d wldl (aam) mlammi ua xnqu29 ?
(A) 512 21 5120 usald @R Sl uealy

(C) Rwus ueald (D) GuR U4l visum 4.
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128.

129.

130.

131.

132.

133.

Which of the following formulae measures point elasticity?

) Point Elasticity = Upper Segment of the Demand Curve above the given point
(A) Point Elasticity = Lower Segment of the Demand Curve below the given point

Upper Extreme Point of the demand curve
(B) Point Elasticity = |_ower Extreme point of the demand curve

Lower Segment of the Demand Curve below the given point
. Point Elasticity = Upper Segment of the Demand Curve above the given point

Upper Segment of the Demand Curve below the given point

(D) Point Elasticity = - -
Lower Segment of the Demand Curve above the given point

Which of the following signifies “change in quantity demand”?
. A change in commodity’s own price, ceteris paribus

(B) Achange in price of a related commaodity, ceteris paribus
(C) A change in consumer’s income, ceteris paribus

(D) A change in taste of consumer, ceteris paribus

A downward movement along a demand curve signifies:

(A) Contraction in demand due to a rise in price, ceteris paribus
. Expansion in demand due to a fall in price, ceteris paribus
(C) Increase in demand

(D) Decrease in demand

Demand forecasting is very essential in the course of business decision making. Which of the
following does/do explain its significance?

() Itisaprerequisite for production planning

(1) Promotional strategies are made based on demand forecasting
(11) 1t is essential for successful inventory control

(IV) It is necessary for determining long-term growth

(A) Only (1) and (1) (B) Only (1) and (111)

(C) Only (111) and (IV) @~ of the above

Which of the following is not a criterion of a good forecasting method?
(A) Accuracy (B) Plausibility

. Complexity (D) Economy

Which of the following forecast is based on the assumption that the past data (trend) will follow
into the future?

(A) Cause-and-effect Method .Time Series Method
(C) Judgemental Method (D) None of the above
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134.

135.

136.

137.

138.

2215 A YRastl AeeHui A U4 5y 2 el ?

@215 211 yRasi A ¥ 9.

(B) 2215 AMlAd Yasid 155l 52 8.

(C) yRasl ¢ 22l 254 8 5 % [Aud [BHd e 2 uuami »ud 8.
(D) 221s Gewrgnid) 2ud 69,

gl Yasi-l dadL Avaieid WReoil u 2uHRd 6. 21 2401 1Al [Qadl 2uqui Al
(1) wadd agii- (3041 yasl ay uda .

(1) ZSLUOUHIE YRAEL UHIAMT A& o1 8.

(1) L Wid BAulg -t WHIRHE AUE Y4l dR$ EIX a6,

(A) |t (1) 3 69, (B) = (11) 4 (1) 0 69,

(C) t18i % i 8. @5 g R

AuRdrl [Ae e -l [Bau Aeedui s34 / sa (A / Q- ) /i 8 ?

(1) RadadLyd, tuidla [Age dwr-l [Ban, qadicns Wl aieiqi 2R [Alq adl
(1) UL AHAUU SARUIA AHA MURA HSTH 2Ll USAUIL] dada €.
(A) Wi (1) 0 O, @ (1) 8.

(C) (1) 2 (11) i 1AL 8. (D) (1) 24 (11) i viiei €9,

cuRd-dl sl audarit dedul D2 [Qanl Luqni dl 214 11200 sl ude s2U.

(1) 1956-57 21 1975-76 - AHU2UOU (AHU2UU-1) 214 1980-81 &l 1990-91 1L AHUUON (AHu20U-111)
R Add ysall Agan-l anxu W 8.

(1) 1976-77 4l 1979-80 (AHu2usU-11) eRu ysagll — Agar 2 [Azell [ARHY suHdA
URRRAAH Al YRl gvnul 6.

(A) | (1) 3 69, (B) W (1) 012 €9.
[ JOESKDEREIETRS (D) (1) 1 (1) i vii2i 9.

IMF il 22Ul 1946 Hi 28 241 1947 Hi s1400 az2ud 531, AA-unidl su10 IMF - sl 8 ?

(1) d 2sunu- (B 2uudl 262 433 s 52 9.

(1) [AlRHu e+ caalzud dllsart s 2 uaalda Y3 ws 8.

(111) A UG 2L AARIAU MIIR A5 512 53 B 5 el BRA QU2 22 2=y 22l A4 Bl ad a3 8.
(1V) Ao gai-iL [Asiu- Wi sz an sl y3 wsd.

(A) Wt (1) 244 (1) 20 69, (B) |zt (11) 44 (1) 0141 9.

(C) W= (1) %A (1V) il @ V) R orai o i 9.
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134.

135.

136.

137.

138.

Which of the following is not correct with regard to stock and supply?
. Stock and supply are the same

(B) Stock determines the potential supply

(C) Supply is the amount of stock offered for sale at a given price

(D) Stock emerges from production

The elasticity of supply of commodities depends on a number of factors. Consider the following
in this regard.

() In case of perishable commodities, the supply is more elastic

(1) Inshort period supply becomes relatively elastic

(111) Small scale production leads to relatively elastic supply

(A) Only (1) is true (B) Only (1) and (I11) are true
(C) Allare true .None is true

Which of the following is/are true with regard to direction of foreign trade in India?

(I) In the pre-independence period the direction of India’s foreign trade was determined
according to the comparative cost advantage

(1) During the planning period as a whole India has obtained maximum imports from the USA
(A) Only (1) is true .Only (I1) is true
(C) Both (1) and (1) are true (D) Both (I) and (I1) are false

Consider the following with regard to India’s Balance of Payments and choose the right option
given thereafter.

() During the period 1956-57 to 1975-76 (Period-1) and 1980-81 to 1990-91 (Period-111) India
suffered from persistent balance of payments problem.

(1) During the period 1976-77 to 1979-80 (Period-I1) India saw substantial improvement in the
balance of payments and the foreign exchange reserves position.

(A) Only (1) is true (B) Only (1) is true
@ Both (1) and (1) are true (D) Both (1) and (11) are false

The IMF was set up in 1946 and commenced its operations in 1947. Which of the following is/are
the functions of IMF?

(I) It functions as a short-term lending institution
(1) 1t provides a machinery for the orderly adjustments of exchange rates

(111) Itis areservoir of currencies of all the member countries from which a borrower nation can
borrow the currency of other nations

(1V) 1t funds the developmental projects of the member nations
(A) Only (1) and (I1) are correct (B) Only (1) and (I11) are correct
(C) Only (1) and (IV) are correct .AII are correct except (1V)
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139.

140.

141.

142.

143.

144,

IMF it (3204 DA W5 5y / sai Qe / [l e / i o ?

(1) IMF 31 UNO 018 i 5003A eud 4221 6.

(1) ulacuoll 2au wAdl sl s3an [Rad [0 uawel -uali wad o,

(1) uex 220 Y ¢iinml 20U s1oud 20812 dHsl (8l [Rud scumi 2ud 6.
(A) |zt (1) 2 (1) 0 8. (B) =L (1) 4 (111) i 69,
(C) At (111) @i o i 8.

(a2 oiswn 2igeiui DAl wlRdl uui adA A58l 20 5 sui [Qau-l i o ?

(1) d s $cl Ay USIR1L WA As00AQ AL 69,

(11) d su-l 2a3ue.

(1) a-ll 44 22is) edlsl IMF AL,

(1V) d e gali-il Ysasll Adaq yara e Msin yg uld ©.

@ (1) 21 (1) 0 8. (B) Hust (1) 24 (1) i 9.
(C) A (11) 244 (1V) 0140 8. (D) 2isugt 1y .

(a2 ols [BRuaA A0 e11d €9,

(1) uidin eiginmigdl ueaa [Bue 20l 2aa uldeudll il

(11) UGU IR AU M3 AHUFA iU d GIRL

(1) IMF-uL Qs e ¢isinuigl

(1V) vl AS1RASRI gL 200A [BAAHT 2idd: 3 YRl siidu) 2udld

(A) |2 (1) 24 (1) 00 8. (B) =L (11) 24 (1) 0 69,
(C) WA (1) @ (111) Rrcurs o o i 8.
DAl sul xtidAU sl SR (IFC) -l Gaa -l ?

(A) Gewg Sl vl A ALHi A5

(B) Asta-dl dsl, vt 3 2im 2 Mdl A4 w8 craa e sdludlo giBu-ll Aan als sri 52 .
@ oECD 22 w2 eisin Qe s

(D) wutll HYAlA Gewe Slu A5 — 8¢ 1 [Aeell — Hi Hee3u Al Grs adls.
iU [A511 2001671 (IDA) L eeui DA WAL 53/ sui [t / Qa0 / i el ?
(1) eulaslaa ueu gaiin [t ¢sin A0 2d12 Y3 ws ©.

(1) R 21¢eulasRd [QaRini 20085 Qs G- 2ud 8.

(1) a [z ois=u (s 211 worasdidl nafieiui 2im yzs A als s 53 6.
(1V) d [@2 duiR 200 (WTO) -l - ussl 51 53 8.

(A) Wt (1) 214 (1) (B) Hua (11) 24 (111)
@ (1), (1) 2 () (D) WAt (1V)

A2 WAL su us-l sl srigan 21 Elesidl »Agan 8 ?

(A) ASlu x2idar (B) Hususly vidant
(C) Es1ou0us 2igaqt @ icvounng w1xigan
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139.

140.

141.

142.

143.

144,

Which of the following is/are true in case of IMF?

(I) IMF is an autonomous organization affiliated to the UNO.

(I) Itis financed by participating countries as per quota assigned to them

(111) The quota assigned to a country is determined by its contribution to the capital of the Fund
(A) Only (1) and (1) are correct (B) Only (I1) and (I11) are correct

(C) Only (1) is correct .AII are correct

Consider the following in case of World Bank and say which is/are correct.

(D) Itisan inter-governmental institution

(1) Itis corporate in form

(1) Its capital stock is owned by IMF

(1V) 1t provides funds for correcting balance of payments problems of member countries
. Only (1) and (11) are correct (B) Only (1) and (I11) are correct

(C) Only (1) and (IV) are correct (D) None is correct

The World Bank facilitates loans:

() by making or participating in direct loans out of its own funds

(1) out of the funds raised in the market of a member

(1) out of funds raised from IMF

(IV) by guaranteeing, inwhole or in part, loans made by private investors through the investment

channels
(A) Only (1) and (1) are correct (B) Only (1) and (I11) are correct
(C) Only (1) .AII are correct except (I11)

Which of the following is not an objective of International Finance Corporation (IFC)?
(A) To invest in productive private enterprises

(B) Toserve as a clearing house to bring together investment opportunities, private capital and
experienced management

. To generate funds for OECD countries
(D) To help in stimulating the productive investment of private capital, both domestic and foreign

Which of the following is/are true in case of International Development Association (IDA)?
(I) It provides development finance on easy terms to less developed member countries
(1) 1t promotes economic development in underdeveloped areas of the world

(1) Itisameansof furthering the developmentactivities of the World Bank and a supplementary
to the WB’s activities

(IV) It functions as per instruction of WTO

(A) Only (1) and (1) (B) Only (1) and (111)

. Only (1), (1) and (111) (D) Only (1V)

Which of the following types of disequilibrium in the balance of payments is also known as
secular disequilibrium?

(A) Cyclical disequilibrium (B) Structural disequilibrium

(C) Short-run disequilibrium .Long—run disequilibrium
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D2l W 54 sl Andaril HAdARA 2ig[Rd s WS [Br-uaigla HES © ?
@i (310 (B) [QRAHYH) sl (C) wHayeu-t (D) [QRma 2iga

“Ys dUIR A AR Nl 21l ueald © % ag 214 [Aeell argil a2 516 o Mg Al el 214
ddll atiRu-l ol wesl dreauni 2uadl 48l 244 udai-l S8 vua d5e HaR saMl 2nadl 4l Ysd
duR-l 2u vt .......... GIRL U] 2Ud 6.

(A) 3(as Rt @i R (C) %. . Hla (D) 861¢R

§idRAY duiR-l Aee{nl, A AUd’ s Ysd Aur Da-w s sel 8. Qa-u W 20
AELRUL SUL [ UL SIUEL [ SLULIAL S ?

(1) darilens vl A (1) A=l 2u21d
(1) tutn (i) GedloliA A&t
(A) WA (1) (B) At (11) @) 1 (1) vind (D) (1) A1 (111) 6iAd

MRdl EXIM 6iseu Aeeiul Da-unmidll s34 0 44l ?

@)= 1m s 2 16l oyud), 1972 -0 e as

(B) ulotd Hietrll [Rsta-i Aeeini v 2aiq 20 69,

(C) 2uld A [Astan Gror-t 2uu 69,

(D) weuR+l v qtul €9,

DAl MRl aixl 241 53 / sul A1 / 1R 69, d gual.

(1) EXIM tisu 6ils 2415 [33s2dui 19 uel giu 6.

(1) EXIM 6igm 28 211 adladl [Raums 24 yuu siiuas 214 yelnuadu Rams 8.

(1) EXIM 8-l ariianz 3 31 200 5218 8, 5 BHi 31 75 5218 M ¥ 8.

(1V) EXIM 6151 6i1$ 2iis [33s21ui dwidl s ulaRaii-l aHid adi 4.

(A) W= (1) 249 (1) 00 9. @ (1) 23 (1) i 8.

(C) Wt (1) 24 (1V) 03 69, (D) 18 o i 69,

(A duiR Ade (WTO)1L vl Aeeini NA-uniell 53 2 el ?

(A) [ AU 2181 WvuHL HizL uRNE 2l U 8iu 8.

(B) H-u uRug 2 [A2 duir ol dizalds s1d s AR (Ruaq) © 3 3 H-l uRng-u tied sl
CERR

@B 2iufiqn e 5 20 iy uRue-L AU 26ild uRNEAHT 2iad 9.

(D) (A2 duir A2s-l adlae v AR grriaaauHi 204 8 5 % HaAL uRNE 611 Ay s veilRuHsu
AdcaHi 4 6.

“aiisla U A Hee ols gL SALydsU NARAL S 5 Bl il ool w4 v uRRalA viglid
53 Alssy s ulls GRal sina s9A as.”’ s sl >udl © ?

(A) M. 3¢2 (B) Wi, ¥4, A, {518
@ wSeunq (D) Y. Pacen Bsn
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Which of the following is a non-monetary measure to control disequilibrium in balance of
payments?

. Import quota (B) Exchange depreciation

(C) Devaluation (D) Exchange control

“Free trade is that system of commercial policy which draws no distinction between domestic
and foreign commodities and, therefore, neither imposes additional burdens on the latter, nor
grants any special favour to the former.” This definition of free trade has been given by:

(A) David Ricardo @~ dam smith

(C) J.S.Mill (D) Haberler

In the area of international trade, “free trade policy” has many advantages over “protection
policy”. Which of the following is/are such advantage(s)?

() Comparative cost advantage (11) Cheaper imports
(111) Protection to infant industries

(A) Only (1) (B) Only (1)

. Both (1) and (1) (D) Both (1) and (111)

Which of the following is not true in case of EXIM Bank of India?
. EXIM Bank of India was set up on January 1, 1972

(B) It pays specific attention to the exports of capital goods

(C) It promotes exports and imports

(D) It extends buyers’ credit

Read the following and say which is/are correct.

(1)  The EXIM Bank has a 19-member Board of Directors

(1) The chairman and managing director of EXIM Bank is the chief executive and full-time director
(111) The authorized capital of EXIM Bank is Rs. 200 crore, of which Rs. 75 crore is paid-up
(IV) The Board of Directors of EXIM Bank does not include representatives of commercial banks
(A) Only (1) and (11) are correct @oniy (1) and (111) are correct

(C) Only (1) and (V) are correct (D) All are correct

Which of the following is not true in case of structure of WTO?
(A) The Ministerial Conference is at the top of the structural organization of the WTO

(B) The General Council is the real engine of the WTO and works on behalf of the Ministerial
Council

. Trade Related Intellectual Property Rights (TRIPS) does not operate under GC
(D) The administration of the WTO is conducted by the Secretariat which is headed by the
Director General appointed by the MC

“Monetary policy is the deliberate effort by the central bank to control the money supply
and credit condition for the purpose of achieving certain broad economic objectives.” Whose
definition is this?

(A) Prof. Dalton (B) Prof. M. H. DeCock

. Prof. Wrightsman (D) Prof. Milton Friedman

[ASP-2 - M] rro. I
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157.

A2l W 54 uidla Dl u ddls s a4l ?
(A) ARM g2 RuRAL 2R Ysael diganui uugal (@Rl Rara
(C) BHa Ra2q (D) Y&l esousl

Aiislu DA Haigai- Aedul DA 2Rl urHl 4 24 WAL FUSL URAE $3U.

(1) ~uifla Nld cus sas u simlll 52 69, 5 % As3M8L 24 dAlHL 2416) [Quen 53 €9, 1R AysH
S8UA ASIR-L UL 52 69,

(1) uew tiomui [Aeudllse x1Rac - €id,
@ () 3 8. (B) H1at (11) 1 8.
(C) (1) 24+ (11) bi 1AL 8. (D) (1) 244 (11) bi 21l ).

Rl Rosd oisll 6ls g2 larn Ageiui DAl Wl euqui al.

(1) euRdla R 6ls gouain »igaHi Avian 6ls €2 a4R 8.

(11) 19519 615 €2 i AR ANRAML 244 69,

(111) 19974 615 €2 Ul Rd Gis=u vt £ i AsUMi 2udd 8.

Dalumidd) 2l [Aseu uaie 52U

(A) WA (1) g 9. (B) |t (1) 2 €9, C wa (). (@ @erai o i 8.
SAlas yruael’ 2 cudla Rad s gl Guaiami dadl wisly Aadl 215 dueollysd ueald ©.
MRl Rasd 615 giL sl 21 A Guaiami Ay ¢ ?

(A) 1949 @056 0 (C) 1960 <l (D) 1969 <Al

Al MRl urui Al 2 1120 et vrie 2.
(1) A nam 354 s Aami A1 AUl F3RuUd U HIR 35Ul w14 AglAd vigrruadl Baud s3.

(1) 3S-uudai, uldre xneaualail uam Wi Sla REdiani Hintdl 5 BHE AL im0 A d[Ad veesuatHl
(can2 weL u-ui Al 2uddl.

(1) 35+ oue, UL @R sriaall il waa, 2uyRs sieeruslla Hlldqd suwwl.
(A) WA (1) 4 9. (B) Mot (1) 3 €9,
@ ) e 8. (D) (1) 2L (11) i i 9.

uldre qzeu [QuRd, siiasll aosidla Alld yad 8 5 —

(1) 2l 2ulls cuoidini A 24 AR eyfEsi- g3l wren aviad 14 sia.
(11) 2SR WA 3 HIA Ud# AAAAL WIS Acdl W 69,

{2 [Aseuimial A1 et urie 2.

@ () (B) Hu= (1)

(C) (1) 24 (11) i (D) (1) A (11) i1 ]
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Which of the following may not be accepted as goal of monetary policy?
(A) Exchange rate stability and equilibrium in the balance of payments
@ rolitical stability

(C) Price stability

(D) Full employment

Consider the following with respect to limitations of monetary policy and select the right answer
given thereafter.

()  Monetary policy operates on a broad front, giving little consideration to the bottlenecks or
shortages it has to encounter, in practice, at a micro level.

(1) Non-existence of dichotomy of Money Market
. Only (1) is true (B) Only (1) is true
(C) Both (I) and (Il) are true (D) Neither (1) nor (1) is true

Consider the following with respect to Bank Rate policy of the RBI.

(I) Bank rate is raised by the RBI to curb inflation

(1) Since 1951, Bank Rate has been raised several times

(1) Since 1997, Bank Rate has been linked to all rates charged by the RBI
Choose the right option from below.

(A) Only (1) is true (B) Only (1) is true

(C) Only (1) is true .AII are true

‘Moral Suasion’ is one of the selective methods of monetary policy used by Reserve Bank of
India. Since when has this method been used by the RBI?

(A) Since 1949 @since 1956
(C) Since 1960 (D) Since 1969

Consider the following and choose the right option given thereafter.

(I) Keynes, for the first time, stressed the need of State intervention in the economic field and
advocated for a balanced budget

(I) Prior to Keynes, the classical economists believed in the principle of sound finance in which
small and unbalanced budget was considered to be the idea

(IIT) Following Keynes, A. P. Lerner gave the concept of functional finance to modern budgetary

policy
(A) Only (1) is correct (B) Only (1) is correct
. Only (1) is correct (D) Only (1) and (II) are correct

Contrary to the classical notion, the concept of functional fiscal policy suggests

(D that the state need not and should not assume a passive role in the economic affairs of the country
(II) that public spending may be incurred merely for the sake of its direct benefit

Which of the above is/are correct?

@ oy (B) Only (11)

(C) Both (I)and (1) (D) Neither (1) nor (1)

[ASP-2 - M] rrro. Bl
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Aol Ald-u cuon a3, w512 viieryasl g Andl vd ASH 3 Fol 21eddaq 2ulds el
27 25 Gerllamisl oieiR cldl asi. vueryagll igpust tiriaal ..........
(1) A8 WAL 3R dadd AR, ud 5421 €2 21l viglruat viriad,
(1) $aR0 €2 dAad, AvilA, ug NER wAHT adRl 5304 vigwpuat viriad,

(A) WA (1) 0 9. (B) Mot (1) 3 €9,
@:in (1) >4 (1) wai 8. (D) (1) ¥ (11) w2l 8.
N8R gal-ll USHHL A1l HUSAL L AL 247 A1AL FUL URAE S2U.

(1) 3 us1+0 nl0L24124 [Bradrurst Saii sl 69,

(1) Ao u51+0 L0l 24 daiuest gaiqi aa-l 69,

(1) 22331 [Brexn 24 [Brridaerunsy gai-n uasl €.

(1V) ~uril 62l 24 [Brid2a st s 18-l 6,

@) Rrcun o o i 8. (B) (1) Ricny e1ai o i &

(C) (1) R w14 o i 6. (D) (1V) [Rcua o1ai o 1 €.

WAlus 2d, eusr ealdl sllerg HIUA 2 52415 JRITRL E1% gL WA 8, BHL 25 BRL A IR
(Debt Service Ratio) . 3881 Al ARiTR WHald YA 54 ¢ ?

GURL 2BRL AL GUEL 28R AL

B g Bud wadl ®) aduin Bud 0dlu 2uas
(C) ‘et Al (D)  CUEL R Al

s swsll §4 542 2As
Daunioll 53 21idRs N8 gaini viiarl HueS el ?
(A) Q0% WA - 2Uas RITR (B) 1% W - -5 ARl
(C) U - 2ai-l e @::2 A - cad o
A2l W 54 cudla waiH-uausl [@Qena e ?
(A) 2ulEs suoidi-l [Qeudt (B) vl [euat
(C) 2nas-i [Qeua @Guisd amun

A2 W4 56 cudla waiHnau- v [Qenodl you ugl 4l ?

(A) Yoo Aloguil | Wi 2l yd Hogdld Heuist (2udiom v B 2uaiom wal)

(B) snvit s[wsu viglru-llu Aa1uql 5 % A%UUL $018A scUHE 20 9 dA A20U&Ad s2al.
(C) AUl HeamRi 2nedlse

@y 20 ayena

v [QAIA $1dE QAU ... GIRL AIAUHE 2ud 89,

(A) 2l [Qeuol, i digt | 249 1 [@ewod (@i v Qe
(C) 2215 uRaw »isy (D) BuURsd dxH

gl o sila DA iglid sa1 W2 udya [Aenol 2 v [ wadl eEs mad 8. sa o
dulAs el grRid aa Y ?

(A) CDBT % CBIC  (B)CBDT 1 CBIC  (C)CBDT24CIBC (@BBDT 214 CCIC

[ASP-2 — M] [Contd.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


158.

159.

160.

161.

162.

163.

164.

165.

As part of fiscal policy, a government must maintain a deficit budget in order to pull the economy
out of recession or depression. A deficit budget can be created

(I) by keeping the level of public expenditure unchanged but reducing the taxation rates
(1) by keeping the taxation rates unchanged but raising public expenditure

(A) Only (1) is correct (B) Only (1) is correct

. Both (1) and (I1) are correct (D) Neither (1) nor (I1) is correct

Consider the following with respect to public debt and select the right answer given thereafter.
() Central government securities are non-marketable debt instruments

(1) State government securities are marketable debt instruments

(1) Treasury Bills are non-marketable debt instruments

(IV) Small savings are non marketable debt instruments

. All are true except (I) (B) All are true except (I1)

(C) All are true except (111) (D) All are true except (1V)

In empirical terms, the burden of external debt may be measured by estimating some ratios of
which Debt Service Ratio is one. What is the formula to find out the Debt Service Ratio?

A External Debt Service . External Debt Service
(A) Savings at Current Prices National Income at Current Prices
External Debt Service External Debt Service
Export Earnings (D) "Total Tax Revenue

Which of the following is not a measure of burden of Internal Public Debt?
(A) Interest Cost-Revenue Ratio (B) Interest Cost-Profit Ratio
(C) Income-Debt Ratio .Debt Service-Saving Ratio

Which of the following is a department of Finance Ministry of India?

(A) Department of Economic Affairs (B) Department of Expenditure

(C) Department of Revenue .AII of the above

Which of the following is not a principal activity of Department of Expenditure of the Finance
Ministry of India?

(A) Pre-sanction appraisal of major schemes/projects (both Plan and non-Plan expenditure)
(B) Handling the bulk of the Central budgetary resources transferred to States,

(C) Implementation of the recommendations of the Finance Ministry

. Levying various duties

The business allocated to the Department of Expenditure is carried out through:

(A) its Establishment Division, Plan Finance | and Il Divisions

. its Finance Commission Division

(C) its Staff Inspection Unit

(D) All of the above

The Department of Revenue, like the Department of Expenditure, plays its role in controlling
the country’s Fiscal Policy. Which are the two statutory boards through which it is done?

(A) CDBT and CBIC (B) CBDT and CBIC

(C) CBDT and CIBC .BBDT and CCIC

[ASP-2 - M] rrro. B
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167.

168.

169.

170.

171.

172.

173.

Rl Aorsifla Dlaui uensly A [ewd Heradl oEs mad 6. DA W8 53 20 [@Aeua dsn
2093l Aaumi 2uda Al ?

(A) U2l YHIRL (B) Aieils -unu

(C) &4, Ul 2L HEAH ST AU @:.: B

Q21 A4 vitral oS-l 56 san cald 8 “usR-l ol o 2nast 24 Rl UUsBia eisin’ i
AU £ 2 24l GSINHIAL AURLEHL GULS HIAL AAEHL VAR AAA SIASIAL PURIR o AU 6.

(A) 2429 466 (B) AA-4269¢ 262 @ 11¢ 266 (D) 2429 236
RURARE SIH0EL 24 5154 viglrua Aeeinl DA WA 5y / sun [t / (el 0 /i 9 ?

(1) MRdAH PPB utald stu-iiaard a-t il vieiy alfld giau 2uuami uda ¢,

(1) ARl orzgeui amlae dior- 24 W wiou ngia w2 2ueel asls A 9.

(1) adladl Y 2uaid s iean A arisla adlaz- Aeeul sl siciousu Gualodl
Ml 530 9 3 gl 2ulRls [ wisla 2 A% sila WA A asw.

(A) WA (1) g 9. (B) |t (1) 2 €9. C wa (). (@ @erai o i 8.

cuRdla oitRRru su1 214269840 vieeruslla ulEu calda 8 ?
@-1129¢ 112 24 117 (B) ¥429¢ 113 21 118
(C) 24269 114 24 119 (D) 24269¢ 115 24 120

A2 Ul 53 / s A8 uuel 1 Astuda 8 ?
() a2 30 [3ulofle AnduuciHi Avaumi 2uda €.

(11) 2SR Ll M1V 2 U512 Aoi[Ad €9, 24 20l o AuE-) 2Al8GaAAL ANSenanidl ysaell uz
33l 8.

@ () zisouda 8. (B) Hat (11) dsoudd 8.

(C) (1) 24 (11) biq AsouAA 89, (D) (1) 244 (11) i Asonaa 9.

AE10UA A NS AURALELA WAL YN 244 BUULoL A5l 52 69 Rl d U1+ ALs5U Huu sl wRyel
satll uBani 3hsa ofs mopd 8. DAV 53 d sk s1d el ?

(A) 2ulds s1d (B) A4y 514 (C) DS $1d @il sl

A HIREL 53¢ [Rasduidl 2aa sua suas- deeui D U sy /7 sa [ / [Qeanl e /
8, 3 % 2usRell vl 2020-21 4l @y aag © ?

(1) oA 6l [Rasdl uldi 8eusU 8g, 112 Guulomi 2uadl gl dl oid Masdid @ e s34 Masdl
AZl5 drRtauHi U A1 dril UR SISURL AL Ysaarut 2 Adl.

Y by

(1) A =2 Mesdl uldid 851 g, W2 GuulaHi 2uadl Sl dl d- -4 s34 [Rasdl adls
ARl diL uR S1¢ el 4Rl ysacuuist a8l Al

@ () e 8. (B) Hi (1) 0 8. (C) 6in il 8. (D) i 20 -4
A2 WA s [Qe@mi weus 2iA [Aaaq uvn a9l ?

(A) iy [Ade (B) [g-ugl [dazw

(C) 221 [g-uel [azw @i R
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Department of Financial Services plays a vital role in the Fiscal Policy of India. Which of the
following is not covered under this department?

(A) Pension Reforms (B) Industrial Finance

(C) Micro, Small and Medium Enterprise .Housing Finance

Which of the following Articles in the Constitutional Provision says “All revenues and receipts of
government are to go to a ‘Consolidated Fund’ and moneys can be withdrawn from the ‘Fund’
only in accordance with laws passed by Parliament.”

(A) Article 466 (B) Article 262 @~ rticle 266 (D) Article 236

Which of the following is/are true with regard to Performance and Programmed Budgeting in

India?

() In India the suggestion for adopting the PPB system was made by twentieth estimates
committee.

(I1) The committee considered this technique ideal for a proper appreciation of the schemes
and outlays included in the budget.

(IIT) The Study Team of the Administrative Reforms Commission on financial administration
recommended the use of performance budgeting for linking the financial and fiscal aspects
of economic development.

(A) Only (1) is true (B) Only (1) is true (C) Only (I) is true .AII are true
Which Articles of the Constitution of India lay down the budgetary processes?

. Articles 112 to 117 (B) Articles 113 to 118

(C) Articles 114 to 119 (D) Articles 115 to 120

Which of the following is/are associated with Public Account?
() Deposits made in Provident Fund is kept in the Public Account

(1) Public Account funds belong to government and Parliamentary authorization for payments
from the Public Account is, therefore, required.

. Only (1) is associated (B) Only (1) is associated
(C) Both (1) and (1) are associated (D) Neither (1) nor (I1) is associated
Since the budget determines the origin and application of public financial resources, it plays

a central role in the process of government fulfilling certain major functions. Which of the
following is not a function of such kind?

(A) Economic Function (B) Political Function
(C) Social Function .Diplomatic Function

With regard to taxable income from self-occupied property, which of the following is/are to be
applicable from the assessment year 2020-21?

() If two properties are used for own residential purpose, both the properties shall be treated
as self-occupied properties and no tax is liable to be paid on them

(1) Ifthree properties are used for own residential purpose they shall be treated as self-occupied
properties and no tax is liable to be paid on them

. Only (1) is correct (B) Only (1) is correct
(C) Both are correct (D) Both are incorrect

For which of the following distributions mean and variance are equal ?
(A) Normal Distribution (B) Binomial Distribution
(C) Negative Binomial Distribution .Poisson Distribution

[ASP-2 - M] rrro. |3
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2043] HUSA) 20218 uden Ma-uadly yd-uRaw o33 €. AlA-unidl s usadi-u yd-ulRawiql s1el 4l ?
(A) dwsdl Wa-nadlui 284 viaflaal il us .

(B) saer 1l Hilan 56 e Yol i dl [ 3 asiy

(C) sl WAl a’IR AU YA 53 as 6.

@151l ud-uRaa 2 2l udan Fag o Headg 8.

AA-puidl 56 Acna-u Reel ueald 9 ?

(A) [l 2ua1Rd Ay gl (B) 2utiBis A% urieoll

(C) Raa [Raau-) A3 vzigall @R 3yru wrieoll

YA AvAL6iY S 69, DAL WS Sl HeuraAl s1ugl Al ?

@ v 501 Rl vid dRradn ot Brruui Gualo au 8.

(B) 2ucilds el HaRA 24U 2L Al

(C) 2ur2ugl [Auual vuadl [[ae gai 3 2uasd [QAae 3 Bud-u [Qaemi oullds 1 sa

Hege ay Gualoll €.
(D) dRucs HUlSdl W2 2 Al ulou AAA &,

SSuRL [Aa@mi s Ho argii-i seul [Aldddl Sla, QU AxidR HELS, iR Mg A R4
e gL yeuui v [Alad gia 9. DA A4 sul 54 d [Aldud sald © ?

(A)AM. > H.M. > G.M. @~ V.>cMm>HMm

(C)H.M.>A.M. >G.M. (D) G.M. > H.M. >A.M.

A1 Q4L 5 / s Ruus-u asoinisl cral@isdl / caralBisai € ?

(1) ol A4 AL $H dSlddrll AU Y Slal ASA.

(1) RuudA-l usiviais 2 [Adaysd vaa Brnae o, s s dui 2 unfRxidl Resd Hadis-l
AHL UL 8 d 2191 SIS % At WRRUL s 2iad] ).

(1) RuaRAR usdoibis RaA-1 ugoibisdl g1 o vida2 53 asu .

(A) |t (1) 3 69, (B) W (1) 012 €9.

(C) =L (1) 249 (1) i ©. @i o i 8.

asiRs e[ siadl wal (Paasche) 52l QIRAU/AL YASS AY UAE SAUHT 2UA 6. d-il S0 SLS A3 :

(1) ARYU/IN YAS HALSHT BUHIR QAL 22l HIR A5 AUMi 214 €9 24 dul 2i5 AHul ollon anuui
538512 Udl -dl.

(1) WLl A5 s W2 LA dl8a AHU WIS Add el 2L iR Gualol ¥ 34 .
(A) Wt (1) (B) W= (I1)

@) A (1) vin (D) (1) ¥ (11) 6§ )l

iediarl {01 Al uReum Lui al.

() siSua uaiot ddH AdEd wReumi-n A [Rairs ezl 58 .

(1) 82U AR YRR [Rars s, A vis a2-tg ving ol a2 virdl 1 21251

-

L.
(1) 8224l AL s8N A et % Ao YA 2um ddl sl uig i sidul 218 A 21u(Ed
U,
Gunid] suL i ?
(A) (1) 21 (11) (B) (11) 244 (111) (C) (1) 21 (111) @-\sua
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175.

176.

177.

178.

179.

180.

Pre-testing of questionnaires before final data collection is essential. Find out the one from below
which is not an advantage of pre-testing of questionnaire

(A) The investigator can find out what are the drawbacks of the questionnaire
(B) An idea can be formed about the extent of non-response likely to take

(C) Greater co-operation of the informants can be secured

. Pre-testing of questionnaire is as good as the final survey

Which of the following is a probability sampling method?
(A) Judgment sampling (B) Convenience Sampling
(C) Quota Sampling .Stratiﬁed Sampling

Median has a number of merits. Which of the following is not a merit of median?
.It is especially useful in case of close-end classes
(B) Extreme values do not affect the median

(C) In markedly skewed distribution such as income distribution or price distribution the
median is more useful than arithmetic mean

(D) It is the most appropriate average dealing with qualitative data

In any distribution when the original items differ in size, the value of arithmetic mean, geometric
mean and harmonic mean would also differ. Which of the following order represents their
difference?

(A) AM.>H.M.>G.M. @~ Vv.>cm>HM
(©) HM.>AM.>G.M. (D) G.M.>H.M. >A.M.

Which of the following is/are the feature(s) of Spearman’s Correlation Coefficient?
(I) The sum of the differences of ranks between two variables shall be zero

(II) Spearman’s correlation coefficient is distribution-free or non-parametric because no strict
assumptions are made about the form of population from which sample observations are drawn

(IIT) Spearman’s correlation can be interpreted in the same manner as Pearsonian correlation

coefficient
(A) Only (1) is right (B) Only (1) is right
(C) Only (1) and (1) are right .AII are right

From a practical point of view, Laspeyres index is often preferred to Paasche’s. The reasons may be:

() In Laspeyres index weights are the base year quantities and do not change from one period
to the next.

(I1) The use of Paasche index requires the continuous use of new quantity weights for each
period considered

(A) Only () (B) Only (1) .Both (D and (I1) (D) Neither (1) nor (11)

Consider the following terms with regard to probability.
() Aset of all possible outcomes of any experiment is called exclusive events

(1) Aset of events is said to be mutually exclusive if the happening of one does not prevent the
happening of the others

(111) Events are said to be equally likely if after taking into consideration all relevant evidence
one of them can be expected in preference to the other

Which of the above are correct?

(A) (hand (1) B) (1) and (1) (C) (1) and (111) .None
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182.

183.

184.

185.
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188.

(2-ugl [Aa@ru 2igier winan [ ddls sinvaimi 2ud €.

(1) NArL Ao oy 2] S, (1) usndrdl Acua- vior ay .

(1) asnarll w39 Aqva 24 [ARa 6.

(A) | (1) 3 69, (B) = (1) 13 €9, @ B, (D) e o i 8.
DA UL 5y / sui Qe / (sl 2 / i 6 ?

(1) usvidls i 6l Ad Q-] UM 580 HWY O,

(1) [RudRioiy [Qeque 1 6] A4 a1 Aoi4HL [AZUAL AU 53 69,

(111) ugdoin 2 Aolall seud u 2 9.

(1V) [Rudzioiy 2 512 214 51280 2vidd Hun 53 8.

(A) ==L (1), (1) 241 (1) 0 69, (B) 1= (11), (111) 24 (1V) i 69,
(C) WAt (1) 2 (1V) i 8. @i o i 8.

uisstenAlu Rt R i .......... Al (UIL 9.

@5 creua B Rz (B) tissiauz-llu Geutg-t Rl
(C) uissienaAlu [Bua Rl (D) tissiaualla [Ranrel 244 »igail

2iss1euA1 WEuL Rzt AHAHT Ualtiql AR Yo doisst axlae 6. 1A WS 54 dal doisst d) ?
(A) WlsaA anydl 214 x5
(B) uRadr- 2olldiq 1oy (vu) Ad g s, 5 2ol ulEun 2l vis,

(C) wadl Gewe ulsurll 2vidv s, [Rize d-u Gualaefl usiuzu ad, #3212 5 [Qadn 1w
35131 Alal

@151 U812 W3R UR HARSRS VigA
l5a1d Brsidil, S[d %l 211 Grugtd-dl UnaA AA-unidl 59 saumi ysi ?

(A) agsd HUR 2t (B) RE[Ra w3l 22l
@G Rl 220 (D) W1 MRl 2Alet

“Beseuril ¥ Wid 2l Alell Alsauoll w4 69, - g1L g suqt Awled 53 asu 9.” uRseuu-dl
GurHl el ... 2 2l ©.

(A) g3adl (B) Ul. dl. 43l (C) s1ed Ruzia @:s. 21 sl
souaAl-l €3, GIRAOULNHL £ i UL Buler HIS &AMl GUULLL bl HI2 % utsld qu € d-
.......... ERETURTR

(A) HUSAL 2010 Y[l (B) MUl [R5 nysaxil

@i wylai (D) GuRHisll 2isuR ]

D2l W 5y [Aann / sui [l cudla oil3o) dst-n Ae el 02 / i 6 ?
(1) Ale WL vl &) Gls Ardluse 196941 2,

(11) ay 6 Gisid AnluseL 1980 Hi 24y

(1) i3 $usll (RAwen 2 Sedid@L) ised 2AAMAUH 1970 Hi 20,

(A) WA (1) g 9. (B) Mot (1) 3 €9,
(C) Wt (1) 2 (1) 20l 9. @i o i 8.
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188.

The approximation of binomial distribution is known as Poisson distribution if:
() number of trials is very small

(1) probability of success is very large

(IIT) average number of success is a finite number

(A) Only (1) is correct (B) Only (1) is correct

. Only (1) is correct (D) All are correct

Which of the following is/are right?

(I) Correlation coefficient is a measure of degree of covariability between two variables
(I1) Regression analysis is to study the nature of relationship between two variables
(111 Correlation measures degree of relationship

(IV) Regression measures cause and effect relationship

(A) Only (1), (1) and (I11) are right (B) Only (1), (111) and (V) are right

(C) Only (111) and (V) are right .AII are right

Statistical Quality Control is a part of:

. Statistical Process Control (B) Statistical Production Control
(C) Statistical Price Control (D) Statistical Prevention & Control

The application of SPC involves three main phases of activity. Which of the following is not
such phase?

(A) Understanding the process and the specification limits
(B) Eliminating assignable (special) sources of variation, so that the process is stable

(C) Monitoring the ongoing production process, assisted by the use of control charts, to detect
significant changes of mean or variation

. Effective Control of Transportation Cost

Individual respondents, Focus groups and Panels of respondents are categorised as -

(A) Itemised Data Sources (B) Pointed Data Sources

. Primary Data Sources (D) Secondary Data Sources

“Hypothesis is the most powerful tool that man has invented to achieve the dependable
knowledge.” The above definition of hypothesis is given by :

(A) Woodworth (B)P. V.Young (C) Karl Pearson .F. N. Kerlinger

A method used to examine inflation rate, unemployment rate and capacity utilisation to produce
a product is classified as :

(A) Data Exporting Technique (B) Data Importing Technique

. Forecasting Technique (D) None of the above

Which of the following is/are true with regard to the banking sector of India?

(I) Fourteen major private sector banks were nationalized in 1969

(I1) Six more banks were nationalized in 1980

(111 Banking Companies (Acquisition and Transfer of Undertakings) Act was enacted in 1970
(A) Only (1) is true (B) Only (1) is true

(C) Only (1) and (1) are true .AII are true
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192.
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cuRdl Rovd 615 vl &=l el 21 [agell sisidl ol sami s 2uMd) ?
(A) 1991 i (B) 1992 ui @093 i (D) 1994 i

A0 U wiou [Aseu vrie s,
AR 30, 2006 - A2 19 sl 29 [deell cisi-ll 258 wvul 5 % 40 SvwiHl A+ 19 A% /
SrglAd veni saddl edl dvl sl 531 ) sdl.

(B) aw¥iR 30, 2006 U A% 19 sl 29 [Agell Gisil 158 uvuil 5 % 40 Swiui 24 22 A%l /
srolAd usaini scddl gdl dvl simlll 530 2] edl.

(C) 212 30, 2006 -t A% 19 22N 20 [A2ell Gisi-l 258 wvuaAl 3 % 30 Sl A 22 A% |
SrgalAd vl saddl edl dvl suedl 530 ) sdl.

(D) AR¥1R 30, 2006 it A% 29 il 29 [A22ll cisil 258 qwvuil 8 5 % 49 Siui 214 19 A% /
sslAd usaini saidl edl dvl simlldl 530 2] edl.

-\

MURAML cwidl oist causudl ol Wugsin 2uaR adllga a6 : AnAs 2«4 sl DA-umidl »u
oilAd Al Fast v $2A.

(A) WA [3yes sisl AalAs 6. (B) Huat (it Rusyes oisi dals 8.
(C) Wrt Rigyes dist v vl st AuRs 9. (@t Rusyes 203 Bralusyes olst duls 8.

A=A WlE Al i al.

(1) Hou ois dlogudl [ ada 332 s16Raqu uslla xnenx ga-dl MaHRL gL 2s2ieR
19694 A3 $AUML 2AAH Sl

(1) 2u3ola 2xAcU1A Al HAHRL AR WA [ARRAE uald 651 24 332 W] Bleg sau 21

Alor=l 21 stdsHi- (s W2 [ ens danl 21(Gm il AS 2.
(1) et asadl ARl gL 2 QR sueul an- Wy ¢,
Gu+ll Wl 2t 1AL FULt YRiE 53U,
@ () 27 (1) i B, (B) HAt (1) 247 (1) 00 9.
(C) W (1) W 9. (D) WA (11) i 8.

-\

HIRAHE QWL G514 AH L G810 ARl AL, 2l HI Adl 332 Alg-uil 214 22l 2490 Yidill

-

sl [Ala a2 v uq 2uia 8. DA Al du- a3zid- aulell sHgAR dlsdl.

(1) - ladies el Al (1) 3032 2B Ao
(1) Aouaell diyuil (1V) agudl uyeud ssar
(A) (1, (1), (1), (1V) @n. 0. am, av)

(C) (1), (0, (1v), (1) (D) (1V), (1), (1), (1)

Awdl i1 2 A SIEL GLSIHAL Sl A AHLAALAL AL ML AL UL A1 et uris s

(A) U813 6isl A A2 218 6lsL 8, R QuId] oist -l

(B) AWKl 65l 1 A 513 st oA 6301 YA wUs2 giL AulAd 6,

@ 6t curdlu Rovd cis-u A vigani €iu 8, 2uR w51 65l A5 AU WRIR 612
U [Ruuiq 20l 69,

(D) Al 6151 2SR &= A vl 8oL sl ul Sviy 69, R A sIEL Gist HimL vieRll Axul Slu 69,
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When did the Reserve Bank of India grant permission for private sector banks and foreign
banks in the country?

(A) in 1991 (B) in 1992 @in 1993 (D) in 1994
Choose the correct answer from the following:

. There were 29 foreign banks from 19 countries operating in India with 258 branches spread
over 40 centers across 19 states/union territories as on September 30, 2006.

(B) There were 29 foreign banks from 19 countries operating in India with 158 branches spread
over 40 centers across 22 states/union territories as on September 30, 2006.

(C) There were 20 foreign banks from 19 countries operating in India with 258 branches spread
over 30 centers across 22 states/union territories as on September 30, 2006.

(D) There were 29 foreign banks from 29 countries operating in India with 258 branches spread
over 49 centers across 19 states/union territories as on September 30, 2006.

Commercial Banks in India may be broadly classified on the basis of two criteria: Statutory and
ownership. Select the right answer pertaining to it out of the following:

(A) Only scheduled banks are statutory banks

(B) Only non-scheduled banks are statutory banks

(C) Only scheduled banks and private banks are statutory banks

. Only scheduled and non-scheduled banks are statutory banks

Consider the following:

() The idea of lead bank scheme was initiated by the Gadgil Study Group of the National
Credit Council in October 19609.

(I1) The Gadgil Study Group recommended the adoption of an area approach to evolve plans
and programmes for the development of an adequate banking and credit structure in the
rural areas.

(111) The idea was further endorsed by the Sukhmoy Chakravarty Committee

Select the right answer based on the information provided above.

. Only (1) and (11) are correct (B) Only (1) and (I11) are correct

(C) Only (1) is correct (D) Only (1) is correct

Commercial banks in India pay special attention to the various novel and innovative credit schemes

and facilities in their operations for the benefit of the society at large. Arrange such schemes
according to the year of their introduction starting with the scheme introduced the earliest.

(I) Differential Rate of Interest Scheme

(1) Credit Authorisation Scheme

(111) Employment-Oriented Schemes

(IV) Advance to Minority Communities

(A) (D), (1), (1), (V) @) o). am, av)
(C) (), (1), (1v), (1) (D) (IV), (1), (1), (1)

Pick up the right answer out of the following with regard to the differences and similarities
between commercial banks and co-operative banks.

(A) Co-operative banks are joint-stock banks while commercial banks are not

(B) Both commercial banks and co-operative banks are governed by the Banking Regulation Act.

. Commercial banks are subject to the control of the Reserve Bank of India directly. But
co-operative banks are subject to the rules laid down by the Registrar of Co-operative Societies.

(D) Commercial banks are seen both in the public sector and private sector, but co-operative
banks are only private sector banks.

[ASP-2 - M] TreN 61 |
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196.

197.

198.

199.

200.

cuRdly arflel cisl igeini 1Al AL vie s3U.

@ 2102 615’ 2aruqil gvuzd Al wan 1972 Hiusilid GEa slaq RuiZui saaumi 2udd sd.
(B) ‘il 615’ eyl guird Al uan xMa cudly asle 5032 Ad AMRld g1 s 2udl sdl.
(€) ‘Wl 15’ 2enu-i-l euid Al wan ‘cidiial AR’ g1 1978 Ui saumi 2udl edl.

(D) ‘wHlt 615’ 2anu-i-l euid Al uau cudld Rad ols g1t 197541 scumi 2udl edl.

D WA 53 / s [Aann / Qe -uons 20eil8a © ?

(I) NABARD 1 lga{ «uH National Bank for Agriculture and Radical Development €.
(1) nens-l 2y 124 ogans, 19824 ass.

(1) -wens-l 2enu-n 1240 Az, 1982ui 4.

(1V) d wels wle Ssin y-: (B0 200 8, udg Awa a8 513l oisin dl.

(A) ==L (1) 24 (1) [ SEN()) (C) Ha (1) 24 (1V) (D) WA (1V)

Ss2dlaa s1Susa SR 245 SRl (IFCH) - dieeii 1A wRd aizl 243 020 [Ase uris 52

(1) 1FCI -l 2y 19494 a8 edl.

(1) 1FCI Al uznt 251 343 IDBI 1R 53 © 1R ol vy 251 Awd i) 213 A 513l 651 e 53 9.
(1) 1FCI D AR HAHi IFC (AAA~H-2) 282, 1972 4l 31. 10 s03¢l atndl 31 30 $2A3 sAUHL

2144 69,
(IV) IFCI %1 A1lBis 2su-il 602, 2215, tilws 21l BAAR 61812 wisdl gl s1m 53 O,
(A) WA (1) 4 9. (B) =t (1) 24+ (1) R 69,
@ (1) 211 (1v) i B, (D) WA (1) A1 (1V) 0l 8.

cuRdla 20efs (s ois (1IDBI) - (Bruml la-u U4 5y 2 el ?
(A) IDBI ) 221ui e 196441 a8 sdl.

(B) IDBI - 2y8l 2aiutidl $e209) 197641 uuaimi 2044 dl.

(C) IFCI A+ UTI1 i IDBI 1L 9URL 2A5H) 69,

@081 > cuadlu R G5 viad: ulfad Aw s &.

222 s1d--2llud siuiaq (SFCs) 2 cudlu cilEo usafa-l nera-luim €9, 222 sid-u-elua siuiaq-u
Al 1Al MRl ail 244 il [Aseu vrie s3i.

(1) SFCs +ll 2anu-t 222 s15-u-2llud siuizaq 2152, 1952 Al gacus il gz as 9.

(11) SFCs -l 14l IFCI % €3,

(1) £9¢el aniui, SFCs il A1l HI2L AL Uedtd [ArerL =i Gerldiiad As1Aa 9.

(1V) SFCs ¥l A% ASIR 1 IDBI L »igaHi 204 6.

(A) |zt (1) 24 (1) 20 8. (B) 1= (1), (1) 2 (1) 20 9.

(C) W=t (11) 249 (1V) i 9. @1 o i 8.

Y2 222 vis SRU Aze{ui DA s3 0 el ?

(A) a-ll 221u-it 198441 a8 sdl.

@ 1081w s 8.

(C) As, 51 Mant 21 WEaH 2095 HAAAL 2L GAdA A4 A5 5201 W2 AN Gireal Wy
oieal, 69,

(D) d Y[R giesn Rlds~s y5a 8.
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Choose the right answer from below with regard to Rural Banking in India.
The proposal for instituting ‘rural banks’ was first mooted by the Banking Commission
Report published in 1972

(B) The proposal for instituting ‘rural banks’ was first mooted by the All India Rural Credit
Survey Committee

(C) The proposal for instituting ‘rural banks’ was first mooted by the Dantwala Committee in 1978

(D) The proposal for instituting ‘rural banks’ was first mooted by the Reserve Bank of India in 1975

Which of the following is/are related to NABARD?

(I)  NABARD stands for National Bank for Agriculture and Radical Development

(1) NABARD was set up on July 12, 1982

(111) NABARD was set up on December 12, 1982

(IV) It provides refinance credit to the Regional Rural Banks but not to the State Co-operative banks

(A) Only (1) and (I1) @ony ()
(C) Only (1) and (1V) (D) Only (1V)

Read the following with regard to Industrial Finance Corporation of India (IFCI) and choose

the right option provided thereafter.

(I) IFCI was established in 1949

(II) Fifty per cent of the share capital of the IFCI is held by the IDBI and the remaining fifty
per cent by commercial and co-operative banks

(111) The authorized share capital of IFCI was raised from Rs.10cr to Rs.30cr by the IFC
(Amendment) Act, 1972

(1V) 1FCI underwrites the issue of stocks, shares, bonds or debentures by industrial concerns

(A) Only (1) is true (B) Only (I) and (1) are true
. Only (I1) and (1V) are true (D) Only (1) and (1V) are true

Which of the following is not true in case of Industrial Development Bank of India (IDBI)?
(A) 1DBI was set up in July 1964

(B) 1DBI was given complete autonomy in February 1976

C) IFCI and UTI are subsidiaries of IDBI

a IDBI is a partially-owned subsidiary of RBI

State Financial Corporations are an important wing of the Indian banking system. Read the

following with regard to SFCs and select the right option given thereafter.

(I) SFCs were set up under the provision of the State Finance Corporation Act 1952

(I1) SFCs have functions similar to IFCI

(11 In recent years, a large part of SFC assistance has gone to small-scale industries and in
backward regions.

(1V) SFCs are under the control of State Government and 1DBI

(A) Only (1) and (1) are true B) Only (1), (11) and (I11) are true
(C) Only (1) and (IV) are true aAII are true

Which of the following is not true with Unit Trust of India?
A) Itwas set up in 1984
Itis a subsidiary of IDBI
(C) It functions as an intermediary for mobilizing savings of the low and middle income groups
and invests in securities
(D) It pays dividends to the unit holders
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